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1.Which of the following is not function of microtubules

A) Movement

B)Transport

C) Cytokinesis

0] Separation of metaphase chromosomes

1. 5elective cell-cell interaction are not mediated by which of the following proteins

A) Selectins

B) Integrins

C)lmmunoglobin superfamily members
) Clathrins

3. In vertebrate visual receptors which of the following secondary messengers plays a key role

A) cAMP

BjCa++

CleGMP
D}Phospholipids

4, Mitric oxide and CO are molecules involved in

A) Autocrine signalling
B) Paracrine signalling
C) Endocrine signalling
D) Hormonal signalling

5. Which of the following function in both paracrine and autocrine signalling

A) Retinoic acid

B) Eicosanoids

€) Nitric oxide

D) Sterpid hormone
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6. Which of the following does not belong to GTP binding protein

A) Rab
B) Rac
C) Rar
b} Raf

7. Which of the following Is not an intermediate filament protein

A} Vimentin
B) Keratin
C} Profilin
D} Desrmin

g Which of the following shows holoblastic rotational cleavage

A} Mammals
B} Amphiblans
C) Birds

D) Reptiles

g, Furunculosis in fishes is caused by

A} Psgudamonos

B} Aeromonas salmonicido
€} Nocardio osteratds

0| Elexibocter colummnars

10. In humans secondary neurulation occurs at the level of

A} Sacral vertebra

B} Lumher vertebra
C} Tail vertebra

D) Thoracic vertebra

11, Which of the following of immunoglobulin Type Is present in abundance in human colostrums.

A) IgA
B) lgm
C) Igd
D) IgE
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of the following reaction ensures lysosomal enzymes to be packed in vesicles called primary

A} Glycosylation at Threonine )
8) Phosphorylation at mannose

C) Sulphation at mannose

0] Hydroxylation at glutamate

rylation of lamins by kinases like Cdc2 results in

A) Polymerization of nuclear lamina
B) Depolymerization of nuclear lamina
C) Condensation of chromatin by inactivation of condensin

0} Disruption of mitosis

| Which of the following is pest of stared grains

A) Sitotroga cerealelia
B) Pyrilla perousilia

C} Scirpophaga novelia
D) Bemisia tabaci

5. Depth of fish pond water for fish culture should be

Aj10-15m
B} 0.5-1m
C23am

0) 10-15 m

What i not true for T-cells

A] They are formed in the thymus gland

B} They form by division of lymphoblasts

C) They differentiate to plasma cells

D) They react against transplants and cancer cells

17, Silk worm spins silk from

A) Dutside 1o inside
B} Inside to outside
€] Random fashion
D) anterbor to posterior side
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18, The commect sequence of arrangement of segments in the leg of cockroach s
A) Coxa Jfemur, trochanter Jtibia, and tarsus

B} Coxa ,Trochanter femur tibla, and tarsus
C) Tibia .tmchantenfemur Jtarsus and coxa
D) Trochanter, coxa, tibia, femur and tarsus

19. The type of parthenogenesis in which the male develops from unfertilized egg and female from
fertilized egg is known as

A) Thelytoky
B) Apospory
C) Gynogenesis
D) Arrhenotoky

20, Physostomous type aof swimbladder is found in

A) Gars

B) Carp

C) Parch

D) Lungfish

71 Breathing rate in mammais is controtled by a part of brain called

) Thatamus

B) Hypothalamus

) Medulla oblongata
D) Cerebellum

22. Digestive enzymes are eleased by pancreas and the bile is released by liver in Fesponse to the
hormone

A) Insulin

B) Cholecystakinin
C) Secretin

0} Zymogen

23. In SCID there is due 1o non-functional

&) IgM

B) Neutrophils

C) T-cells or B- cells
0} Macrophages
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Cushing's syndrome Is due to oversecretion of

A} Glucocorticoids

B) Testosterone

Ci ADH

O} Mineralocorticolds

15.Prostaglandins

&) Ack as local hormones

) Help induce inflammation

C} Are impartant in fat metabolism
O} Al of the abowve

'E_ which of the following is a non - organ specific (systemic | autoimmune disease

A] Myasthenia gravis

B} Systemic lupus erythematomus (SLE)
C) Hashimoto's thyroiditis

D}Pemicius anemia

??. All of the fallowing are true about flow optometry except

A) Cells can be tagged with fluorescent dye

I B] Cells must be cultured prior to the flow cytometry analysis
C} Cells that are naturally fluorescent can be detected
D} This is a rapid method for microbe detection

i The food fishes, commonly called as Feather-backs are

Al Wallogo ottu & Bagarius bogarius

B) Clorius botrochus & Heteropneuestes fossilis
C) Notopterus notopterus & Notopterus chitala
D} Hilsa ilisha & Setipinng phaso

29 Phlebotomus argentipes aids in the spread of

A) Plague

B) Kala azar

C) Gambia fever
D) Tertian makaria

0, Myiasis Is a disease caused by

A) Mosguito

&) Bedbug

C} Maggots

O} Human louse

i1 Ecological succession refers to
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A) Changes in forest as trees grow taller

B) Building of soil nutrients

C} Change in community composition

[0} Process by which a species becomes abundant -

32 Which of the following is an example of convergent evolution

A) Wings of birds and bats

&) Hb gene family

C] rRMA genes

D) Number of toes of human and horse

33 .Removal of which species will always result in great changes in an ecological system

A) Competitive species
B) Keystone species

C) Carnivorous species
D) Rare species

34. How many H-Bonds will stabilize a 2000 bp long B-DNA when 30% of all the bases in the DNA are
guaning

A} 2300
B) 2700
C} 4500
D) 5400

15.Allotypic determinants are

A) constant region determinants that distinguish each Ig class and subclass within a species
B) Expressed only from the patemal chromosome

C) Not immunogenic in individuals who do not have that allotype

D) Amino acld differences encoded by different alleles for same H or L chain locus

36. in which of the following groups of animals the germ cells migrate through blood stream?

A) Amphibians and birds
B} Birds and mamimals

C) Reptiles and birds

0 Amphibians and reptiles

37. In which sequence the following proteins are activated as prereguisite for ventralisation in
Drosophila

A) Snake Spatrel, Easter
&) Snake, Easter, Spatzie
C) Spatzel , Snake , Easter
) Easter, Snake Spatzle
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fhe?;iﬂ:l ratio is modified in complementary genes as

A) 1511
B} 12:3:1
€} 13:1
D} 8:7

Transformation experiment was performed on which bacteria

A) Salmonella

B) E.colf

C) Streplococcus pReumomnia
D) Pasteurella prestis

fin Deuteropenia there is lack of perception of which colour?

A Blue
B) Red
C) White
D) Green

The repeal sequence in human telomernes is

A) TTAGGG
B) GGGGTT
€) GGGGTTT
D) TTTAGGG

Gene battery model” of gene regulation in eukaryotes was proposed by

A) Kornberg and Dchoa
&) Britten and Davidson
C) Beadle and Tatum
0} Jacob and Monod

A deleterious allele decreases more rapidly in frequency if it is

A} Rare

B) Recently mutated
C) Recessive

D} Dominant

.Who developed the process of DNA finger printing

A} Kary Mullis
B) T.H.Morgan
C) H.O.Smith
D} Alec Jeffreys
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45, Hydrowylation of certain amino acids of a protein takes place in

&) Cytoplasm

B} Endoplasmic reticulum
C} Golgi complex

D) Peroxisomes

46, LOD scores are used to predict

A) Crass over frequencies

B} gene sequencing

C) Gene linkage

) Number of chromosomes In genome

47, Mesonephric kidney in which tubules extend posteriorly throughouwt the length of coelom,is
referred to as

A) pronephros

B) Opisthonephros
C) Holonephros
D)metanephros

48, HIV infection begins with the binding of which o0f the following to CD4 receptor on surface of
helper T cells

A) gp 135
B) gpl120
C)gp 90
D) gpl00

49. The gene for which of the following would be considered as a protooncogene

A) p53

B] b protein

€} p21la Cdk inhibitor protein)
0} Ras

50. Exogenous antigen is processed

A) After presentation by antigen presenting cells
B) By nearly every nucleated cell

€} By cytosolic processing pathway

D) In acldified endasome

ol = - =
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Diphtheria is an example of

Al Bacleracmia B) Pyaemia
) Septicemia D) Toxema
Causative agent of Scarlet fever:

A} Staphylococcus aureus B} Strepiococcus viridians
C) Streptococous pwogens 13} Streptococcus epidermidis

The drug of choice in anaphylactic shock 13

A) Histamine B) Corticosteroid

C) Epinephrine ) Crocin

All of the following are bacteriostatic chemotherapeutic agent except

A) Bacitracin B) Chioramphenicol
) Novobiocin Iy Tetracyeline

What 1= the strength of the bond between antigen and antibody?

A} Affimity By Awidity
C) Covalent [} None covalent

Tritiated thymidine, if added to the cell culture medium gets incorporated into

A) Mature B cells By Mature macrophases
) Immature lymphocytes D} Immature neutrophils

LLPS is a mitogen for

A) Tcells B) Bcclls
C) Fosinophils 1) Basophils

Which of the following is not an autoimmune disease”

A) Rheumatoid arthritis B} Lupus erythmatosus
) Graves Disease I3y Filariasis

lmport of small hydrophilic molecules is Gram negative bactenal cells 15
lacilitated by special class of proteins in the outer membrane known as

A) Selecting B) Porins
) Integrins D) Tubulins

Nucleic acid detection can be done by the following except

A) Northern blotting B) Southern blotting
'} Westerm blotting ) Q.. a1 260/280
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Which of the following is useful for the detection of the enteric fever in the first week

A} Urnine culture By Fecal culture
'} Blood culture [7}) Bone marrow culture

Which of the following statement is not correct?

A) Acid- fast staining is due to the presence of mycolic acid

B) lipid moiety of Gram+ve & Gram-ve organism is different

'} Lysoryme hydrolyses the peptidoglycan

1) Gram staining is due to the OMPs present in Gram-ve & Gram + ve organism

Which of the following 15 called serum Hepatits?

A) HCV B) HAV
C) HBV D) HIV

Which of the following is an example ol Live attenuated vaceine:

A} TAB vaceine R} Vi polysaccharide vaccine
C) Salmonella tyohi Tv2la ) Meningococeal vaccine

Toxic shock syndrome is usuallv caused by

A) C diphtheria By Cl botulinum
) P aeruginosa 13} Staph. Aureus

Reverse isolanon would be appropriate for

A) A patient with tuberculosis B) A patient who has had minor surgery
C) A patient with glaucoma I3y A patent with leukemia

Schick test is used for detecting susceptibility of an individual to infection caused by

A) C. diphtheria By L difficile
) 8 typhi ) Vibra choirae

If more than one kind of immunizing agent is included in the vaccme it 1s

A) Cellular vaccine B) Recombinant vaccine
C) Cocktail vaccine D) Toxeid vaccine

The nature of antigen is the same in the which of the following combinations

A) Simple agar well diffusion & electrophoresis
B) Aggultination & precipitations

1 Agglutination & Hocculation

) Flocculation & precipitation
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Pus- forms are called as
A) Pyoderm
C) Pyrogen

B) Pyogenic
D) Pyocyanin
T3 &T4 levels are increased in

B} Grave's diseases
) SLE

A) Hashimoto's discases
C) Muluple sclerosis

Myasthenia gravis is-an auto immune disease which represents

A) Type-1 HS B) Type-1l HS
C) Type-11 HS ) Type-1V HS

Virulence of gonococcus 15 due (o

A) Pili
) Cellular location

B} Cell membrane
D) Cyclic enzymes

Japanese encephalitis is caused by

B) Arbo Viruses
D) Orho myxo Viruses

A) Togo Viruses
C) Para myxo Viruscs

Dengue virus is transmitted from man to man by the

A) Sand fly B} Ticks
C) Aedes acgypti 1 Culex

Common food poisoning microbes are

A) Clostridium and Safmonella Fungicide
B} Clostridium and K coli

) F.coli and Salmonella

13} Clostridium and Streplococcus

Clostridium perfingens poisoning is associated with

A) Meat products
C) Canned foods

B} Vegetables
12) Fish products

Which of the following bacteria is called a superbug that could clean up oil spill

29,

A) Bacilluy subtilis B) Psendomonas putida
C) Psendomonas denitrificans C) Bacillluy denitrificans

The process of extracting metals from ore hearing rocks is called

B) Microbial extraction
177 Bioleaching

A) Bioextraction
C) Biofiltration
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The process of converting environmental pellutants into harmless products by
naturally occurring microbes is called

A) Ex situ bioremidation B} Intrinsic bioremidation
) Extrinsic bioremidation ) None of these
Microorganisms remove metals by

A) Adsorption and complexation B) Adsorption and precipitation
) Adsorption and volatilization D) All of these

If protein A is 10% of the total proteins in a preparation, Maximum how many
folds of punification of this protein can be achieved.

A) 10 R 1D €y 1 By 0.1

Specific activity of an enzyme is

A) Intemational unit of an enzyme per milligram of protein

B} Intemational unit of an enzyme per microgram of protein

C) Intermational unit of an enzyme per gram of protein

1) Total number of an enzyme molecule per milligram of protein

Apar agar 1s obtained from
A) Gehidium B) Polysiphonia
) Fucus ) laminaria

Milk fermentation to produce cheese is done by inoculating with

A} Saccharomvces cerevisiae

B Strepiococcus lactls and Lactobaciflus sp.

() Acerobacier und Cluconohacter

D) Lactobaciluy bulgaricus and Strepiococous thermophilus

Which one of the following minera! elements play an importam role in biologica:
nitrogen fixation

A) Copper B) Magnesium
) Zinc 1 Molybdenum

The number of ATP molecules formed during cvelic phosphorylation are

A) One B) Two ) Four Dy Six
Aflatoxin is produced by

Ay Aspergilius sp. By Salmonelia sp.

C) Fusarium sp. Iy Streptocaccal sp.
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34, Ome of the following present m blue green algae
A) starch B cyanophacean starch
C) polysachharides ) Moridian starch

Al The manufacture of baker yeast's invalve

A) 8 cerevisiae By § thermophilus
C) Bacillus subrilis D) None of these
41.  The fermentation of wine can be carnied out using the strains of
A) S.cervisiae B) 8 carisbergenesis
C) Bactllus subtilis D) Pedicoccus cervisiae
42 In the passive diffusion, solute molecules cross the membranes as a result of
A) concentration difference B passive di ference
) 1onic difference D) all of these
43.  In aerobic respiration, the terminal electron acceptor are
A) oxygen B) nitrogen
C) hydrogen 3} nitrate

44, The Y5 % ethanol is equivalent to

A} 190 proof B} 110 prool
) 170 proof [ 120 proof
45, The sugar concentration of molasses used in fermentation should be
A) 10-18 % B}y 20-30%
C) 4-5% Dy 30-38%

46,  Nothern blotting is the technigue used in the determination of

Al RNA B) DINA
') Proteins D All of these

47.  DNA finger printing is based on
A) Repetitive scquences
B} Unique sequences in coding region
) Amplified sequences
13y Unigue sequences in non coding region

48, Which one of the following does not need a primer in order to function

A) DNA Pol ] By DNA Pol 11
1 DNA Pol 1] [y RNA Polymerase
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S,

(&)

Which of the following is false about E coli Lac operon.

A 1t is polycistronic

B) It is an example of negative control

) The presence of lactose acts as an inducer
[¥) The repressor binds to the promoter

Which of the following enzyme (s) can remove or insert supercoil twists into the
circular DNA

A} Topoisomerase By Helicase
C) DNA poly 1T Dy Spliceosome

X-X-X
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Embryonal Carcinoma are the

Stem Cells of embryo
Stem cells of teratocarcinoma
Stem cells of blastula
Stem cells of gastrula

............... . are present in SHED

Dental stem cells

Heart stem cells
Embryonic stem cells
Skeletal muscle stem cells

Nervous tissue is derived form

Endoderm
Ectoderm
Mesoderm

. Primordial germ cells

is the generation of functional cells of a tissue, organ or lineage
that is distinct from that of the founding stem cells

Transdifferentiation
Cedifferentiation
Muclear transfer
Metaplasia

Embryonic stem cells are

Linipotent
Totipotent
Pluripotent

. Multipotent

Fage 1of 9
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The epidermis contains skin stem cells, This was first demonstrated by

Solter

Withers

Michael West
Donnall Thomas

onexr

The bulge cells have the ability to make

Hair follicle and epithelial cells
Only hair follicle

Skin stem cells

. Only epithelial cells

onm>

The finger like projections of small intestine which protrude in to the
lumen are called

Willi
Micrawvilli
Macrowilli

. Crypts

=Rel-l

The mesenchymal stem cells containing the gene encoding green
fluorescentprotein (GFP) under the control of myosin heavy chain
promaoter, when engrafted in mdx mice, was found to functionally
restore the muscles in recipient. This was demonstrated due to the
presence of

A, Green donor cells in mdx mice

B. Green muscle cells in mdx mice

C. Green mesenchymal stem cells in mdx mice
0. Non green muscle cells in mdx mice

Embryonic germ cells are

A, Multipotent
B. Unipotent
C. Totipotent
D, Pluripotent

Page 2 of 9
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MNeurogenesis cccurs in__ region af the brain

Pia matter
Ventricular
Sub ventricular
Dura matter

Whnt is a secreted growth factor that binds to

Frizzled receptor
Beta-catenin
E - cadherin
Sonic hedgehog

Pax7 has been widely used as a marker for

Muscle cells

Liver stem cells
Satellite cells
Pancreatic stem cells

Just after fertilization, the male pronucleus |s activaly

Demethylated
Re methylated
Methylated
Degraded

The class 1 MHC molecules are not expressed by

B-cells
REC
Antigen presenting cells

. Liver cells

Affinity maturation takes place in

Bone marrow
Blood
Thymus
Lymph nodes

Page 3of9




17. Somatic hypermutation occurs in CDR region of antibody encoding
genes. It leads to

Change in specificity of antibody =
Increase In antibody affinity
Decrease in antibody affinity
Increase in antibody avidity

onwx

18. The absence of the formation of an agglutinate is reported as the
presence of the antigen in the reaction mixture. This is called

A, Passive agglutination
B. Indirect agglutination
C, Direct agalutination

D, Immunoprecipitation

19,  The Kinesin-1 is mator protein that mediates

Reterograde transport
Anteragrade transport
. Endocytosis

D. Cell movement

N m >

20.  The protein conformation is determined by

X-ray crystallography
Electron microscopy
5D5- PAGE

Western blot

go@>

£1.  The proteins in a complex biclogical sample are identified by

L

LC = MS f MS
SDS - PAGE

Mative PAGE

g0 mPe

22, The 5 cap of the mENA is connected to the terminal nucleotide of the
BMA by

3", &' phosphodiester bond
5', 3' triphosphate linkage
5", 3' phosphodiester bond
. 5, 5" tnphosphate linkage

TR
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23. The wobble position is the

A, Second base in tRNA anticodon
B. Third base in tRNA anticodon
C. Third base in mRNA codon

D. First base in mRNA codon

24. This technique is used to analyze the nucleotide sequence bound by
the RNA polymerase,

A. DNA walking
B. Foot printing
C. DNA jumping
O, Naorthern blot hybridization

25. 1In the nonsense suppression mutants, the nonsense mutation in the
gene is suppressed by the second mutatian in the

Anticodon of tRNA gene
Codon of mRNA gene

rDNA

. Aminoacy! tRNA synthetase

onwp

26. The integrated viral DNA is called

WVirus

Prophage
Temperate phage
Bacteriophage

=

oNnow>

27. The Klenow fragment has the following activities

5'.3' polymerase and 5',3' exonuclease
. 5' 3" polymerase, 5°,3' exonuclease and 3°,5" exonuclease
poly
5' 3" polymerase and 3',5' exonuclease
poy
. 5',3' polymerase alone

onNnw e

28. When the gene is introeduced into mammalian cells through an
expression vector which carries viral origin of replication, then it is
called

. Transient transfection
Stable transfection
. Transformation

M mP
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29,
A,
B.
D.

30.

. Transduction

The commaonly used selection marker for stable transfection in ES celis
is the gene that codes for

Meomycin phosphotransferase
Ampicillin

Tetracyclin Phosphotransferase
Beta - lactamase

In the reference section of a thesis, the entries are alphabetized

according to the first letter of the

o>

31

vn®>

32,

on®>

33,

Surname of the first author
Firstname of the first author
Surname of the last author
Firstname of the last author

DNA fingerprinting depends on the differences in the lengths of

Introns
Mon repetitious DNA
Telomeres

. Mini satellites

The F-Class proton pump present in the inner mitochondrial membrane
pumps

H* ions from the cytosol in to the mitochondria
H" lons from the mitochondria into the cytosol
H™ lans out of the cell

. H" ions from mitochondria into the lysosome

The cancer stem cells are generally resistant to various cytotoxic drugs
due to the presence af in their membranes.

P- Class pumps
F- Class pumps
V- Class pumps
ABC transporters
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34, The formation of ATP molecules by phasphoryiation of ADP in the
process of converting glucose Lo pyruvate |s called

Oxidative phosphorylation
Substrate level phosphorylation
Reductive phosphaorylation
. Chemiosmatic phosphorylation

opom>

35. The cholera toxin modifies

Ly
4, €
G I

Dl til.l
36, Diacylglycerol activates

Protein kinase A
Protein kinase G
Protein kinase C
Phaspholipase C

onee

37. Myosin binds to

Micro filaments
Myosin

. Tubulin subunits
Microtubules

[ B v

-

38. Taxol is used as a potent antitumor drug in chemotherapy. It mediates
Its cytotoxic effect through

Micro filaments
Microtubules

Myosin

Intermediate filaments

Oy e

39,  The small intestinal epithelial cells are polarized due to the presence of

Tight junctions at the luminal side
Adherence junctions at the luminal side
Hemidesmosomes at basolateral side
Desmosomes at lateral side

W 2
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40.

41,

L rmee

42,

oom>

The bipectent oval cells are present in

Sinusoids
Pancreas
Canal of Hering
Hepatic chords

The bile is produced by

Sinusoids
Kuffer cells
Gallbladder cells

. Hepatocytes

In good pasture's syndrome, an autolmmune disease, autoantibodies
are raised against

A. Type-I coliagen of glomerular basement membrane

B. Type -1V collagen of glomerular basement membrane and lungs
C. Insulin

D, Cells of Kidney

43.

on®p

44,

onepr

45.

cn@>

The RGD sequence is recagnized by

Integrins
Fibronecton
Laminin
Collagen

The right places for limb development are determined by

Even-skipped genes
Hox genes

Kruppel genes
Hunchback genes

Polytetrafluroethylene is a polymer used in bone tissue engineering, It
1%

Synthetic and Bicdegradabie
Natural and Bicdegradable
Synthetic and Mon-Biodegradable
Matural and Nen-Biedegradable

Page Bol 3




46.

47,

48.

49,

onme

20.

o0 mP

ol Bl

oCnw>

Genetically modified adult stem cells induce rapid bone formation. For
this purpose adult stem cells have been engineered to express genes
of

Oct family
Sox family
Bone morphogenetic protein family

. Pau Family

The cardiac stem cells are stored in niches located in

A, Ventricles

B. Apex

C, Atria

D. Atria, apex and ventricles

The ES cells have been found to grow best in this medium

RPMI 1640
Fl

DBSS
DMEM/F12

There are risks associated while using murine feeder cells for culturing
hES cells. Hence feeder cells can be replaced by

Murine feeder conditioned medium
Human feeder conditioned medium
Murine embryonic fibroblasts
Bovine FGF

This is the bicengineered dermal substitute

Meroclone
Myskin
Integra
Epidex

- e
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(Given that Molecular weight of NaCl =58.5. The lattice constant for rock salt erystal (
density=2180K g/m3) is

A}  5531A By 5.63 A ) 463A ) 453A

Lorentz number is related 1o

A) Electrical and thermal conductivity of semiconductors
B}  Electrical and thermal conductivity of metals

(C)  Magnetic properties of solids

) Superconductivity of solids

Ballistic aggregation in sol-gel chemistry refers to;

A} Approaching polymers follow a linear path

B) Erratic path of a diffusing cluster

() Case of many collisions

[} Random collisions of polymer particles

CVD is an important term used in nanoparticle formation, it means:

A)  Critical volatile demand B} Critical volatile delimit
C) Chemical vapour deposition B Chemical vapour demand
Atomic force microscopy generates

A) Phase height images B} phase contrast images
) Surface topography 15 )] all the above

Atomic force microscopy is based on the principle of:

A) elastic response of the surface

B glectron impregnation

C) electron permeation

) clectron conductivity

Gallium arsenide is not as popular as silicon in MEMS application because of its

A)  Its higher cost of production B) low mechanical strength
C)  difficulty of mechanical work 13) high electron mobility

Photon Correlation Spectroscopy experiments help analyse:

A) size propertics B} conducting properties
] magnetic properties By electrical properties

PI:CVD is popular because it offers

Al good adhesion B) a simple process
C) relatively low process temperature D) high temperature process




[i3

13,

l4.

16,

17

1N,

|3

(2}

Synchrotron x-ravs are used in photolithography in the LIGA process because

A) They are more effective with the photoresist

H) They are cheaper source of light

C) They can penetrate deep into the photo resist material
1) None of the above

Shape and size of the nanoparticles can be viewed by the instrument
A) Raman B) Ellipsometer C) TEM Dy XRD

The depletion region in an open circuited p-n junction contains

A) electron B holes

'y uncovered immobile impurity ions D) neutralized impurity atoms
The surface states at the semiconductor surface

A) enhances the recombination rate B} decreases the recombination rate
C) do not alter the recombination rate ) none of the above

If d, is the equivalent diameter of a non-spherical particle, Vi its volume and 5; its
surface area, then its sphericity is @, is defined by

A, =6V /d; 5, B) Oy = Vyldy 5,

C) @, = 6 dy So/V, D) D =d, SV,

In the cut off mode of the transistors operation

A) emitter-base junction is forward biased and base collector junction is reverse biased
B} both junctions are forward biased

) both junctions are reverse biased

1) emitter-base junction is reverse biased and base collector junction is forward biased.
The convergence of which of the following method 15 sensitive to starting value

A) False position B) Gauss Seidal method

'y Newton-Raphson method ) Bi-section valuc

The maximum width of surface depletion region for & metal-5i0-51 capacitor
(Na=35x10"em”)is

A) D.25 pm B) 0.15 pm C) 0,40 pm D) 0.55 pm

The mode spacing for a typical GaAs laser with .= 0.94 pm , n = 3.6 and L. = 200 pm 15
AY4A B)6"A C)8"A D) 10°A

The Debye temperature for diamond is 2230 K. The highest possible vibraticnal
frequency is

A} 4.64 x10" Hz B) 564 =10 Hz
) 3.64 «10" Hz M 464 =10"Hz




22,

26,

21

8.

29.

()

Whole has large mass compared to electron because

A) It 13 made up of electrons and phonons B It is present in the valence band
) Applied field exert more force on it D) It does not move

A remote control valve is ......type
A) needle B) gate C) butterfly D globe

*The concept of miniaturization was given by’

A) Izsac Newton B) Albert Einstein

C) Richard Feynman D) Enc Drexler

Supramolecular chemistry is

A) Host-guest chemistry B} Chemistry of non-covalent interactions
C) Chemistry of covalent interactions D) Both (a) and (b)

The 81 physical unit of dynamic viscosity is

A) Pas B) Pas' C) Pag’ D)  Pag”

Which statement about FREET 15 false?

Al Firster resonance energy transfer

B) FRET can operate upto 10nm distance

) [t is short range mechanism

D} In FRET energy exchange occurs by dipole-dipole coupling

Kevlar is commercial name for

A) Glass fibers B) Carbon fibers
) Aramid fbers D) Cermets

Find the incorrect statement related o oxidative purification of carbon nanotubes

AY  Owidative purification lead to cutting and shortening of carbon nanotubes

B} Sidewall functionalization is absent during oxidative punfication

C) During oxidative purification, carboxylic groups are introduced at ends and defect sites
D) Oxidative removal of metallic catalyst particles used in synthesis of carbon

nanotubes happen
In & bucky ball each carbon atom is bound to...........oooiveneennoo.. adjacent carbon atoms
A B 2 c)y 3 o A
SMAD stands for
A)  Solvated Metal Atom Dispersion B) Single Metal Atom Dispersion

C) Solvated Metal Atom Dissolution Ly} Single Metal Atom Dissolution




30,

31,

33.

34

36

38,
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(4)

Which one of the following stalements 18 not true”

A) Criold at the nanoscale is red

Hj Copper at the nanoscale 15 transparent

(] Silicon at the nanoscale is an insulator

[} Aluminium at the nanoscale is highly combustible

For correct results in all acid-base titrations the indicator must change colour at a pH
A)  slightly greater than 7 B) slightly less than 7

) equal 1o 7 m equal to stoichiometric point
Lavered silicates can be classified into :

A) zero-dimensional fllers B) one dimensional fillers
C) two dimensional fillers 1)) three dimensional fillers

In-situ polymerization for polymer-clay composites implies:
A)  clay is added after polymerization

B)  clay is not added if polymerization is started

C) clay is not added at all

By clay is added before polymerization

Quantum dots is an example of a. .. .....material :

A) I-D B} 2-D ) 3-D ) 0-I

Self assembly is an attribute of the:

A) Top down approach B) Right way approach

C) Bottem up approach D) [.eft way approach

From an X-Ray Diffraction pattern one can calculate the:

A) Particle strength B) er.rr:lallile si7e

") Particle conductivity (3] Particle voliage

Nanogomposites can be said to be the combination of the following:
A) organic-inorganic matcrials B nrgas:-ic-mganic materials
() inorganic-inorganic materials ) all of the above

Al isoelectric point, net mobility of an amino acid is

A) Towards cathode B) Towards anode

) Lero M None

Which of the following processes interfere in the sequence based phylogeny?

A}  Horizontal gene transfer B) Adaptive mutat?m:!s
C) DNA repair (43} Reverse transcription
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41.

42.

435,

44,

43,
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44,

49,
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Analog and.. ...... are two basic types of signal
Ay digilog B) sine wave C) digital D) wvetilog

Which of the following is a biomaterial?
A} Plastic B) Reinforced Steel C)  Bakelite 1) Cellulose

CNTs belong to family of
A) Gilycerols B) Polyanilines ) Fullerenes D) Amines

Photosynthesis is a process

A) reductive and exergonic B) reductive and catabolic
C} reductive, endergonic and catabolic ) reductive, endergenic and anabolic

Density ol states for electron gas confined in one dimension 15

A)  Proportional to E'? B)  Proportional to B

) Constant D) Proportional to E’

Dynamic light scattering experiments are bascd on:

A) Brownian motion B) Feynman motion

C) Deschman motion 1) Frankianmotion

Rheology is referred to for nanofluidics: 5
A) conductivity in channel B) length of channel

C) Width of channel 13y flow in channel

The right type of structure for the following carbon nanotube

A) Armchair

B) lig-zag %
) Chiral

D) None of the above

Vapour pressure of pure liquid solvent A= 0.80 atm. When a non-volatile substance B s
added 1o the solvent, its vapour pressure drops to 0.60 atm. What is mole fraction of

component B in the solution:
A) .75 B 0.50 C) 0,25 L) 1.0

Discovery of graphene in Physics was awarded the

A) Nobel prize in 2010 B) MNobel prize in 2012
C) Bhatnagar award in 2009 ) Bhatnagar award in 2011

Oxygen in our blood is transported by a protein named

A) haemoglobin By keratin
C) collagen L¥) myoglobin
1]

I
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What iz Tull formm of RCSBY
A, Research collaboratos for struetural
Bioin formatics
B. Resgarch collaboration Tor steuchiel
bioinformalics
€l Hescarch comtribimory for structural
hisinfarmalics
[X  Hescarch comributisn for stroctiml
bicmfonmmatics
What mikes BLAST faster than FASTA?
AL The processor speed of the compuler
i3, Hash table lookap
L Drepammic progesimniing
¥ The scorng mnirix |_|3.'|_‘-\-;|
Cien bank Fle fiormat is DNA centric report becase
ol
A Coding region
B Decoded region
L Qualifrer
[ P
What is the difference between RelSer and
CrenBink T
AL RS il e publicly o labie DRA
SegLences
B GenbBank inclodes non redundant cursied
civkiy
] GenBuank sequences nre derivedl Tiom
Retheg
LY, RelBeg sequences are derived Trom
Gienbank
What = ASH T
AL Langimpe
B CODE by
5 Farmal
[ eternaiiopal stapdard for strociore data
Dhefine syntax Tor Accession mambser
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Al 334
B, 332
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[ wide, shallow

Wit are Maoge, CALY & VRML

A File foemae

B, Modeling software

. 30} viewers

[x ol imio mindeler
Which of the following can be determined using
inoshecilar modeling?

A orbitml direclion

1, Electrostatic current

e algonithm

D Minsmum energy conlormation
Fhe Phi-Psi scutter diagram is g

AL Ramaschandran plol,

B Chi ke

O Sentier plol

1 Decision plog

20 Which Facton distinguish between sensilivity in

BLAST
A Poealue
B Eovalee

L. P& E value

Y. P ork valhic
LIEMSUAN deweloped By

A Chris burgs

B, Saim karfin

£ Doth

2. Can
How Sequence: filtering in BLAST help in fast
chalubase senrching

A, Searches for LCR

15, Searches for Repeats

¢ Both &2

13, Bearches for long repeats
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B Specificity
O Search oresall
3 E vl
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L peodeciion rom methyviation
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3, I prokaryotes, just before the cell divides, the two

"
1

-

oy

3

dunghter genames wre attached side by side o the
AL cell membrane
B. replication origin
£, centromones
£, edpemiorial plide

Chirge—charge relstionship of noncovalent
iferaciions o the distance sepaniting the mteraciol
misleculay 15

A lir
B I
e N
(o 2 T

LEOMY senue

A Smatistical estamation

5. Establish linkage betwesn two i

L Monpe

o | &2
What is the pnnge of sample size used i S305-PAGE
methods™

AL IMICEOZrams
B, nasnogriimns
. picogmms
£y, milhigraims

CWhe cotned the term mitosis

A sirmsburoer

B. Flemming

Co sprdsbieger & Flemiming
L. WNone ol the above

- Rotameric structures ane?

A, Differem phi & psl but differ in side chain
B, Same pstban differ in side chain

. Same phi & pei bt differ in side chain

[, Same phi bt differ in side chain

. Beta Globin Fold consisr of

A All alpha helices

B. Eightalpha helices

C. Four alpha & Four beta helices
1. Mane of the above

. Macro molecular ihenmady nantics deals with

A, prdssure

B. eniropy

C. free enerpy

[ all of the alwave

o DS alphea! Plasmid DA s

A Positively supercoiled
B, MNegatively supercoiled
L Early supercoiled

]

dl

4l

45,

4n

17

4E,

44,

S,

St LT - T,

[, supercodled
Linking number of DM A describe
A Topology
B. conformation
0 madel

3. Al af the above
Phylngenetic analysis based on

AL Homo character

B. Analogy

. TREE

[, Oirthology
Which of these amino acids 15 highly conserved &
abonded in naure?

A, Llycine
. Alanine
. hoth
3. none

Triad roods inmolecular modehng consist of

A Force field, Porameter seis, molecular
mechanism
[. Force field, Minimimtion algorithag,

Parameier 2208

. Force feld, molecolar dy mamics,
pEIrmInEnEr SeLs

L. Al ol the above

Which is second generticn farge Held

AL MMFE
B, MM Family
C. AMBER

D, Mone ol the above
How many copies of mitochondna is present in an
cukaryotic cell

A 10" -0t
B, 1070
Coo1o
(WA TV TV

minimum energy conformation is always an active
confonmation of the model

A, Statement 15 correct

B. Siate s incomplete

. Stement is not justify

[x. Maone of the above

Which of them are gare simino acid

A eitnallinine

3. cysieine

. Glveine

0. 3 4-dilydroxy-phenylakaning
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I'he half-life of an n'™" order reaction in a bateh reactor depends on

A. only the rate constant

B. only the rate constant and the order of the reaction

C. only the rate constant and the initial reactant concentration

12, the rate constant. initial reactant concentration, and the order of the reaction

A thermometer initially at 100°C is dipped at t = 0 into an oil bath, maintained at 150%C. If the

recorded temperature is 130°C afler 1 minute. then the time constant of thermometer {in mm) is
A, 1.98

B. L35
C. 1.09
3. 1.26

I'he enthalpy of vaporization of methanel {CHOH) i5 35.3 kl/mol at the boiling point of 64.2°C,
Caleulate the emtropy change for methanol going from a liquid to vapor,

Al 600, I'Kmol

B. 331 JVEmol

C. 105 J/Kmol

13 <105 VKmaol

1s the separation technique used for desalination of sea water,
Thermal diffusion
Reverse osmosis
absorption
Adsorption

o0 E >

The Bode stability criterion is applicable when

Al Gain and phase curves decrease continuously with frequency
B. Gan curve increases and phase curve decreases with frequency
C. Gain curve and phase curve both increase with frequency

3. Gain curve decreases and phase curve increases with frequency

[he Grashof number for convective heat transfer from a 0.4 m vertical square plate maintained at

an uniform temperature 130°C in ambicnt air at 25°C is
A. 2.39x10

B. 3.80=10°
C. 4.37=10°
D. 6.67=10

Which of the following is not concerned with the fluid-particle interaction 7
A, Drmag co-efficient

B. Froude number

C. Galileo number

D. Weber number

The ethanol-water azeotrope at 1 atm occurs at
89.4 mole per cent ethanol and 78.2°C

89.4 mole per cent waler and 78.2°C

96.0 mole per cent ethanol and 78.2°C

96.0 mole per cent ethanol and 100°C

onEe
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The shell side pressure drop in a shell and tube heat exchanger is maximum for B
disk and rning

segmental
orifice
independent of the type of baffle

=ReR

Mintmum reflux ratio in a distillation column resulls in
A, maximum condenser size.

B. optimum number of trays,

C. minimum number of trays.

D minimum reboifer size.

The value of K for the formation of HBr{g) from Ha(g) and Bra(g) is 2.2 = 10 at 298 K. What is
the corresponding value of AG" (298 K)?

A, 453 T mol™
B. —53 1 mol™
C. —53 kI mal”

D, +51 %I mol™

For a heterogenous catalytic reaction, 4 + B — C, with equimole feed of A4 and &, the initial rate -
Fyqq Is invariant with total pressure. The rate controlling step is

A. surface KJ(1 + Fy) reaction between absorbed 4 and & in the gas phase,

B. surface reaction between absorbed 4 and absorbed B.

C. surface reaction between 4 in the gas phase and absorbed 8.
D. desorption of (.

Half life period of a first order irreversible reaction 4— 7 is
A, b2
B. Ink2
C. n2%
D. In 0.5k

Catalyst used in catalytie reforming is
A. platinum on alumina

B. nickel

C. iron

D, alumimum chloride

A bulb of diameter 10 em is heated internally with an electric heater of 100 W. The bulb dissipate
the heat to the atmosphere by convection. The convection heat transfer coefficient between the ai
and bulb is 65 W/m™C. If the atmosphere is at 35°C, the bulb surface temperature is

A, 90.28°C

B. 8397°C

C. 43.4°C

D. 7845°C
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16, Which of the following has the lowesl flash point of all?
A, Dhesel
' B. Kerosene
C. Petrol
D. Fumnace oil

17. Dacron is a‘an
A polyamide
B. unsaturated polyester
(. polyester
D, inorganic polymer

18, A counter-flow double-pipe heat exchanger 1s used to heat water from 20°C to 40°C usmg a hal
oil which enters the exchanger at 180°C and leaves at 140°C. The flow rate of water is 3.0 kg/s
andl the overall heat transfer coefficient is 130 W/m*C. Assume that the specific heat of oil 15 2.1
kJkgk. If the water flow rale is reduced to half, the new oil flow rate necessary to maintain the
same outlet water temperature is
A, 1.493 kg's
B. 1.704 kg's
C. 2,345 kg/'s
D 3080 kg's

19, C0; present in reformed gas {obtained by steam reforming of naphtha) is removed by absorbing
in
A. mono-ethanolamine (MEA)
B. slaked lime
C. ammoniacal liguor
0. Methvl-Ethyl Ketone (MEK)

20, A composite wall 1s made up of two slabs with outermost surface temperatures maintained at
1300°C and 115°C The first slab has a thickness of 500 mm and thermal conductivity ol 1.4
W/mK and the thickness and the thermal conductivity of the second slab are 161 mm and (L35
W/mK respectively. The temperature of the surfaces in contact is
A, BOOLOSTC
B. 782.1°C
C. 506.5°C
D. 306.2°C

21, Which of the following is the most suitable for very high pressure gas phase reaction?
A. Tubular low reactor
B. Strred tank reactor
C. Batch reactor
D. Fluidised bed reactor

22, First gas cracker plant is located at?
A, Dighboi
B, Haldia
C. Jam Nagar

D, Nagothane
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Treresyl phosphate 1s chemically represented as
A, (CHy O Hyy POy

B. Cﬂ[uﬂpﬂthn

C. (NH::HPO,

3. NHHPOy

Which of the [ollowing i1s not used in case of Polyurethane?
A. Palyols

. Hexa methylene diusocynate

€. Hexamethylene diamine

0. Adipic acid

Waorking principle of radiation pyrometer is based on the
A, Kirchofis law

B, Stafan-Boltzman law

C. Seebeck effect

B, Wien's law

The ratio of mnerbal forces o elastic forces 1s called the number.
A, Euler

B. Reynolds
C. Mach
2. Weher

Which of the following is made from hexamethylene dinmine and adipic acid?
A. Nylon 66

B, Nyon 6

C. Terylene

. Dacron

Isochronal test is used for measunng?
A, Smoke point

B. Asphali content

C. Wax content

D. Back pressure of testing well

The temperature distribution profile across the thickness from one side of a wall 15 given by
T=5x" - 24x where T is in °C and x is in metres. Thermal conductivity (K} of the wall 15 50
Wim°C, The heat Mux across the wall at x = 10 cm is

A, 1100 Wim’

B. 1030 Wim'

C. 1150 Wim'

D, 1110 Wim®

Major source of propylene in a refinery is"
A. Catalytic reforming

B. Visbreaking

C. Fluidised bed catalytic cracking

D. Iso craking process
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Smoke density of the flue gas going out of the chimney is measured by a
A thermal conductivity meter

H. polarograph

L. photo electric cell

D. chromatograph

The time constant of a unity gain, first order plus time delay process is 5 min, 17 the phasc lag al a
frequency of (.2 rad/min is 60°, then the dead time (in minutes) is

A. &6

B. a3

C. w12

. 5a12

Which 15 the most suitable conveyor for transportation of sticky material 7
A. Belt conveyor

B. Screw conveyor

C. Apron conveyor

LY. Pricumatic conveyor

A table tennis ball is placed inside 4 vertical Kitchen funnel. On blowing air upwards through the
tube the ball but does not get blown out, [s this due to:

A, The Magnus effect

B. viscous effects

C. the Betnoulli effect

D). momentum conservation

[n a manufacturing industry, break even point occurs, when the
A. total annual rate of production equals the assipned value.
B. total annual product cost equals the total annual sales.

L. annual profit equals the expected value.
D. annual sales equals the fixed cost

The stress developed in 2 material without any permanent set is called the
A wield stress

B. ultimate stress

. breaking siress

D. elastic limit

In which of the following evaporators, steam is fed nside while the liquor is outside the tube ?
A. Short tube vertical evaporator

B. Long tube vertical evaporator

C. MNone of these

D). Horizontal tube evaporator

For turhine agitator, the impeller diameter is about
A 03w05d

B. 0.65100.854d

. 085d

D lwd2d
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~ closure 15 the weakest enclosure for cylindrical vessels,
A, Conical or flat plate
B. Elliptical
C. Hemispherical
13. Torisphenical

If the discharge of a centrifugal pump is throtthed, then its suction hift
A, data insufficient to predict

B. remains unchanged

C, increases

[, decreases

Boundary layer separation is caused by the

A adverse pressure gradhent,

B, boundary layer thickness reducing to zero.
C. reduction of pressure o vapour pressire.
D. reduction of pressure gradient to zero,

Which of the following curves shows the effect of temperature on the extent of gas-solid
adsomlion at a given pressure”

A, Langmuir adsorption isotherm

B. Mone of these

', Adsomption isobar

[7, Freundlich adsorption isotherm

A photochemical reaction is _light.
A accompanicd with emission of

B, mitiated by

C. used to convert heal energy mito

. catalvsed by

When If the rate of a chemical reaction becomes slower al a given temperature, then the
A. [ree energy of activation is higher,

B. frec encrey of activation is lower.

C. initial concentration of the reactants remams constant.

D). entropy changes are negigible

1T a force preater than that of gravity is used to separate solids & fluids of different densities, the

process 15 lermed as the
AL sedimentation

[%. dizpersion

. centnfugation

Y, fAocculalion

Ball vl 18 used [or
A. crushing

B. coarse grinding
C. fine grinding
L. attriuon

- 1
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47. The energy required per unit mass to grind limestone particles of very karge size to 100 jpm is 12.7

48,

49

an

KWh'ton. An estimate (using Hond’s law) of the encrzy to grind the particles front a very larpe size
w0 540 pm s o

A. 18 kWhiton

B. 6.35 KWh'ton
C. 25.4 kWhiton
D. 9.0 kWh'lon

When liguid and vapour phases of one component system are in equilibrium (al a given
temperature and pressure), the molar frec onergy is

Ao replaced by chemical potential which 1s more in vapour phase

B. same in both the phases.

C. more in liquid phase.

D. more in vapour phase,

Antioxidants are added to rubber 1o protect it from the attack of light, heat & atmospheric ozone.
Which of the following is an antioxident used in rubber?

A. Thiokol

B. Alkylated diphenyl amine
C. Magnesium

D. Carbon

Wihich is the best and the most effective method for the removal of organic contaminant present in
the polluted water in very small guantity {(say = 200 mg/litre)?

A. Activated carbon adsorplion

B. Lagooning

C, Biological oxidation pond

D. Chemical coagulalion

= o O B
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1 | The maximum value of 5 + 4x — 4x° will be equal to
A & c 1
B. & D. 2 .
2 | Dilatometer is used to measure
A stress €. Deflection L
B. Strain D, Contraction/expansion due to changes
. in temperatun_‘_q
3 | One mole of methane undergoes mmp]el& combustion in a stoichiometric amount
of air. Mole fraction of water vapour in the product gases is about
A B8 C. 0.40
B. 033 _ D. 067
| 4 | Filter aid is used to
A Increase the rate of C. Increase the porosity of the cake
~ filtration :
B. Decrease the pressure D Act as a support base for the septum
drop I
5 | Mercaptans is repnasantﬂd as -
| A R-COOH = c. R-5-R
B. R-5-H B.  R&R _—
6 | For 1 mole of an ideal gas expanding isothermally to twice its volume, the work
obtained is equal 1o
A RTIn2 i C. RT i
| |B. RTIn{1/2) . D, 2RT
v i Stokes law is valid when the particle Reynalds number is
(A Less than 1 C. Less than 10
B. More than 1 D More than 10
8 | Operating principle of eyclone separator is based on the action of .._..__dust
| particles e
A, Diffusion of C. gravitational force on
B. Centrifugal force on D. Electrostatic force on
9 | Which of the following line dust removal equipments is the most efficient?
A, Bag filter C. Electrostatic precipitator
| | B. scrubber D. Cyclone separator
10 | Slurries can be most conveniently pumped by a pump.
A, Screw C.  Gear !
B Hac:lpmr:ailng D Centrifugal
11 | Fora given gas the virial Li"hl‘.f'll'i.-]tl'l_‘_l.ﬁ ad
A. Depend on pressure only | C. Depend on lemperature and pressure
B. Depend on temperature D Are indepeandent of temperature and
—only prassure
12 | Which of the f'ulluwrm_.r,_a]vcs permits flow in one direction only?
A Globe valve C. Ball valve
B. Gate valve D. Check valve
13 (.lm]yst used in Haber's process for ammonia production is
A Reduced iron oxide . Vanadium penta-oxide o
B. Nickel D. Silica gel =
14 | The conversion of a reactant undergoing a first order reaction al a time equal to
three times the half life of the reaction is
A. 0.875 C. 0.425 i I
[ B. 05 D. Mot possible to calculate because of
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| insufficient data

15 | What is the unit of thermal conductivity B
A, Kealthr m T C Kcalhr.m®
B, Kcalfhem 'C D. Keal/hr. "C -
16 | Plasticisers are added to polymers 1o improve their
A, Tensile strength C. Acid resistance
B. Softness and flexibility D. Alkali resistance
17 | Heat in the amount of 8 kJ is added to a closed system while its internal energy
decreases by 12 kJ. Work done by the system is equal to
A 20k C. 4 kl
B. -20k) D. -4kl =
18 | The pressure and temperature of an ideal gas with constamt heat capacibies
undergoing a reversible adiabatic process are related by '
A TP = constant C. TP ! = constant
B rpirit= constant D. PT "= constani
19 | An automobile radiator is a deviee where hot water passes through a bank of tubes
and loses heat to the air. On the owmside of the wbes, extended surfaces receive heat
from the tube walls and transmil it to the air by
A, Free convection . Radiaticn
B Forced convection D Conduction
20 | Work hardening of a material _
‘A. Decreases its tensile C. Increases its ductility
strength _
B. Decreases its ductility D Does not affect its ductility
21 | For the reaction A + B— 2B+ C 3
A, a=Tg '!:. Mg = Erﬂ
B fu=-fm 8] =l
22 | The favourable conditions for the maximum vield of ammomia by Haber process
are
A High pressure and high & low pressure and high temperature
lemperature
B. High pressure and low D. low pressure and low temperatura
| temperature
23 | \What is the degree of freedom for a system comprising iquid water in equilibrium
with its vapour
A, zero C. Twe E
B. one D. Three

A composite wall consists of two plates A and B placed in series normal to the flow
of heat. The thermal conductivities are &; and &y and the specific heat capacities are
Cpg and Cpg respectively. Plate B has twice the thickness of plate A. At steady
state, the temperature difference across plate A is greater than that across plate B
when

A. Cpg>Cpp [ C. ki< 0.5 ka

B. Lopg <l pg 'D kd}j'lﬂ

25

High pressure steam is expanded ﬁdl.ll:latu.ull:r and reversibly through a well
insulated turbine, which produces some shaft work. If the enthalpy change and
entropy change across the turbine are represented by AH and AS respectively, for
this purpose:

A AH=0and AS=0 C. Al # 0 and AS =0

B. AH=0and AS =0 D. aAH=0and AS=0
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26 | Absorptivity and reflectivity of a perfeet black body are respectively
A land0 S 1 andd oo
B. (and | ;T ( and 0.5
27 | The advantage of using a 1-2 shell and tube heat exchanger over a |-1 shell and
| tube heai exchanger is
A lower tube side pressure c. higher tube side heat transfer
drop coefficient e
B Lower shell side pressure | D. higher shell side heat transfar
drop : coefficient
28 | The efficiency of Camnot engine working between temperature Ty and T (T, < Ta)
15
A T - T C. T, -T,
¥ Ty
B. 1-T, B ] =1 .
Ty T
23 | Liquified Petroleum Gas (LPG) used lor household cooking comprises mainly of
A Fmpane and butane .= Methiane and ethane
. B Butane and ethane . Methane and carbon monoxide ]
30 | The general chemical formula of saturated fatty acids is
A, C,H,COOH G.  CyHaCOOH
B C.Hy..COOH D C,Ha{COOH
31 | In an irreversible process =
A Tds=dE-dW=0 [ €. Tds—-dE +dW <0
B. dE-dW-Tds=0 D. Tds-l:lT+d‘u"'."¢U
32 | The sphericity of a solid parm:h:: of cubical shape is
ATl ) C (6"
B. (1ve)"” | O /3
33 | Cumene is
A, IsnpmpanﬂF C |soprene
| B. isopropylbenzene D. Ethylbenzene ) .
34 | Plate nnd frame filter press is classified as '
A, Continuous pressure filter | C. discontinuous pressura filter Bl
B Continuous vacuum filter | D. discontinuous vacuum filter mi
35 | A closed system is cooled reversibly from 100 *C to 50 °C. If no work is done on
the system
A lts internal energy (U) C. U decrease bul 5 is constant
decreases and its entropy
{S) increases
B._Uand S both decrease D. U is constanl but § decreases |
36 | Criterion of a chemical reaction equilibrium is that the total Gibbs Iree ENCIEy
change is
A always positive |G Zero
B, Always negative D. Mot specilically defined
37 | The surface aren of a unit mass of particles
A.  Decreases as the particle C. Remains constant as the particle size is
____ &ize is reduced reduced
B increases as the parlicle D. Decreases as the square raot of the
size is reduced equivalent diameter of particle

. O o
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38 | Maphtha in a fertiliser plant is used as a source of

A Fusl C. My I

B. H: D. Oy =
38 | Polycaprolactum i1s _ J

A, Nylon-6 ' C. Dacron

B. Nylon-66 D.  Rayon
40 | Most commonly used rubber vulcanisation agent is

A, sulphur C. Platinum N
__|B. broming L. Graphite
41 | As the reflux ratio increases, the slope of the operating line for rer:tlfl_.rmg_sec:tmn

.ﬂ. Increases C. Fv‘.amalns constant _

B decreases | D. Data insufficient, cannot be pradlcted

42 | The avernge velocity of a Newtonian fluid in a straight tube under viscous low
conditions equals W

A The Maximum velocity C. 50% of the maximum velocity
B 2!3"" of maximum velocity . 1;3‘3 of maximum velocity
43 | Nitrile rubber is produced by the polymerisation of 1
A Acrylonitrile and butadiene | C. Isobutylens and isoprene
B Acrylonitrile and styrene D. Mone ofthese
44 | Rate of a chemical reaction is independent of the concentration of reactants for a —
=== [E@ction .
A, Zero order . G Consecutive -
B. Thirdorder | D Mone of these L E
45 | A gaseous mixture contains 14 kg of N, 16 kg of O; and 17 kg of NH;. The mole
fraction of oxygen is A =
A 018 c 0.66
B. 0.33 D. 0.47
46 | Which of the following fluid flow measuring devices can measure the largest flow
rate
| A, V- notch C. Orificemeter
B. Rotameter D Weir .,
47 | Atmospheric pressure corresponds to a hydrostatic head of i
A, 13.6 emof Hg c. 1 mof water
B, 34 ft of water D. 13.6 m of Hg
48 | Number of gram equivalent of solute dissolved in one litre of solution is called its
A, Normality = C. Molality
— EI ~ Molarity D. Farmality Al
48 | The hydroxyl ion concentration in a solution ha'-.rlng pH value of 3 will be '
A 107" C. g
B 107 3 — i -
50 | A device that directly converts thermal energy into electrical energy is cafled a
A, Thermocouple s _l:_._ _ Piezoelectric device
B. Solar cell D.  Generator

- O
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1. Which cereal has a multiple layer of aleurone cells?
a) Rice by Wheat ¢) corn d) Ragi

2. What type of wheat is suitable for pasta manufacturing?
a) Hard wheat ) Soft wheat ¢)Durum wheat d) None of the above.

2 Chemical name of pectin is
a) Methaxyl ester of poly-galactouronic acid b) methyl ester of poly-galactouronic
acid ¢) methyl ester of glutamic acid d) methoxyl ester of glutamic acid,

4, Caffeine is absent in
a) Tea b} coffee c) fresh fruit juice d) eola drinks.

5, Minimum juice content in squash is:
a) 10% b) 25% o) 40% d) 60
. Lecithin is the by-product of

a) Sugar industry b)Y Wine industry ¢} oil industry d) bakery industry.

7 The manometer is used to measure:
a) fluid velocity Iy fuid density c) Nuid pressure  d) fluid viscosity

8. Kjeldahl method estimate protein in food products in terms of 1
a) Nitrogen b) Carbon ¢) phosphorus d) hydrogen. '

9, Hedonic test pertains Lo
) sensory evaluation h) total solids evaluation
c) total soluble solids evaluation d) none of the above

10, Raw material used for the preparation of Sake js:
alwheat bB)rice ¢)com d) barley

11, Preservative action of sugar in food is due to:
a) its affinity towards moisture b) greater osmotic pressurn
¢} reduced osmotic pressure o) sweetening effect

12)  Component responsible for bitterness in orange is
a) limoniene b) lycopene ¢) tannin ) peroxidase

13y Deodarisation of oil is carried out by
a) Steam distillation 1) evaporation ¢) fractionation d) drying

14)  Aerated candy is
a) Chocolate b) hard boiled candy d) lollypop d} cotton candy

15) Straight dough method is used in




a) deep fat frving b) bread making ¢) freeze drymg d) sterilization

16, IR-8, Java, Bora, pusa are the names of varieties of
a) rice b) mango ¢) rape seed d) none of the above

17, PETis: a) Polyethylene lerepthalate b) pary ethyl toluene c) poly ethylene tube
d) none of the above.

I8, "Yield stress” term is related with
a} leaching b) distillation ¢) rheology d} extractaon

19,  Bulging of can due o
a) Mo gas production  b) expansion of food product ) Na production
d) none of the above

20,  Maillard browning is due to
a) non-enzymatic browning b) Reaction of amino acid and sugar ¢) reaction of
glucose and amino acid  d) all of the above,

1. Ceic acid is
a) unsaturated fatey acid h) C-18 fatty acid d) present in il d) all of the
akhowe

22, Which of the following chemicals is a solvent used for testing fal content?
a) hydrachloric acid b} sodivm hydroxide ¢) amylnse d petroleum ether

23, Which of the following analytical methods can be used to distinguish flavour
compounads?
a) polarimetry b) gas chromatography ¢) spectroscopy d) hydrometry

24, Wij's reagent is used for determination of
a) lodine number b} Peroxide value ¢) Acid no. d) Saponification value,

25, Oxidative rancidity follow
a) free radical mechanism b} surface reaction ¢) oxidation-reduction reaction
d all the above.

26. Cy; fatty acid is
a) Myristic acid b) palmitic acid ¢) oleic acid d) none of the above.

21 Solvent extroction of oll follow
a) Diffusion process b leaching ¢) centritfugation d) osmosis.

28, Y = exp (- 1) is a:
a) linear equation b} non-linear equation ¢) quadratic eqguation
d) polynomial equation
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29, Which one is not a food packaging material
2} Polvethylene b) Polypropylene ¢) Bi-axially orienteéd Polypropylene d) acetviene.

30, Brilliant blue is a food grade
a} color b} flavour ¢) emulsifier d) bleaching agent

3l. Dewaxing is essential for
a) Margarine b) Vanaspati ¢) Chocolate d) Salad dressing.

32, Example of essential amino acid
a) Alanine b) Pheny! alanine ¢) Glyeine d) all the ahove

33, China, India, Indonesia, Bangladesh are major producer of
a) Mango b} Poultry ¢) Rubber d) paddy.

4. Animal fat is extracted by
) distillation b) mechanical extraction ¢} rendering d} none of the above,

35,  Bread dough i§ =-=-====--= in nature,
a) Viscous b) elastic ¢) Viscoelastic d) none of the above.

36.  The most heat resistant microorganism is a) Clostridium botulinum
s} Str. cremoris ¢) Saccharomyces cerevase d) Lactobacillus bulgaricus

37, Potassium metabisulfite in processed food acts  as:
a) antioxidant b) preservative ¢) color additive d) favoring compound

3%, By what mechanism dettol exerts its control of microorganisms?
a) inactivation b) pasteurization ¢ disinfection d) sterilization

39, Which one of them is o gram positive bacteria?
u) pseudomonas b) salmonella ¢) proteus d) bacillus

40, Wheat is rich in:
a} gluten b} albumin ¢) casein d) keratin,

41, Heat sensitive foods should preferably be processed:
a) below atmospheric pressure b) ot stmospheric pressure
¢) above the atmospheric pressure  d) none of these.

42, Which one of the following is a milk sugar:
,,,,,,,, a) fructose bi) sucrose ¢ lactose d) glucose

43.  The Reynolds number for turbulent fluid flow in a pipe is:
a) less than 2100 b} greater than 2100 ¢) greater than 4000 d) greater than 10,000

_—



dd.

45,

din

80"C is equal to:
a) 136F by 166F ¢} 176F d) 186F

Which of the lollowing is not an unsaturated fatty acid:
a) oleic acid  b) stearic acid ¢ linoleic. d) linolenic acid

Milk is pasteurized at.
a) 62C for 15 sec b) 72C for 15 sec¢) 32C for 15 sec d) 62C for 60 min,

47. The unit of viscosity is expressed as:

48,

41,

3.

a)erg b)Pa ¢)Pas d)N

Tomato ketchup may be classified as:
a) Newtonian h) Non-Newtonian ¢} Viscoelastic d) Mone of the above

Maost preferred material of construction in food processing equipments:
u) stainless steel b} high carbon steel  ¢) copper dy aluminium

The dimensions of A2%1/2 Can is expressed as:
a) 401=411 b)603=T00 <) 301=411 d) 211=400

— e
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1. The Thevenin equivalent voltage Vih appearing between the terminals A and B of the
network shown in Fig. is given by

K ;
"a.!"v'%" —fh
if
-
B
(@) §16(3:i4) (b) j16(3+j4)
() 16(34}4) ) 16(3-54)

I .
2. The value of B (in ohms) required for maximum power transfer in the network shown in

Fig 15

—— A

L7

fqul

e DELTE:
= a 'g-JHH! (Tj é—“
=

-+ (O
{a) 2 {b) 4
(c) 8 . () 10

3. In the cwevit of Fig., the value ol the voltage source E is

(n) -16V b4V

{e) -6y TORLRY

4. For the circuit in Fig tle voliage Vs




+ _—
TN 202y, il
4 . ,
i
(u) 2V (b1 1V
eh-1v (d} None of the above
5. The voltage ey in figure 1S
4 20
P,
51

= A8 E 0y 30
2y T E .

(a) 2V by 43 V
(c) 4V (d) 8V

. The voltage e in figure is

(a) 48 V (b) 24 V

{c) 36V (d)28 v

7 The feedback system shown below oscillates at 2 Rad/sec when k and a are

Ris) K+ 1) vis)
s34 ag? + 25+ 1

*
| - -

() K=2 and a=0.75 (b)K=3 and a=0.75
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: R
(e)K=4 and a=0.5 (d)K=2 and 4=0.5

8. A unity negative feedback closed loop system has a plant with transfer function Gis) =
1 i 4 . !

7 2oa; and # controller G(s) in the feed forward path. For a unit slep input, the transfer

function of the controller that gives minimum stead ¥ state error is

() Gefs)=
(b} fi.(5)= %

(54105447
e+ 2)s4+3)

[e) e (s)=
(d} Gofs)= 145435
| 4. I the closed loop transfer function Tis) of a unity negative feedback system is given by

| Ts) =;,,———%P'='5”"

485" 4 da, s 4a,

then the steady state error for a unit ramp input is

a)—"- {b) ==~ () 2= (dyzero

iy Tp~i A3

L0, I the characteristic equation of a closed-loop system is 574 2s+2=0. Then the system is

{a) overdamped (b} Critically damped
{¢) Under daniped (d} Undamped
Hi{1-5)

| 1. An unity feedback svstem is given as, G(s)= . indicate the correct root logus

5543}
dizgram
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(a) . th) :
' Ju Ju
3 53— —ﬁ“+$4
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[
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12, Which one of the following polar dingrams corresponds to o lag network”!

k&) tmd ) Imf
te)  wen?® ) '
ladk i it
rli'b H.‘tﬂ_ u‘b

13, A casunl LT svstem is described by the difference equation

2vin)=a vin-2)-2x{n)+{ x(n-1)

[he svstem is stable only if

(a) fa|<2. |pl<2 by a|>2, |Bl=2

(el || <2, any value of § by | | B) 2. any value of o

14, Which of the following cannot be the Fourier series expansion of o periodic signal?
fa) xith = Zpostt 3 cos M {cyx(ty=cost+ 03

(b)) ()= 2cost + T cos i (d) x(t) = 2eos 1.5xt + sin 3.5 =t
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(b) e~ ull)
(d) e~ u(-t)

If the Laplace transform of a signal y(1) is ,Y(s)=1/s(s-1), then its final value is
(b
{d) unbounded

{Rix) is the autocorrelation function of a real, wide-sense stationary random process,
wiich of the following is NOT true?

b | RiT) |£ Ri0)
d)The mean square value of process is

The probability density function (PDF) of a random variable X is-as shown below

P POF

=
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19.A modulated signal is given by s(t=m1{cos(2rf.t)+m2(Osin(2mf.where the baseband
signal mI(t) and m2(t) have bandwidths of 10 kHz and 15 kHz., respectively . The bandwidth
of the modulated signal in KHz is

Lapio (bi15 {c)25 (<130

2. The input to a coherent detector is DSB-SC signal —noise Noise at the detector output is

{a)the in phase component {bithe guadrature component

i {d)theenevelope

21. The noise at the input to an ideal frequency detector is white . The detector is operating
ahove : threshold. The power spectral density of the noise at the output is
(ajraised cosine i bhilan

i¢parabalic L ¥Craussian

22.0n a PCM system if the code word length is increased from 6 to & bits, the signal to
quantization noise ratio improves by the factor

(a)8/6 (b)12 (c)16 (d)8

23, which of the following analog modulation scheme require the minimum transmitted
power and minimum channel bandwidih

{a) V5B (BDSB-SC {c1S5H fedhAM

24.A source generates three symbols with probabilities 0.25, 0.25 0,50 at a rate of 3000
symbols/second assuming independent generation of symbols the most efficient source
encoder would have average bit rate

{2)6000 bits/second {b)4500) bits/second
(e 3000bits/ secon:d {1 300bits/ second

25.In a twin wire transmission line in air , the adjacent voltage maximum are at 12.5cm and
27.5¢m. the operating frequency is

() 300MH (b} GHz (e)2GHz
(d¥h.28CHz

26. A rectangular waveguide has dimensions 1¢m=0.5em. lis cutoff frequency is
{a)3GHZ (b} OGHZ {cH3GHZ (d)12GHz

27, A TEM wave is incident normally upon a perfect conductor , The E and H fields at the
boundry will be




i—?'

(a)minimum and minimum {eIminimum and maximum
{himaximum and maximum (dimaximum and minimum

28, A medium wave radio transmitter operating at a wavelength of 492 m has a tower antenna
of height 124m. What is the radiation resistance of the antenna?

(a)2302 {b) 36,502 {c) 5002 (d) 73862

29, The dominant mode in a rectongular waveguide 1s TE10, because this mode has

{a) no anenuntion (b} no cut-off

(¢) no magnetic field component (d} the highest cut-off wavelength

301 Inan impedance Smith chan, a clockwise movement along a constant resistance circle
FIVES rIse 10

ta} a deerease in the value of reactance
(b} an increase in the value of reactance
(¢ no change m the reactance value

(d} no change in the impedance value

i1, The clectric field on the surface of a perfect conductor is 2 Vim. The conductor 1s
immersed in water with E=B0€0. The surface charge density on the conductor 1= (€ = 10-9
(3bmiFm)

(a) 0 Cfmd {b) 2 C/m2
(e} 1B = 1011 Cim2 {(d) 1.14 = 10-9C/m2

32, The phase velocily of an electtomagnetic wave propagating in a holiow metallie
rectangular waveguide mn the TELD mode is

(a1 equal to i1s group velooity (b} less than the velocity of hight in free
Space

{¢) equal 1o the veloity of light in free space (d) greater than the velocity of hght in
free space

13, An § hit successive approximation analog to digital converter has full scale reading of
255 ¥ and its conversion time for an analog input of 1V is 20us. The conversion for a IV
input will be

ra)ll ps (k) 20 ps {e) 40 ps (d) 30 us
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34. For the ring oscillmor shown in Figure 1.12, the propagation delay of each inverter is 100
pico second. What is the fundamental frequency of the oscillator outpu?

o—so—

(i OMH. (b} 100 MHx (c) | GHz (d) 2 GH=

15 An BOBS microprocessor based system uses o 4K = 8-bit RAM whose starting address is
AADD. The address of the last byie in this RAM is

ta OFFFH (hy 1000 H ic) BOFF H td) BAOOH

36. The output of the 74 series of TTL gates is taken from 4 BIT in
() totem pole and common collector configuration

b} either watem pole or open collector configuration

{¢) common base configuration

(d} common collector configuration

AT A digitlﬂl system 15 required 1o amphify a binary-encoded audio signal. The user should be
able to control the gain of the amplifier from a minimum te a maximum in 100 increments,
The mmimom number of bits required (o encode, in straight binary is

L ()b {c)o (dy 7

38, A Boolean function £ of two variables x and v is defined as follows: 10,0y = fi0,1) =
1101, G1L0) = 0 Assuming complements of x and y are not available, a minimum cost
solution for realizing  using only 2-input NOR gates and 2-input OR gates (each having umit
gost) would have o total cost of

{2)1 unit thi4 un {ch 3 umnit pely 3 unit
39.The early effect in a bipolar junction transistor is caused by

{a} fust turh-on {h) fast turn-oft

(e} large collector-base reverse bias {d} large emitter-base forward bias

40. The intrinsic carrier concentration of silicon sample of 300 K is 1.5 = 1016/m3 . If after
daping. the number of majarity earviers is 5 = 1020/m3, the minority carrier density is

(2} 4.50 « 1011/m3 (b3 3.33 = 104/m3




-
(e) 5.00 = 1020/m3 () 3.00 = 10-5/m3

41. For an n-channel enhancement type MOSFET, if the source is connected at a higher
potential than that of the bulk (i.c. VSR = 0), the threshold voliage VT of the MOSFET will

ta) remuin unchanged (b} decrease
(&) change polarity (d} increase

42, When the gate-to-source voltage (VGS) of a MOSFET with threshold voltageé of 400mV,
working in,saturation is 900 mV, the drain current in observed 1o be 1 mA. Neglecting the
channel width modulation effect and assuming that the MOSFET is operating at saturation,
the drain current for an applied VGS of 1400 mV is

(a)0.5 mA (b} 2.0 mA (¢} 3.5 mA (d) 4.0 maA

43. The longes: wavelength that can be absorbed by silicon, which has the bandgap of
L.12eV, is 1.1um. If the longest wavelength that can be absorbed by another material is 0.87
purmy, then the bandgap of this material is

(a) 1L.416 eV (b} O.BRG eV {c) 0834 eV id) 0.706 Ev

44. The neutral base width of a bipolar transistor, biased 1n the active region, 15 0.5 pm. the
maximum electron concentration and the diffusion constant in the base ure 1014/cm3 andDn
= 25 em2/sec respectively. Assuming negligible recombination | the base, the collector
current density is (the electron charge is 1.6x10-19 coulomhb)

(a) 800 Ajem?2 {h) 8 Afcm2 (c) 200 Alem2 (d)
2 Afom2

45, A de power supply has a no-load volage of 30V, and a full-load vohiage of 25 V ata full-
load current of 1A [ts output resistance and load regulation, respectively are

(n) 502 and 20% (b} 2501 and 20%
{e) 80 and 16.7% () 2500 and 16.7%

46, An amplifier is assumed to have a single pole high frequency transfer function. The rise
time of its output response to a step function input is 35 nsec. The upper -3 dB frequency (in
MHz) for the amplifier to a sinusoidal mput 15 approximately ot

(a5 ! ih) 10 i) 20 {1286

47 The current gain of a bipolar transistor drops at high frequencies because of

(1) lransistor capacitances {b) high current effects in the
buse
(¢} parasitic inductive clements {d) the Early effect
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48 The most commonly used amplifier in sample and hold cireuits 15

(&) a unity gain inverting amplifier (b} & unily gain non-inverting amplifier
{€) an inverting amplifier with & gain ol 10 () an inverting amplifier with a gain of
LRI

49, In a negative feedback amplifier using voltage-series (Le. voltage-sampling series mixing)
teedback. (Ri and Ro denote the input and outpul resistance respectively)

(o) Ri decréases and Ro decreases (b] Ri decreases and Ro increases
i¢) Ri increases and Ro decreases (d) Ri incresses and Ro increases

50, An amplifier using an opamp witha slew-rate SR = | V/jusec has a gain of 40 dB. I this
atmplifier hus to fithfully amplify sinusoidal signals from de to 20 KHe without introducing
aniv slew-rate induced distortion, then the input signal level must not exceed.

[ah 795 mV (by 355 mV (e} 795 m¥ (d) 39.5mV

e fTETE
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A pulse train can be delayed by a finite number of clock periods using
a. aserlalin serial-out shift register
b. aserlal-in paraflel-out shift reglster
¢. a parallel-in serial-out shift register
d. a parallel-in parallel-out shift register
The 2's complement representation of (-539),, in hexadecimal is
a. ABE
b. DBC
g, DES
d. 9E7
A ane-to-four line demultiplexer is to be Implemented using a memory. How many bits must
each word have?
a. 1bit
b. 2 bits
c. 4 bits
d. 8 bits
. The time required for a pulse to decrease from 90 to 10 percent of its maximum value is
called
a. rise time
b. decay time
€. binary level transition period
d. propagation delay
Which ane of the following set of gates are best suited for parity checking and parity
generation
d. AND, OR, NOT gates
b. EX-NORor EX-OR gates
€. MAMD gates
d. NOR gates
Which ane of the following Information holds the information before going to the decoder?
a. control register
b. data register
¢ accumulator
d. address register
If we use 3 bits in the instruction word to indicate If an index register is to be used and if
necessary, which one is to be used , then the number of index registers to be used in the
machine will be
a 3
b. &
. 7
d, 8
What is the byte capacity of a drum which is 5 inch high, 10 inch diameter, and which has 60
tracks per inch bit density of BOD bits per inch?
a. 942000 bytes




b. 471000 bytes
¢. 18840 bytes
d. 16384 bytes
4 The number of bits that are typically stored on each track of a magnetic disk is usually
a. the same
b. different
¢. depend on the program to be stored
d, fifty
10, Running out of memaory may oocur due to
a, non-recursive function call
b. recursive function call
£, use of more global variable
d. none of these
1L A search begins the search with the element that is located in the middle of the

—
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a. serial
b. random
c. paraliel
d. hinary
12. Stacks can't be used to
a, evaluate an arithmetic expression in postfix form
b. implement recursion
€. convert a given arithmetic expression in infix form to its equivalent postfix farm
d, allocate resources | like CPU) by the operating system
13. To insert a node in a circular list at rear position, it should be inserted at
a, Front position
b. Front-1 position
C. Rear position
d. Rear-1 position
14, Traversing a binary tree first root and then left and right subtrees calied traversal.
a, postorder
b. prearder
C. inorder
d. none of these
15. The way a card game player arranges his cards as he picks them up one by one, isan
example of
a. bubble sort
b, selection sort
€. Insertion sort
d. merge sort
16. If there is an NP-complete language L whose complement is in NP, then complement of any
language in NP is in
a. P
b. MNP
¢. bothaandb

of the gueus.
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20.

21,
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24,
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id. none of these
Both P and NP are closed under the operation af
a. union
b. intersection
€. concatenation
d. Kinee
An automationisa ____ device and a grammar is a device
a. generative, cognitive
b. pgenerative, acceptor
C.  acceptor, copnitive
d. cognitive, generative
An F5M can be used to add how many given integers?

a. 1
b, 3
c, 4
d 5

The defining language for developing a formalism in which language definitions can be
stated, is called
a8, syntactic meta language
b, decidabke language
c. Intermediate language
d. high level language
A PDM behaves like a TM when the number of auxiliary memory It has, is
a. 0
b. 1ormore
L. & or more
d. none of these
Bounded minimalization is a technique
a. proving whether a promotive recursive function s turning computable or not
b. proving whether a primitive recursive function s a total function or not
c. generating primitive recursive functions
d. generating partial recursive functions
Type checking is normally done during
#. lexical anabysis
b. syntax analysis
c. syntax directed translation
d. code of optimization
An ideal compiler should
8. be smaller in size and take less time for compiling
b. be written ina high level language
t. produces object code that is smaller in size and executes faster
d.  all of these
When a computer is first turned on or restarted, a special type of absolute loader is
executed called
a. "Compile and GO loader




5.

7.

28,

29.

30,

3l.

3.

33.

b. Boot loader
¢. Boot strap loader
d. Relating loader
Scissoring enables
a. apan of data to be displayed
b, entire data to be displayed
¢, full data display on full area of screen
d. nodata to be displayed
Two basic types of record-access methods are
a. sequential and random
b. direct and Immediate
£, sequential and indexed
d. on line and real time
If the CPU scheduling policy is SIF, the average waiting time [without pre-emption) will be

a. 16 ms
b. 12.8ms
£. B.Ems

d. none of these
If the CPU scheduling policy is priority scheduling without pre-emption, the average waiting
time will be

a 12.8ms
b, 11L8ms
c. 10.8 ms

d. none of these
Dvirty bit is to used 1o show the
4. pagewith corrupted data
b. the wrong page in the memony
c. page that s modified after being loaded into cache memaory
d. page that is less frequently accessed
Trojan Horse
a. A code segment that misuses its file is called Trajan horse
b. good for file accessing
c. bothaandb
d. none of thase
Two programs of worm are
a. grappling hook program
b.  main program
C.  secondary program
d. primary storage
Protection against computer viruses is
a, prevention
b. practice of safe computing
¢. purchasing unopened software from vendors
d. avoiding free or pirated copies from public sources

. In a relational Schema, each tuple is divided in to fields called




35,

36,

37,

i,

41

42,

a
b.
C

d.

refations
domains
queries

none of these

If a field size is too small for the longest piece of data to be entered , then

a.
b,

[
d,

data base program will freeze
field will automatically expand
part of the data will be cut off
none of these

Subschema can be used to

a,
b.
£
d.

create very different personalized views of the same data

present information in different formats

high sensitive information by omitting fields from the subschema description
all of these

Data integrity control

a.
b.
r

d.

is used to set upper and lower limits on numeric data

requires the use of passwords to prohibit unauthorized access to the file

has the data dictionary to keep the data and time of last access, last back-up, and
mast recent modification for all files

none of these

. In a decision table if there are 3 variables and 3 rules, it implies

specification may not be complete

b. design could be faulty
. coding will be Incorrect
d, all of these

The maximum affort distribution in phases of software development is
a. regquirement analysis
b. design phase
¢, coding
d.  testing

. In object oriented design of software, objects have

a. attributes and name only
b. operations and name only
c.  attributes name and operations
d. none of these

Business application programs include
a. tax planning and preparation program
b. drill and practice programs
£, expert systems
d. all of these

The graph theoretic concept will be useful in software testing is

d,

b
i
d

Cyclomatic number
Hamultonian circuit
Eulerfam cycle
Mone of these
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47.

48,

49,
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Which of the following network access standard disassemble is used for connection station
o a packet switched network?

a X3

b. X.21
. X215
d. X.75

An example of a network layer is

a. Intemet Protocol (IP)-ARPANET

b, =.25 Packet Level Protocol 9PLP)-I50

C.  Source routing and domain naming- USENET

d. all of these
In an Ethernet network, what is the relationship between round-trip time and the collision
domain?

a. Round-trip time increases; collision domain decreases

b. Round trip time decreases; collision domain decreases

c. Round-trip time decreases, collision domain increases

d. None of these
When a protocol specifies that address of the sender must occupy the first address of the
sender must occupy the first four bytes of a message, what is the issue?

a, Syntax
b. Semantics
c. Timing

d. None of these
Decryption and Encryption of data are responsibility of
a. physical layer
b. data link layer
c. presentation layer
d. session layer
In session layer, during data transfer, the data stream responsible for the control purpose
{i.e. control of the session layer itself) is
a. regulardata
b. typed data
c. capability data
d. expedited data
MSEML is
a Microsoft language
XML parser that ships with 1E5.0
used for interacting with XML
rone of these
DOM differs from SAX?
DOM 15 not event driven and bullds up the whole memory
SAX Is event driven and requires less space
DOM and 5AX are packages
Mone of these

Hao
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Consider circuit A and 1. For what values of 1 & R respectively the curcut B s
equivalent o cirewlt A.

N ey

b
o
-_.-I (2]
A

ﬁinU
) (&)
A) 3 A, 2050 1) 54.20 0
(8] 2 A, N0 1 2A. 9042
Nogen oo
: T VY el
e Aol —thu"d

The current 1y and 1y in the above circuil are

A) | B18A, 0045454 1) 2A451TA, -1.568A
C) 0.4545 A, -1LBIZA 17} 1.56A, -2.45A

In the network shown in g, the Thevenin sowrce and the impedance across A & B
terminals will be respectively,
25

A

B
A) 0.75 Y, 1.5 4 L5V, 150
C) 1.5V, 0750 1) SOV, 1560

In the circuit shown in lig., il the :wri.u.h; 1% closed at 1 = 0, then the voltage vio' ) and its
derivative :—t‘?‘ft: u;’-'iﬂ be respectively.

1o f L, ﬂ. e [3 T

) . W

k]

Al 1DV & 50Vis Wy 10V & -50 Vi
C} 100V & 200 Vis D) 100V & -200 Vis

A three, heating unit and induction motor are connected in parallel across a 208V thiee
phase supply. Motor is tated at Shyp, {1.8pf with efficiency 0.85. Heating unit 15 rated al
1 500W, the line current will be,

Al |BSA 1) |.RSA L' 1B.5A (&) 15A

A Gaussian sphere encloses an electric dipole weithin il the total ux across the sphere is

A) Half that due t a single charge

15} Double that due to a single charge

) Dependent on the position of the dipole
m feto



g

3.

14.

15

(2)

Acurrent | flows along the length ol an mfimitely long straight thin walled pipe. Then

A)  The magnetic field s zero on the axis of the pipe

) The magnetic field is different at difTerem points inside the pipe
C) The magnetic field inside the pipe iz zero

) The magnetic field inside at all the poims is same but not zero

A hollow metallic sphere of radius 10cm is charged such that potential of its surface is
70V, The potential at the centre of the sphere would he

A) 0y H) ™ ) TV 1) 0V

The laplace transform of the function () is F(s) u{t) represents the unit step function. The
inverse laplace transform of e "Fis) 1s

Al flt) wl1=1}) H) =17 u 1) <) ft=1yui=1y D)

ey,

1

St

|

I applied voltage of o certain transformer 15 increased by 50% and frequency is reduced
by 50% (assuming thal magnetic circuit remains unsaturaled), the maximum core (lux
density will be

Al Changes to 3 times the original value B)  Changes to 0.5 times the onginal

) Changes to 1.5 times the original ) remains same

An induction motor when started on load does not accelerate upto full speed but runs at
1T of the wated Apeet. Ths moteis Aaid Ta be:

A Locking B Plugging ') Crawling 3} Cogging

The rotor power output of three phase induction motor is 15K'W. The rotor copper loss al
a slip of 4% will be

A) GOOW B HliW ) G0N 1) TOOW

Armature reaction of a synchrows generator supply power at rated voltage ang ZCro power
factor leading is

A} Magnetizing ¥ Demagnetizing
) Crogs magnetizing I3} Both magnetizing & Cross magnelizing

In a synchronous machine, damper windings are used 1o

A) Help in starting as motor

B Run it a8 an induction moltor

C) Help in starting as a motor and reduce hunting
D) Increase etficiency

A DC shunt gencrator when driven without connecting field winding shows an open
circuit terminal voltage of 12V, When winding is connected and excited the terminal
voltage drops to zero because

Al Field resistance is higher than critical resisiance
B) There 15 no residual magnetism i the cireui

C) Field winding is connected wrongly

(B} There is b fault in armature cireul
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19,
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(3)

A 2-phase servomotor in control system uses

A [Drag cup rotor

13} Solid evlindrical rolor without slois or windings
C) Ordinary squirrel cage rolor
(&) Slip ring rotor with inherent low rotor resistance

Capacitor in single phase induction motor is used for

A) Improving power factor [} Improving starting lorgue
) Starting the motor 1) Reducing harmonics

When ecxecitation of normally operating unloaded salient pole synchronous  motor
suddenly gets disconnected. it continues 1o run as

A) Schrage motor B Sphercal motor
#, Swilched reluctance motor D) Vaoriable reluctance motor

A DC shunt motor is excited from an alternating power frequency voltage source. lis
brush axis is rotated by an angle « from the geomelrical Neutral axis. The lorgue
developed will be proportional to which one of the Tollowing.

M SiT1 (£ 0E ) Lkn 41 13 co5 21
Shunt compensation in EHY line is used 1o

Al Improve stability 1) Reduce fault level

) Improve the voliage profile () Substitute for synchronous phase modifier

Corona loss increases with

Al Deerease in conductor size and increase in supply requency

B) Increase in both conductor size and supply frequency
) Decrease in both conductor size and supply frequency
(B} Increase 1in conductor size and decrease in supply Trequency

The incremental fuel cost for two generating units are given by 1C) = 25 + (k2 PGy,
ICy = 32 + 0.2 PGy where PGy and PG: are real power gencrated by the units. The
economic allocation for a total load of 250 MW, neglecting transmission loss s given by
A) PGy = 140,25 MW, PG = 109.75MW

H} PGy - 109, 75MW, PG, = 140.25MW

Ch PGy = PGy = 125MW

I PG, = T0OMW, PG = 150MW

The following sequence currents were recorded in a power system under a fault condition
bocsiahe = ] 1.653pW, Lnegative = <) Spity Lpess = -11.153pus, the Gaualt 15

A) L-(5 By S-phase ) [.-L-(3 1) All the above
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(4)
A synchronous machine having F=1.1pu is feeding an infinite bus with voltage of 1.0pu.
If transier reactance is 0.5pu, the steady stale power limif is

Ab 1.1 pu B (.55pu ) 2.2pu ¥ 2.6pu

A distance relay is said to be mherently directional i its characteristics in R-X diagram

A) is & straight line offset [rom the origin

Hy i5 A circle that passes through the origin

) 15 acircle that encloses the origin

I3} Always a separate directional relay is required

Ihe rate of rise of restricting voltage depends upon

A The type of circuil breaker

Ry I'he inductance of system only

) The capacitance ol system only

13} The inductance and capacitance of system

The eritical clearing time of a fault in power system is related 1o

A Reactive power limit £1] Short circwit current limit
£ Steady state stability limit 13 Transient stability Limit

The convergence characteristics of the Newton-Raphson method for solving load flow
problem is

A) Ouadratic 54] Linear ) Creometric [3) Cubic

If' the poles of g system lie on the imaginary axis the system will be

A) Stable B) Conditionally stable
) Marginally stable D) Linstable

For type 2 system, the steady state error due to ramp input 15 eq ual to

Al Fero 13} Finite constant
C) Infinite [} [nderminate

Ihe Mygquist plot of a system passes through (-1, j0) point in he G Gw} Hiw) plane, the
phase margin of the system s

A Infinite
H) Gireater than zero but not infinite
) Lern

(]} [.ess than zero
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A transler function of a control system does nol have pole-zero cancellation, Which one
of the following statement 18 rue?

A} System is netther controllable nor observable

%) System s completely controllable and ebservable
C) System is observable but uncontrollable
7 System is controllable but unobservahle

A property of a phase-lead compensation is that the

A) Owvershool is increased
14 Bandwidth of closed loop system is reduced
) Kise-time of closed loop system is reduced

13 Crain margin is reduced

Fwo equal vollage of same frequency applied 1o the X plates and Y plates of a CRO,
produce a circle on the screen. The phase difference between the two voltages is

A) 30) B) il ) oy [3) | 50

Consider the following statements in respect of a Wein bridge

1. It is suitable For measurement of capacitance
2. It is not affected by harmonies present in the apphied voltage
i I is suitable for measurement of freguency
which of the following statements are correct
M 1.2 and 3 B 1 and 2 g
) 2 and 3 13} 1 and 3

o achieve the oplimum transient response, the indicating instruments are so designed as to

A) Be critically damped

5y Be undamped

- Provide damping which 1s slightly more than eritical value

By Provide damping which is slightly less than critical value

Ihe capacitance and loss angle of a capacitor can be accurately measured by

Al Kelvin's bridge B Anderson’s hridge

C) Schenng bridge I Carey-Forster's bridge

A tesistance strain gauge is Fastencd to o beam subjected 1o strain of 1x107, yiclding a
resistance change of 240uL), If the original resistance of the strain gauge 15 1200 0L the
gange factor would be

A 5 fi) d L1 | (BY U2

In a single phase inducting type energy meter the lag adjustment is done to ensure that

A} Current coil ux lags the applicd voltage by 907
1) Pressure coil flux lags the applied voltage by 90"
) Pressure coil flux is in phase with the applied voltage

X - I il
B3} Current coil flux lags the pressure coil flux by 9




()

4 An over current relay having a current setting of 125% is connected to a supply circuit
through a current translormer of ratio 40005, The pickup value is

A 6,234 I [UA £ 12.5A [y 13A
41. A 12 bit A/D converter has a range 0-10V what is the approximate resolution of the
converier
Al | mV ) 25mV L) 2.5V I3} 12ZmY
42 Increase in the applied reverse voltage 1o a pen junction diode results in increase in the
Al Prepletion width 1) Harrier heighe
) Depletion width and Barrier height 1) Junction temperation
43 What 15 the main source ol distorbon in push-pull amplilier
A) Fundamental component I Second harmonic
L'} Third harmonie 1) All even harmonics

44, Whai is the simphfied form of the Boolean Expression F={X+Y) {1{1?} (X+Y)
X XY B XY ¢y XY Dy XY

43 The lower wrn off time of MOSFET when compared 1o BIT can be attributed which one
ol the tollowing

A) [npat Impedince 1) Positive Temperature CoelTicient
1) Absence ol minority carmiers 17} Un-stoe resistance
46, Negative leedback amplifier
A) Reduces gain 133 Increases frequency and phase distance
) Reduces bandwidth 1] Increase noise
47, he typical turn of! time ol a transistor 1s
A [0 see 1% fl) 1y sec £ T sec [y 40 n see
A8 Asingle phase AC voltage controller is comtrolling current in o purely inductive load. 11

Frmg angle ol the SCR 5 o, What will be the conduction angle of SCR
Al T i1 oL ) 2= I3 Pt
b A single phase [ull converter feeds power to RLE load with & = 10, L-10mH and

150V, the e source voltage is 230V, 30H. For continuous conduction what is the
average value of load current for firing delay angle of 60"

Al A63A 13} hA ) f.5A D)  3.35A

i 8 A cyclo converter led induction motor drive is most suitable for which one of the
fotlowing:-
Al Compressor drive ) Machine ol drive

) Paper Mill drive I Cement Mill drive

-—i
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1. A weight of 49 N rests on a rough horizontal plane
that has coefficlent of friction W= 0.5,
Ifg=98m/s" the smallest horizontal force that gives
the weight an acceleration of 4 m / 5% is nearly
{a) 2 M (b} 25N (e)45N (d) 9.8 N
2. Two simple harmonkc motlons are represented by the
equations
B BlEn3mt+vVIichs I
X . usln{m +"I}
Their amplitudes are in the ratio
fa] 1:2 (b} 2:3 1 e e dir:1
1, The young modulus E, the shear modulus G and the
Poisson's ratio u for a material are related by the
expression:
{a] E=2G {1+ p)
(g} E=3G (1-2y)

{b} E=3G(1- W
(d} E= 3G (1+ 2p)

., Thermal stress is generally induced in a component

when

1, a temperature gradient exists in the component

2. the component is free from any restraint

3. the component |s restrained to expand or contract

freely

Which of the following glven above is/are correct?

[a] 1and 2 {b) Zand 3

[c) 3alone {d) 2alone

At a point in the two-dimensional stress system,

g, = 10 N/ mm® and @, = T, =40 N/ mm*. What is the
radius of Mohr cirche drawn with a scale of 1 em = 10N
f i,
fa) 3Icm (b} 4cm
{c} Scm {d} &em

For general stress calculations, a eylinder is considered
thin if

fa) = = 0.075 (b) 7 < 005

(c) =< 0.02 (d) =< 001

The ratio of maximum shear stress to hoop stress in a
thin eyfinder pressure vessel is
(a] 4:1
(e).1:1

(b} Z:1
fdl 1:4

el

11

12,

13,

1ofd

. The gears employed for

The thick cylinder with internal diameter d and outside
diameter 2d is subjected to internal pressure p. Then
maximum hoop stress developed in the cylinder is

2
{a) p {b) 3P
e Tp {d) 2p
A beam freely supported at its ends carries a central
concentrated load and the maximum bending moment
is M. If the same load is uniformby over the beam
length, then what is the maximum bending moment?
{a) ™ (bl 3
© 3 {d} 2M

. A uniformly distributed load w in kN/m s acting over

the entire length of 2 3 m long contilever beam. If the
shear force at a mid-point of cantilever is § kN, what ks
the value of w?

(a) 2 {b) 3

c) 4 {d} S

The point of contraflexture in a loaded beam refers Lo

a section where

{a) the bending moment is maximum

{b)the shear force is maximum

{c) the shear force is zero

{d)jthe bending moment changes sign

A cantilever beam of effective length | carries a load W
at the free end. The maximum deflection would be [ ]
(a) wi’/3E (b} wi* el

(e] W i° f48El {d) 5w ¥ f384El

A crank of radius 12 cm is rotating at 60 rpm with an
angular acceleration of 50 rad/sec’. The tangential
acceleration of the crank is about
{a) 4.75m/s

c) 6m/s

(b} 5.2m/s

{d} 74m/s
connecting two non-
intersecting and non-parallel, i.e,, non-coplarar shafts
are
{a] Bevel gears
ic} Helical gears

(b} Spiral gears
(d] Mitre gears

. A fixed gear having 100teeth is in mesh with another

gear having 50 teeth, The two gears are connected by
an arm. The number of turns made by the smaller gear
for one revolution of arm about the centre of the

bigger gear s

(a) 2/4 (b} 3
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18,

18

21

2.

(c) 4 (d} 5
. What is the condition for dynamic balancing of a shaft-
robor system?
(a) IM=0andEF =0 (k) EM =D
fc] EF =0 (g} EM + EF =0

Where LF is the total force and EM Is the total torque
The natural frequency of a spring mass system on
garth Is aw, The natural frequency of this system on

the MOoN Bmess=Basnn/B would be
{a) . (b) 0.408 w,
(e ©.204 . (d) 0.167 w,

A shaft is rotating at a speed less than the critical
speed, The phaze difference between displacement
and centrifugal force would be

{a) O° {b) 45°

{e) 90° {d) 130°

The efficiency of a riveted joint is the ratio of
(a)strength of a riveted joint to strength of unriveted
plate

ib)shearing strength of rivet to strength of unriveted
plate

lc} crushing stremgth of rivet to strength of unriveted
plate

{d) tearing strength of plate to strength of unriveted
plate

Self locking condition for a pair of square thread screw
and nut having a coefficient of function y, lead of
thread / and pitch diameter d of thread Is given by

A
ial dh-n—u {b) d> mul
fc} d>= ul (d) dqf

The washer is genarally used to

{a) absorb shocks and vibrations

{b) provide greater bearing area

{c} provide cushioning effect

{d] fill up the axial gap and provide smooth surface

Consider the following statements regarding V' belts
V-belts are specified by their

1. nominal inside length in mm

2. nominal pitch length

3. ba¥ cross-section symbaol

4. welght per unit length of the belt

23,

24,

25,

Which of the following is correct
{a}) 1,2and3 {b} 1and22
{c) 1and3 {d} 3and 4

The minimum number of teeth on the pinion which will
mesh with any gear without interference for 14.5
degree full depth invalute will be

{a] 12 {h) 14
fc) 18 (d) 32
The thermal conductivity k and the electrical

conductivity (J of a metal at absolute temperature T are

related as

(a) 5

4] ? = constant

Critical thickness of insulation of spheres is given by
(a) k/h (b) k/4h

(c) h/f2k (d) 2k/4
Where k is the coefficient of thermal conductivity and h

is convective heat transfer coefficient

k
constant (b} o7 = constant

[d} % = constant

26, On a heat transfer surface, fins are provided to

27

i8,

29.

2of4

. For

{a) increase temperature gradient so as to enhance
heat transfer
{b} increase turbulence in How for enhancing heat

transfer
{c) increase surface area to promote the rate of heat
transfer
{d} decrease the pressure drop of the fluid
laminar conditions, the thickness of thermal
boundary layer increases with its distance (1) from the
leading edge in proportion to

fa) x i) *"

{c) X" {d) :rH

Which one of the properties given befow is an intensive
property of the system?

{a) composition [bB) volume

{c} kinetic energy [(d] entropy

The work done equals | p dv for

{a} an irreversible process

{b) unrestricted expansion

(e} non-flow quasi-static process

{d] the arrangement where work is dong on the gas as
the paddle wheel turns by a falling weight



-%-

30. A heat pump working on a reversed Carnot cycle has a

31

2.

33,

35.

36.

3t

3k

COP af 5. If it works as a refrigerator taking 1 kW of

work input, the refrigeration effect will be
{a] 1kW (b) 2 kW
] 3kw [d) & kwW

Consider the following statements

I an irreversible process

{a) entropy always increases

(b} the sum of the entropy of all bodies taking part in a
process always increases

{c} once created, entropy cannot be destroyed

Identify the correct statement wsing the codes given
bv v

fa} 1and2 (b) lLand3

[e) 2and3 {d} 1,2and3

The characteristic gas equation gV = mRAT s esentially
valid for a

[a] real gas

[c} monoatomic gas

Sificon in cast iren

[a} makes the castings unsound
{b} promotes the formation of graphite

{c) aids fusibility and fluidity

[d) makes the iron soft and easily machinable

(b} perfect pas
{d}) gases mixture

. Consider the following treatments

[a) normalising ib) hardening
{c) martempring (d} cold working
Hardness and tensile strength in austenitic steel can be

Increased by

{a) 1,2and3 {b) 1and3

fe] 2and4 {d} 4alone

The machineability of steel cannot be improved by
alloying it with

(a) silicon (b} lead

e} sulphur (d} phosphorus

Which of the following elements does not impart
hardness to steel?

ta) silicon (b] copper

(e} mickel (d] chromium
During refrigeration cycle based on vapOUr Compression
system, the heat is rejected by the refrigerant in

la) condenser (b} expansion valve
|c} evaporator (d) compressor
The property of a materal by which it can be rolled in to
sheets is called

39.

41,

43,

43,

a5,

46,

Jof4

{a) elasticity (b} plasticity

ic) ductility {d} malleability

For the real fluld moving with wuniform velocity, the

pressure

{a) depends upon depth and orlentation

(b} is independent of depth but depends upon
orientation

(£} is independent of orientation but depends upon
depth

[d] is independent of both depth-and orientation

. The centre of buoyancy is

(a) centre of gravity of the body

{b) centre of the displaced fluid volume

{e] point of intersection of the buoyant force and the
centre line of the body

(d) point of intersection of the buoyvant force and the

gravitational force

The Bernoulli's eguation refers to conservation of

{a) mass (b] momentum

{c} force id] energy

The magnitude of water hammer depends on

1. elastic properties of the plpe material

2. elastic properties of fluid flowing through the pipe

3. geometric parameters of the pipe

4. speed with which the valve Is closed

Identify the correct statement using the codes givilh
belone:

{a) 1and2 (b} 1, 3and4
[} 2and4d (d} 1,2, 3and4
The pressure drop in a pipe flow is directly proportional

to the mean velocity. It suggests that the
[a) Mow is laminar {b} flow is turbulent

[c) pipe is smooth {d} pipe is rough
. FHller metal is used in

[a) seam welding (b} spot welding

lc} projection welding [d} gas welding

in orthogonail cutting, the angle at which the cutting
face is inclined to the direction of cutis

{a) 90" {b) less than 50°

{c} between 30" and 457 {d) greater than 80°
The main purpose of boring operation as compared to
drilling i to

(@) drill a hole

(k] finish the drilled hote



(e} correct the hole
[d] enlarge the existing hole
47, Job production is characterized by
1. high variety and low volume of products
2. requirement of highly skilled force
1. highly discontinuous flow of materials and
components between work stations

4, all of above

Which of the statements made above are correct?
{a) Land2 ib} 3 and4
fc} 1,2and3 {d) 1,2and4

48. & system consists of two elements connected in parallel
and having the probability of functioning as 0.9 and 0.8
Then the stability of the system is
{a) 0.72 (k) 098
{c) 0.52 (d} 0.84

49, Product A takes 5 M/c hours and Product B takes 6
labour hours. The total time available for M/c hours is
36 , The constraint equation for this is
a) 5X + 6Y = 36 b) 5% + 6Y # 36
) 5% + BY< 36 d) 5X + 6¥z 36

50 & concatenated transformation is

a) combination of transformations
b] scaling transformation

c} translation transformation

d) shearing transformation

_..g-r_'ft. -
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Synthetic seeds of mulberry developed by BARC India are

A) Somalic embryos synthesized artificially

B) Mutated Genetic embryos for mulberry

C) Somatic embryos encapsulated in suitable matrix
D) Mutated Somatic embryos for mulberry

Cyhbrids can be obtained using which of the following

A) Fusion of cytoplasm of two cells

B) Fusion of two nuclei to generate hybrid cell
C) fusion of prokarvotic and eukaryotic cells

I3 Fusion of whole cell with enucleated cytoplast

The transgenic petunia resistant to plyphosate have pene transferred .

A) S-enol-pyruvyl-shikimat-3-phosphate synthase
B) 4-enol-pyruvyl-shikimat-3-phosphate synthase
C) 3-enol-pyruvyl-shikimat-3-phosphate synthase
D) 2-enol-pyruvyl-shikimat-3-phosphate synthase

The third amino acid in the peptidoglyean crosslinking chain is either diaminopimelic acid
or lysine because this amino acid must

A) Be positively charged for a salt bridge to form

B} Be hydrophilie

C) Have a free amino group for peptide bond formation
1)) Have a large R-side chain to fill space in the cell wall

A culture of bacteria produces § generations in 2 hours . What is the generation time for
this bacterium under those conditions.

A) 15 minutes
B) 24 minutes
C) 30 minutes
1Y) 60 minutes

A brewery industry is facing a trouble with yeast culture, The Yeast culture are growing
well on the maltose medium but are not producing alcohol. What is the most likely
explanation?

A) Oxygen in the medium

B) Carbondioxide in the medium

C) Yeast culture not capable of making alcohol

D) Maltose used in the medium not capable of producing alcohol.




Q.7 A major portion of human genome is contributed by which type of the following
BCQUENCes,

A) EXONs

B) INTRONs

C) Dispersed repetitive sequences

D) Varies [rom one organism to another one

Q.8 The term replicon describes.

A) An enzyme complex that replicates DNA

B) The DNA sequences specified and replicated

C) Proof reading activity of DNA polymerase as unil
D} Any DNA sequences in a chromosomes

Q.9 A cancer cell will show all these properties except

A) Contact inhibition
B) Hyperplasia

) Anaplasia

D) Metastasis

Q.10 . Chloramphenicol a broad spectrum antibiotic is active against

A) Gram pasitive bacteria only

) Gram negative bacteria only

C) Some Gram positive and negative bacteria
D} All Gram positive and negative bacteria

Q.11 At the end of mitotic telophase a cell contained 23 pairs of chromosomes, how many
chromatids were present in metaphase

A) 23
B) 46
C) u
D) 154

Q.12 The immunofluorescence technigue can be applied for determining macromolecular
distribution in cells by

A} Using Murochromes specific for mucromolecule

B} Using non-specific antibody against that molecule tagged with Nurophore
C) Using specific antibody against that molecule tagged with Aurophore

D) Using globally staining flurophore

Q.13 P-element transposition is responsible for:

A) hybrid dysgenesis
B) segmentation

C) parasegmentation
¥ morulation




Q.14 DNA footprinting technigue uses which of the following enzymes

Q.15

A) DNA polymerase
B) RNA polymerase
C) DNA ligase

D) DiNase |

You are asked to adopt an identiflication methadology of higher animal species through
sequence variation of eytochrome ¢ oxidase subunit | mitochondrial region. This strategy
is termed as

A) Barcoding

B) DNA sequencing

C) Organelle speciation

D} Mitochondrial blebhing

Q.16 All of the following viruses are potential cloning vehicles for applications in mammalian

cells except

A) Simian virus 40
B) Adenovirus

C) Retrovirus

) Baculovirus

Q.17 The data sets that are most commonly used for generating a phylogenetic tree in a given

set of organizsms is based on all, except

A} Habital of organism
B} DMNA sequences
€} Anatomical features

D) polvpeptide sequences

Q.18 Ultra filtration process can be used for all the following except

ﬁu} Selective removal of salts

BJ Selective removal of solvents
3 Fractionation of proteins

D) Harvesting of cells

€2.19 In Medelian inheritance study of a pair of alleles it was found that dominant

and recessive alleles expressed itself together, this can be termed as?

A) Dominance

B) Codominance
C) Pseudodominance
D} Amphidominance




.20 You are asked to isolate DNA from bacteria, which of the following enzymes
would not be required by you?

A, Lysozyme

B. Ribonuclease

C. Deoxvribonuclease
B. Mrotease

(.21 In order to reuse and recycle the enzymes in the bioprocesses which of the
following reactions would be beneficial o you

A. dehydration
B. Immobilisation
C. autoclaving
D. Pemeation

.22 The unit of radioactive decay constant is

A. Becguerel
B. milivolls
C. Ram

. Amperne

(.23 You have been assigned to modify the enzymes for industrial purpose, which
of the following process would you use

A. mutagenesis

B. Antisense RINA

C. Global chemical inhibitor
D, Gene trapping

.24 In a continuous culture the bacterial population is maintained ina ___growth
phase

A. Lag phase
B. Log phase
C. Stationary phase
D. Senescense phase

).25 Which of the tollowing is used as biological indicator Spore Testing procedure

A. Bactllus stearothermophilus
B. Hactllus subfilis

C. Penccilium

D, Pischia pasioris




Q.26 In order to calibrate pH meter with glass electrodes which of the following standards are
used?

A, pH 0.1

B. pH 4.008

C. pH 14.001

D. pH 0.1, 4.008 and 14,001

Q.27 The technique of Electroporation facilitates the introduction of foreign DNA into the
target cell by

A, Active transport across the cell wall

B. Passive transport across the cell wall

C. Changing the transmembrane proton pump
D. Changing the transmembrane electric potential

.28 High value of Biochemical Oxygen Demand means

A. Highly pure water

B. Highly contaminated water
C. MNormal Water

D. Partially distilled water

€1.29 To identify self DNA from non-self DNA, the non —self DNA would be

A. Hypermethylated
B. Hypomethylated
C. Hyper phosphorylated
D. Hypophosphorylated

(.30 Youare asked to separate two proteins in a cell lysate, which of the following technique
would yvou use

A. Yeast two hybrid system

B. Yeast one hybrid system

C. Serum based chromatography

D. Anti Serum based chromatography

.31 Nick translations is brought about by which of the following.

A, DNA Polymerase |

B. DNA polymerase [l

C. Pepetidyl transferase

D. Aminoacyl tRNA synthetase



(.32 Defective mBRNA synthesis of the terminal end in eukaryotic system compromised the
level of protein synthesis under in vitro system. How would you solve this problem.

A. By providing correct Kozak Sequence
B. By adding correct polyA tail

C. By adding correct homeadomain

D. By adding chaperons

€).33 Acration in a boreactor is provided by

Impelier
Bailes
Sparger
propellar

Q34. A novel sea orpanism was identified giving blue luminiscense. For observing the true
expression of the gene responsible for this character which of the following strategies
will you follow?

A,

1.

Isolate the genomic DNA from the organism and directly injecting to bacteria, sereen
colonies for bioluminescence,

Isolate the genomic DNA from the organism, treat with DNAse |, followed by
restriclion endonuclease treatments and transtorm into eukaryotic cell such as yeast,
screen colonies for bioluminescence,

. Isolate the mRNA from the organism, reverse transcribe and generate cDNA,

transform the virus and screen colonies for bioluminescence.

. Isolate the mRNA from the organism, reverse transcribe and generate cDNA, inserl

inta a plasmid vector and transform into eukaryotic cells such as yeast screen, colonies
for bioluminescence.

(35, In a DNA molecule guanine is 26 %. Percentage of adenine would be

A

B.

2

.

2%
24%
S6%
206%

(.36 In biotechnology which of the followings is patentable

A. An inventive step

.

C.
.

Commercially viable product
Easy accessible product
Different appearance to same item.



Q37. BLAST output lists the hits ranked by their E value, All of the following statements are
true for E value, except?

A} The values are ranked in ascending order,

B) The lower the E value better is the malch

C) The closer to © the E value is the less likely it occurred by random chance
D) The E values are ranked in descending order

Q.38 Photographic film badge monitoring devices are unable to detect

A) Neutrino particles
B) Beta particles

C) Gamma rays

D) X-rays

.39 Which of the following does not represent a receptor

A} receptors are strictly membrane bound

B) receptors transfer the outside signal to inside for a physiological effect
C)  receptors are both membrane bound and evtosolic

D} receptors are glycoproteins.

Q.40 Hybrid —release translation (HRT) depends on the ability of mRNA to direct synthesis of
prodeins in

A) Cell free translation systems

B) Translation in the cell

C) Translation in intact animals

D) Translation in cell as well as cell free system

Q.41 Gene therapy for inherited diseases is being done by

A} Germline therapy or gene injection

B) Somatic cell therapy or gene injection

C) Germling or somatic cell therapy both

1) Germline , somatic cell and pene injection

.42 Biotechnolgy companies Calgene and 1C1 Seeds used which of the following techniques
o genetically engineer tomatoes

A) Gene knockouts

B) Transgenesis

) Antisense technology
) Mutagenesis




(143 cecDNA stands for

A) Completely closed circular DNA
) Covalently closed circular DNA

C) Completely covalent closed DINA
¥y Covalent closed centromeric DNA

Q44. You have planned to insert 20 kb fragment in & phage. How many clones will be reguired

fo represent 95% probability of including gene of interest if the total genome size is 2.8
x10° kb,

A. 4.2 x 10° clones
B. 1.4 x 10° clones
C. 1.4 x 104 clones
. 8.2 x 106 clones

Q45. Michaelis and Menten assumed that the overall reaction for an enzyme-catalyeed
reaction could be writlen as
ki k2
E+8< =+ ES = 3
k-1
Using this reaction, the rate of breakdown of the enzyme-substrate complex can be
described by the expression:

A. kI ([Et] - [ESD[S]
B. k-1 [ES] + k2 [ES]
C. k2 [ES]
D. k-1 [ES]

Q46. Based on their functions T cells are classified into following except

A, Cytotoxic T cells
B. Helper T cells

C. Suppressor T cells
D. Syngenic T cells

Q47. The conversion of NAD+ 1o NADH is an exam ple of reduction because

A, the pyridine ring loses electrons {and a hydrogen).
BB. the pyridine ring gains electrons (and a hydrogen),
C. the adenine ring loses electrons
D. the adenine ring gains electrons,



Q48. What is the term used for the automated i vitro testing of large numbers of compounds
using genctically modified cells?

A. DNA based Microarrays
B. High throughput screening
C. Multiscreening

D. Proteins chips

Q) 49. An BNA molecule that is the reverse complement of a naturally occurring mRNA

A s RNA

B. hin KMA

C. sno RNA

. Antisense RNA

50, During end of which cyele of PCR vou would observe the right size product for the first
time.

A 30" cyele
B. 3" cycle
C. 2" eycle
0. 9" cycle

e
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A structure has two degrees of indeterminacy. The number of plastic hinges that would be
formed at complete collapse is

al] O
b) 1
) 2
dl 3

In case of two-way slab, the deflection of the slab is

al Primarily a function of the long span

b} Primarily a function of the short span

¢} Independent of the span, long or short

d} Mostly long span but sometime short span

A relnforced concrete beam of 10m effective span and 1m effective depth Is supported on
500mm X 500mm columns, If the tatal uniformly distributed load on the beam is 10 MN/m, the
design shear force for the beam is

al] 50 MN
b) 47.5MN
¢l A75MN
d) 43 MN

A think of 10mm diameter is subjected o a tensile force of 7850 N, What are the principal
stresses and maximum shear stress?

aj 7O MPa, 50 MPa, 10MPa

bB) 100 MPa, Zero, 50 MPa

c) 100 MPa, 50 MPa, 25 MPa

d) 100 MPa, Zero, Zero

Which one of the following staterments |s correct?

An indeterminate building frame may be converted to a determinate one by assuming
3] Hinges at mid-height of columns

b} Hinges at the mid-span of the beams

¢} Hinges at both mid-height of columns and mid-span of beams

dj) One support as fixed at base and other support on rollers

Which one of the following statements is correcty

Diagonal tension reinforcement is provided ina beam as

a) Longitudinal bars

b) Bent up bars

c) Helical reinforcement

d] 907 bend at the bends of main bars

What is the quantity of cement (in kg) and of dry sand {in cubic metre) respectively required for
preparing 1 cubic metre of wet cement mortar of 1:5 propartion?

a) 270 and 1.00

b} 290 and 1.05

€} 290and 1.00

d} 310and 1.05




10.

11.

12

13.

-

Slump and compaction factors are two different measures of workability of concrete, For a
slump of O to 20 mm, what is the equivalent range of compaction factor?

a) 0.50-0.70

b] 0.70-0.80

c] 0.80-0.85

d} 0.B5-0.92

What is the value of flexural strength of M 25 concrete?

ay 4.0 MPa

b} 3.5MPa

g} 3.0MPa

d} 1.75 MPa

Why are tie plates provided in laced columns?

a) Tocheck the bucking of column as a whole

b) Tocheck the buckling of the lacing flats

c) Tocheck the buckling of the camponent columns

d) Tocheck the distortion of the end cross sections

What is eutrophication of lakes primarily due to?

a) Multiplication of bacteria

b] Excesshea Inflow of nutrients

£} Increase in benthic organisms

d) Thermal and density currenis

Which one af the following is the purpose of providing the downstream pile in a barrage?
a) To contral fallure due to piping by high value of exit gradient

b] To control failure due to scour

c) Tostop failure due to sliding

d] To stop failure due to uplift pressure

A road surface is corracted by spreading a layer of dry sand in a thickness varying from 5 mm to
10 mm and rolling the surface by heavy rollers. Which one of the following maintenance works
does it apply to?

a) Repairof ruts and patches

b} Repairing of blow ups

t} Repair of bleeding surface

d} Sealing of joints and cracks



14.

15.

16.

17,

18,

i .

tatch List-| with List-1l and select the correct answer using the code given below the lists;

List-l List-fI
(Type of Construction) {Binder Content Generally Specified)
A, Bituminous macadam 1. 8-15%%
B. Dense bituminous macadam 2. F35%
.  Bituminous concrate 3. 4-4.5%
D. Bitumen mastic 4, 4,5-6.0%
Code:
A B C LB
a) . 1 4 e
b) 4 3 2 1
c) 2 3 4 1
d) 4 1 2 3

Aright-angled triangular channel, symmetrical in section about the vertical, carries a discharge
of 5m’fs with a velocity of 1.25m/s. What is the approximate value of the Froude number of the
flow?

al 0.3

b)] 04

o B 0 5.

dl 0.6

& river model Is constructed t a harizontal scale of 11000 and a vertical scale of 11000, A model
discharge of 0.1m*/s would correspond to a discharge in the prototype of what magnitude?

a) 10°mifs

b) 10'm'/s

c) 10"m'fs

d] 107 mifs

Which one of the following is the correct statement?

A streamlined body is one for which the

a) Skinfriction is zerg,

b} Thickness of the body is less than1/100 of its length.

¢} Cormers are rounded off,

d} Separation occurs, if at all, at the farthest downstream part of the body.

A machine in a steel plate fabricating industry is found to be producing a sound level of 50 dB.
in the expansion plans one more such machine needs to be added. What will be the combined

noise level?

a) B0-1004B8
b} 101 -150d8
£] 51-70dB
d} 40-50d8
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Consider the fallowing statements:

On addition of lime to.a clay soil, generally

1. MWLDD and strength both increase.

2. M.D.D. decreases but strength increases.

3. M.D.D.and O.M.C. both increase.

Which of the statements given above is carrect?

a) 1onky

b 2 only

¢l 3 only

d] Mane of the above

What is the normal depth In a wide rectangular channel carrying 0.5 m’/s discharge at a bed
slope of 0.0004 and Manning’s n=0.017

a) 0.13m

by 0.32m

ch 043m

d) 0.50m

The rainfall hyetograph shows the variation of which one of the following?
a) Cumulative depth of rainfall with time

by Rainfall depth with-area

c] Rainfall intensity with time

d} Rainfall intensity with cumulative depth of rainfall

The duty of a crop is 432 Is hectares/cumec, when base period of the crop is 100 days. Delta for
the crop will be

a) 132

b} 200

e} A6

df 854

In Dgee shaped splllway, discharge is proportional to

a) H

b) H

O s

d) H

The moisture tension for a soil is 8 atmospheres. The soil is then at
a) Permanent wilting point

b} Field capacity

¢} Optimum moisture content

d} Equivalent moisture
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A water treatrnent work treats 6000 m” of water per day. If it consumes 20 kg chiorine per day,

then chorine desage would be

a)  2.33 mg/lit
b) Smg/iit
e) 4mg/lit
d) 3.33 mg/fiit

Under natural conditions of flow an unpoliuted river would contain

al Mare dissolved oxygen in summer than in winter

b} Less dissolved oxygen in summer than in winter

c) Maore or less the same amount of dissolved oxygen in winter and summer.
d} Least amount of dissolved oxygen during the floods.

Under Indian conditions, the average per capita contribution of BOD is

a) 10to 20gm/d

b] 20to 35gm/d

t) 35to50gm/d

d) 50to 70 gm/d

If diameter of the main pipe is taken less than economic diameter, then

a] Head loss will be high

b} Cost of pipe will be less

c} Both{a)and (b)

d} Mane of these

In a high-rate trickling filter, the problem of ponding can be solved by

a) Flooding and raking

b) Chiorination and supply of air

t) Raking and chlorination

d] Flooding and supply of air

In aerabic conditions the microbial decomposition of organics results in the formation of
a) Stable and objectionable end products

b} Unstable and objectionable end products

¢} Unstable and acceptable end products

d} Stable and unobjectionable end products

What s the coefficlent of friction needed if no super elevation is provided for a horizontal
circular curve of radius 190 m and design speed of 65 kmph?

a) 0.155
b 0.165
¢) 0.175

d] 0.185
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For a constant value of coefficient of lateral friction, the value af required super elevation
increases with

a) Increase in both speed and radius af curve

b} Decrease in both speed and radius of curve

c] Increase in speed and with decrease in radius of curve

d} Decrease in speed and with increase in radius of curve

Which of the following pair is nat correctly matched?

Quallty G.1. Value

a) Good . 0-1

bj Fair - 2-4

£} Paor - 59

d) Very poar - 10-35

The specific gravity of paving bitumen as per 15:73-1992 lles between
a) 1.10and 1.06

bj 1.06and 1.02

¢) 1.02and0.97
d) 0.97 and 0.92

Aggregate impact value indicates which of the following property of aggregates?
a) Durability

b) Toughness
c) Hardness
d] Strength

Compensating errors in chaining are

a) Proportional to the length of the line

b) Proportional to the square root of the length of the line

¢} Inversely propartional to the square root of the length of the line
d] Inversely proportional ta the length of the line.

Sag carrection is always

a) Posithve

bl MNegative

g] Zero

d) MNone of these

The best method of interpolation of contours in Direct method of contouring is by
a) Computations

b} Interpolation

¢) Estimation

d] None of these

. Angle of intersection of a curve is the angle between

a) Forward tangent and long chord
b} Back tangent and long chord

r) Back tangent and forward tangent
d) None of these
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If unit cohesion of a saturated clay is 1 kg/em’, then net ultimate bearing capacity of a square
footing in this clay will be approximately

al 2t/m*

b} 10t/m®

c] 15t/m’

d) ant/m’

The void ratio and specific gravity of a soil are 0,65 and 2.72 respectively, The degree of
saturation (in percent) corresponding to water content of 20% Is
a) 65.3

b) 209

c) 837

d) 54.4

Plate load test is useful to estimate

a) Bearing capacity of foundation

b} Settlement of foundation

c] Both bearing capacity and settlement of foundation

d) Depth of foundation

In the Bernoulli equation, used in pipe flow, each term represents
a) Energy per unlt weight

b] Energy perunit mass

c) Energy per unit volume

d) Energy per unit fow length

. A wide channel is 1 m deep and has a velocity of flow V, as 2,13 m/s. if disturbance is caused, an

elementary wave can travel upstream with a velocity of
al 1LO0Dmfs

b} 2.13m/s

c] 3.13m/s

d] 5.26m/s

What is the ratio of the lift coefficient to drag coefficient of an aerofoil section at stall?
g} 1.5

bl 3

¢ 15

dj 30

ldentify FALSE statement from following:

Specific speed of the pump increases with GATE

a) Increase in shaft speed

b} Increase in discharge

¢} Decrease in gravitational acceleration

d} Increase In head
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Crude oil of kinematic viscosity 2,25 strokes flows through a 20 cm diameter pipe, the rate of

flow being 1.5 litres/sec. the Reynolds number will be
a) 624.29

b} ¥az2.9

cj 424.4

d} 26.296

S-hydrograph is used to obtain unit hydro-graph of

a] Shorter duration from longer duration

b) Longerduration from shorter duration

¢} Both[a) and [b]

d) None of these

Specific capacity of a well is

a) Constant over time after commissioning of the well
b) Increase with time after start of pumping

c] Decreases with time after start of pumping

d) May increase or decrease, depending upon a particular aquifer
Rainfall mass curve shows the variations of

a) Rainfall intensity with time

b} Rainfall intensity with cumulative rainfall

¢} Rainfall excess with thme

d] Cumaulative rainfall with time

— 2 fE -
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Any question a researcher wants 1o be answered can become
A} A hypothesis B) A research problem
C) A rescarch design 3} Conclusion and suggestion
The source that a rescarcher cannot use Lo prepare 4 iblhiography s
Ad Library ) Books
Ch Journals (B]] Report/ periodicals
In the standardized interview
A) (uestions are pul to selected standard persons
R Different gquestions are put 1o all the respondents
) Some questions are pul to all the respondents

17y Different open ended questions are put to all the respondents

According 1o *Hypothesis is a proposition which can be pul to test to determine
its validity™. Fill in the blank in the above statement with the right option which is

A) Webster's New Imternational Dictionary By Girinelle

) Groode & Hale [y Creorge A, Lundberg
Sampling method is used by a researcher when

A) Information 15 1o be collected from small area

i) Population to be studied is hetrogenous

C) [t 15 possible to adopt census method

[} Hundred per cent accuracy is not required 5

As compared to “non-doctrinal’ research, ‘Doctrinal research requires

A) Sufficient amount of money B} Sufficient time

) Empincal study (B} Giood Library

Which of the following statements is *Correct’ with respect to “Survey™

A) There is direct contact with the people who are to be studied

B) It is suitable for rescarch problem that requires the study in the historical retrospecti
) It requires small amount of money

D) It is not time consuming

Chatrman of the Law Commission of India is
Al Honble Mr, Justice [2.K. Jain B Hon'ble Mr. Justice Ajit Prakash Shah
) Honble Mr. Justice .M. Lodha 13) Hon'ble Mr. Justice T.5. Thakur

“Schedule” as a method of data collection does nol require
A) Crood amount of money B Well truined ficld workers
C) Sufficient time 13} Educated respondents

Which of the following is not a characteristic of a good questionnaire
A) Manageable size of the questionnaire

Hi Clear and elaborate questions

) Well arranged questions

13 Short and precise questions
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Croveror o a stale holds office

A) For o term of five years Hi For a term of four years

& For a term of six years I3 During the pleasure of the President
lelengana is

A) 27" State of India B) 28" Swtc of India

) 29" State of [ndia ) 30" State of India

A judgement delivered by the Supreme Court recently in 2014 1n NALSAR Vs, Union of
India relmted 10

Al Rights of ¢hildren B Rights ol women
) Rights of rape victims D) Rights of trans genders

Linder the Natonal Food Secunty Act, 2013, *food grain” means

A Rice
13 Wheai
) Rice, wheat coarse grain

¥ Rice, wheat, coarse grain or any combination thereol.

Crrminal Law (Amendment) Act, 2013 provides for the amendment of

A) Indian Penal Code and Criminal Procedure Code

1) Criminal Procedure Code and Protection of Children from sexual offences Act
2m2

) Indian Evidence Act and Indian Penal Code

3] Indian Penal Code, Criminal Procedure Code, Indian Evidence Act, Protection of
Children from sexual offences Act, 2012

A Women who has been assaulted by a man with an intent to outrage her modesty can
imvoke which of the following section of Indian Penal Code

Al Sec. 352 B Sec. 353 ) Sec. 354 [y Rep, 335
Law Mimister of India s

Ad Mr. Arun laitely 1) Mrs. Sushma Sawraj

) Mr. Ravi Shankar Prasad D) Sh. M. Venkaiah Naidu

Novarits A.G. Vs, Union of India, a much awaited judgement delivered by the Supreme
Court in 2013 related 1o
A) Designs 3 Copyright £ Patent (B] ‘T rademark

“Agerieved women™ who has been subjected t o any act of sexual harassment under the
‘Sexual Harassment of women at workplace (Prevention and Redressal) Act, 2013 means

Al An emploved women of any age

1 An emploved women above the age of eighleen years
) A women of any age

L3 An employved women above the age of sixteen vears

Chairman of the National Disaster Management Authority of Government of India 15
Al President of India B) Prime Minister of India
[ Home Mimster of India ) Mimister of Environment and Forest ot
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4l "...When there are two competing human rights namely human rights
for the religious minorities and the human rights for development,
having regard to the economic and national interest of the country in
the matter of admission of students, the latter should be allowed to
prevail subject to protection of the basic minorty rights”, This was
observed by the Supreme Court in the case of:

A) T-M.A.Pai Foundation v. State of Karnataka (AIR 2003 SC 335).

) g.!';gfﬂ Academy of Education v. State of Karnarka (AIR 2003 SC
y:

¢) PAdnamdar v, State of Maharastra (AIR 2005 ST 3236).

D) St John's Teacher Training Institute (For women), Madurai v, State
of Tamil Maidu (AIR 1994 5C 43)

22 Doctrine of Legitimate Expectation was invoked by the Supreme
Court in the case of:

A) Confederation of Ex-Servicemen Association v, Union of India (AIR
2006 5C 2945),

B) Debesh Chandra v, Union af India (AIR 1970 8C 771

L) AC Jase v. Sivan Pillai (AIR 1994 SC 921).

Dy Rawjit Thakur v. Union of India (AIR 1987 5C 2138).

23 “Compelled Speech is a part of the fundamental right to free speech
and expression,” ruled the Supreme Court in the case of:

A) PUCL, v, Union of India (AIR 2004 SC 456).
gy Unian of India v. The Motion Piciure Assoctation (AIR 1999 5C

2334).
£ Union af India v, Asseciation For Democratic Reformy (AIR 2002 5C
2112).

) Life Insurance Corporation of India v, Prof. Manubhai D, Shah (AIR
1993 SC 171).

24 In which one of the following cases, the Supreme court applied Article 349
() while deciding the issue regurding rehabilitation of child prostitutes
and children of prostitutes:

W) Vishalieer v, Union of India (1990) 3 SCC 318,

& People’s Union For Demecratic Rights v. Union af India (1982) 3
SCC 235,

C} State of Punjab v. Ramdev Singh (AIR 2004 SC 1290).

1) Suchita Shrivastava v. Chandigarh Adminisiration (AR 2010 8C
235).

25 In which of the following case, the Supreme court held that the
Constitutional Amendments by which Articles 16 (4A) and 16 {4B)
have been inserted, flow from Asticle 16(4) and do not violate the
basic features of the Constitution:

1) Indra Sawhney v. Union of India (AIR 1993 SC 447),
) Union of India v, Virpal Singh (1995) 6 5CC 34,

£} M. Nagraj v, Union of India (AIR 2007 5C 71).

D) Ashok Kumar Thakur v, State of Bifier (1995) 5 S5CC 403,

%  The Constitution (94™ Amendment) Act, 2006, which amended
A Article 164 of Constitution deals with:

A} Number of ministers and their percentage in a Stale.

MNumber of ministers and their percentage in Lok Sabha.
¢y Number of ministers and their percentage in Council of States
1) Number of members and their percentage in Rajya Sabha.
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What s the main objective of the Muslim Women (Protection of Rights on Divoree) Act,

A} To protect the rghts of Muslim men
B lo protect the rights of Muslim women who have been divorced
C) o protect the rights of Muslim women at the time of marriage and divorce

[2} All the above

In which year the Mussalman Wak{ validating Act. was permid?
Ab 1913 By 1950 Cy 1987 m 2013

Whe among following Not a *Sharer’ according to the Sunni Law of inheritance?

A) Father B) Wile £ Mother (B ] Son

Whe among the following is disgualified on heir under section 25 of the Hindu Succession
Act, 19567

A) Who commits murder
13} Who desserts Hindu Religion
C) Who commils fraud against coparcenary

[} All the above

Which of the following guardian can not deal with the protecting of the minor? {under the
Fiingdu Minority and Guardianship Act, 1956)

A) Natural B Appointed by Court

C) Dee-factp 1 Appointed through Will

Who among the following is entitled to claim maintenance under Hindu Adoption and
Maintenance Act, 19567

A} Hindu converted to any other religion i) Hindu only

) Meither A nor B above Dy Baoth A and B of the above

Kumar Mangatam Birla commitiee on corporate governance submitted its final report in
Al Jan, 1999 1) Feb, 1999 ) Jan, 2004 [} Feb, 2000

Chairman of the competition commission of India holds office for the term of

A) 7 years 3 B years C) 5 years ) 4 years

The sums realized by way of penalties under SEBL Act, 1992 will be credited into

Al Contingency Fund of India B} Consolidated Fund of India
) General Fund of SEBIT (B} Investors Weifare Fund
Who among the following has been appointed as the chairman of SEBI?

A Mr. C. Bhave 3} Mr. UK. Sinha

[ Mr, 0P, Bhatt I Mr. Divakar Gupta
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Limited Liability Partenership Act received the assent of president on

Al 7 Jan, 2009 15} 9 Jan, 2009
L) 10 Jan, 2004 12} 7 lan, 2008

Capnal Market regulator is
Al RBI By IRDA ) SEBI By NsE

A loreigner 15 punushable for an offence commutted

Al In Indlia oniy B O i vessel registered in India only
L) Both A and B above 1) Mione of the above

Under Incian Pepal Code, court of Justice means
Al Aludge B) A body of Judges
Cy A judge to act Judicially alone [}  Mone of the above

Death Penalty as a punishment 1s not provided Under Indian Penal Code for an offence

A) Under Seetion 376-A (Rapes’ Sexual/assault)

Bi Section 305 (Abetment of suicide of chuld or msane person)
) Dacoity 395

i Kidnapping for ransam (364-A)

Mistake of fact 15 excused under

A) Section Th, 78 B Section Th, 79
C) Section 77, 78 {3 Section 78, 7Y

A nstigates B 1o murder C.B. refuses 1o do so, what offence if any A has committed.

A) Conspiracy for murder 1) Abetment for murder
) Both A and B above ) Mone of the above

Mutch items of Group *A” with Group ‘B’ and {ind the appropriate answer

Sr. Group A’ Group ‘I
I | State of Punjab Vs Gurmit Singh AIR | A) | Pre natal sex determination test
paveiSL IS
2. | DK. Basu V. Staie of W.B. AIR 1997 SC | B) | Custodial vinlence is violation

al0 ) | of Article 21 of Constitution
3. | Dhanamjay Chatterjee V. Union of India | ) | Trial in camera in rape cases
T R | ; .
| 4. | Centre for Enquiry into health and allied | 1) | Death Sentence
themes V. Union of India AIR 2003 5C
A)  2A4-R. 5D, 1-C B 1-C, 2-8, 3-13, 4-A
C) 1-B, 2-C., 3-12. 4-A 13 3-A.4-B;2-D, 3-C
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“I mean, then, by Gieneral Junisprudence, the science concerned with the expaosition of the
principles, notions, and  distinctions which are common to systems of law; understanding
by systems law, the ampler and mature systems which, by reason of their amplitude and
maturity, are pre-eminently pregnant with instruction™ sand.

Al Holland B} Dworkin ) Austin m Bentham

“If the laws are two severe, the power of pardoning is a necessary corrective, but thit
comrective is itself an eval_.. 11 the punishment is necessary, it ought not to be remitted; if
i1 is not necessary, the convict should not be sentenced 1o undergo #t™. remarked,

A) Beccaria B Justice K. Iyer

') Bentham ) Lombrosa

“IThe creative power of the counts 15 limited by existing legal material at their command,
Ihey lind the material and shape it the legislature may manufacture entirely new
makerial,” Said.

A) Holmes Y Ciray ) Cardozo ) Allen
Who said. “Whether the possession of one thing will bnng with it the possession of

another that is thus connected with it depends upon the circumstances of the particular
Cise.

A) Holmwes ) Dias (& Salmond Iy Savigny

“I<ach persom is 1o have an equal nght w the most extensive total system of equal basic
liberties compatible with a system of Liberty for all.” observed.

A) Kant B Tohn Rawls () Dworkin (8] Pound

“Fvery legal system is oriented towards certain purposes which it seeks o implement. In
this sense, every legal system is a *purposeful enterprise™. smd.

A lhering Iy Pound ) Friedmann 1 Bentham

X=X=X
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I. For the mid-values given below,
25,34, 43, 52,61, 70

The first class of the interval is:
(A)24.5-34.5

{B)2534

(C)20-30

([2)20.5-29.5

2. In an exclusive type distribution, the limits excluded are:
(A} lower limils

(B) upper limits

(C) either of the lower or upper

(D) lower limits and upper limits both

3. Which of the following is a one-dimensional diagram?
(A)Bar diagram

(B) Pie-chart

(C) Cylinder

(DA graph

4. The graph of the successive points of a distribution joined by straight lines in
statistical terminology is known as:

(A) frequency distribution

(B) frequency curve

(C) trend

(D) cumulative distribution curve

5. Pie-chart represents the components of a factor by:
{A) percentages

(B)angles

(C) sectors

(D) circles

6. It is necessary to find cumulative frequencies in order to draw a/an:
(A)histogram

(B) frequency polygon

(C) Ogive curve

(D) column chart



7. Which of the following represents median?
{A)First quartile

(B} Fiftieth percentile

{C) Sixnth decile

(D) Mone of the above

8. If each observation ol a set is multiplied by 10, the mean of the new set of
observations:

{A)remains the same

(B)is ten times the original mean

{C) is one-tenth of the original mean

(D)1 increased by 10

9. Ifeach value of a series is multiplied by 10, the median of the new set of
observations is:

{A)not affected

{B) 10 times the original median value

{C) one-tenth of the original median value

(D) increased by ten

10, If the grouped data has open-¢nd classes, one cannot calculate:
(AYymedian

iBimode

(C)ymean

(D) quartiles

11. The correct relationship between AM., G.M. and H.M. is:
(A1AM=G.M. =H.M.
(BIG.M.= AMzHM.
{(CYHM2G.M.= A M.
(DMAMEGM. =H.M.

12. The value of the variable corresponding to the highest point of a frequency
distribution curve represents:

{A)mean

(B}median

(C)mode

{D) none of the above

13. Mean deviation is minimum when taken from:
(A)mean

{B) median

{Cymode

(D) zero




14. Sum of squares of deviations is minimum when taken from:
(&) Mean

(B) Median

(2 Mode

(D) Zero

I5. Which measure of dispersion has a different unit other than the unit of
measurement of values:

{A)Range

(B) Mean deviation

(C) Standard deviation

(D) Variance

16. For a negatively skewed distribution, the correct relation between mean, median
and mode is:

{A)Mean=median=mode

(B} median=mean<=mode

(Cmean<median<mode

(Dymode<mesn<median

17. For a set of values:

{A)mean deviation is always less than standard deviation
{Blmean deviation is always greater than standard deviation
(Chmean deviation is always equal to standard deviation
(D)none of the above

i8. If A and B are two events, the probability of ocourrence of either A or B is given
as:

(AYP{A+P(E)

(B) P{ALB)

(CIP(ANB)

(D) PANP(B)

19. The definition of statistical probability was originally given by:
(A)De Moivre

(B) Laplace

(C) Von-Mises

(D) Pascal

20, If A, B and C are three mutually exclusive events, the probability of their union is
equal to:

(a) PLAP(B)IP(C)

(b) PAHRBHP{C)-P(ABC)

(c) PAYR(BY+P(C)

{d} P{A) P{B}+P(B) P{C)*+ P(A) P{C)




21. An um contains 5 red, 4 white and 3 black balls. The probability of three balls
being of different colours when the ball is replaced afier each draw is equal to:

{A)3/144

(B14/144

(Craild4

(D)1

22, If X and Y are two random variables such that their expectations exist and
P(X<Y)=], then

(A)E(X) <E(Y)

(B) E(X) ZE(Y)

(C)E(X)=E(Y)

{D)YMNone of the above

23. The mean and variance of a binomial distribution are 8 and 4, respectively. Then,
P(X=1) is equal to:
i

(A) 3

24, If for a binomial distribution, bin,p). n=4 and also P(X=2)=3P{X=3), the value of
p s

(I3} none of the above

25, A family of parametric distributions in which mean is equal to the variance is:
(A) binomial distribution

(B) gamma distribution

{C) normal distribution

(D) Poisson distribution

26, The distribution for which mode does not exist is:
{A) normal distribution

(B) t-distribution

() continuous rectangular distribution

(D) F-disteibution



27. The odd-order moments of Student’s t-distribution are:
{A) infinite

(B) zero

{C) imaginary

{I}) none of above

28, When the degrees of freedom tend to infinity, t-distribution tends to;
(A) normal distribution

(B} F-distribution

(C) Cauchy distribution

(D} Chi-square distribution

29, Chi-square distribution is useful to test the:

(A) independence of attributes

(B} equality of several population correlation coefficients
{C) equality of several population variances

(D) all the above

30. Fdistribution is applicd for:

{A) testing the equality of two population variances

(B) testing the equality of two or more population means
{C) testing the equality of several regression coefficients
()} all the above

31. Whether a test is one-sided or two-sided depends on:
(A) alternative hypothesis

(B} composite hypothesis

(C) null hypothesis

{D) simple hypothesis

32. A wrong decision about H, leads to;
(A) one kind of error

(B) two kinds of error

(C) three kinds of error

(D)} four kinds of error

33. Power of a test is related to:
{A) type | error

(B) type I error

(C) type | and type II errors both
(D) none of the above



34, Critical region of size a which minimizes & amongst all critical regions of size
e is called:

(A) powerful critical region

(B} minimum critical region

{C} best critical region

(D) worst critical region

15, The statistic- ¥° with vsual notations in case of contingency table of order mxp is
given by the formula:

; M i G. . E'.- 2 .
(A} »° —-Z zf _"__E ,_'-'_'} ()
[ | i

n [
(B) #*= —r
2 2,
= afo,-EY
(Y 2= ﬁ[ : ]
iwdl =l E_y
(D) all the above

36. The formula for the estimate of & in the regression equation ¥ =a + 8Y +# is
{A) Cov(X,Y¥WV(X)
(B) roy /o,

(C) D (X, XNy -F) (X, -X)Y
() all the abowve

37. The lines of regression intersect at the point:
(A) (X.Y)

(B) (X.F)

(C) (0,0

(D) (1.1}

38. The range of multiple correlation coefficient 15:
(A)Otol

(BY 0 to oo

(=1 1o

(D) a0 10 o

39, The range of partial correlation coefTicient is:
(A)0to |

(B) 0 to o

(CY-1to]

(D)) =0 to oc



e
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40, If the two lines of regression are
x+2y-5=0 and 2x+3y-8=0,

the means of X and Y are:

(A) T==-3,7=4

B) x=2,¥=4

{Cyx=)5=2

(D)} none of the sbove

41. 1 the two lines of regression in a bivariate distribution are X+9Y=7 and
Y+4X=16, then o, : 0, is:

(A)3:2

(B)2:3

(C) 9:4

(D) 4:9

42, If Karl Pearson’s correlation coefficient between two variables is zero, it implies
that:

{A) two variables are independent

(B} two varisbles are perfectly linearly related

() the two variables are not linearly related

(D) all the above

43, Oadinary sign test considers the difference of obzerved values from the
hypothetical median value in terms of:

(A) signs only

{B) magnitudes only

{(C) sign and magnitude both

(D) none of the above

. In which scheme, even the biased estimators are used?

{A) Double sampling

(B) Stratified sampling with proportional allocation
(C) Simple random sampling

(D) Systematic sampling

Bias of an estimator can be:
(A) Positive

(B} Negalive

(C) Both positive and negative
(D) Always zero

Out of the two types of errors testing, the more severe error is:
{A} Type st error

(B) Type lind error

{C) Both

(D} None of above




47. Let 8 be an unknown parameter and T, be an unbiased estimator of B.
If Far(T) = Var(T3), for T;to be any unbiased estimator, then T, is known as:
{A)Minimum variance unbiased estimator
{B) Unbiased and efficient estimator
(C) Consistent and efficient estimator
{D) Unbiased, consistent and minimum variance estimator,

48%. In sampling from normal population, when o is known, sample mean is:
{A) unbiased and consistent estimator of population mean
() unbiased and not consistent estimator of population mean.
{C) biased but consistent estimator of population mean,
{D) neither unbiased nor consistent estimator of population mean.

49, The area of the standard normal curve beyond the lines 2= 2,90 1s:
(A} B0%
(B} 95%
(Ci1%
(D) 5%

a0, Let X and Y are two varishles such that aX+bY+¢ =0, then the correlation between X
and Y is precisely:

(A Zero

(B) Between 0and 1

{C) Between-1and 1

{D) None of the above




i L* i1
T

L

L2
]

Question Booklet Series : A  Question Booklet Sr. No.

Ph.D./M.Phil. Entrance Test - 2014
Subject : Music (Vocal & Instrumentation)

Paper-1

Important: Please consull yvour Admit Card/Roll No. slip before filling yvour Rolf
Number on the Test Booklet and Answer Sheet.

Roll No. in Figure fn Words
[T 111

(.M.R. Answer Sheet Serial No., __Li .

Signature of the Candidate

Time: 60 minutes Number of Questions: 50 Maximum Marks : 50
INSTRUCTIONS

|- Write your roll Mo, on the Question Booklet and also on the OMR Answer Sheet in the space provided
and nowhen: ¢lse

Fnter the Code Mo, of Question Booklet on the OME answer Sheet. Darken the corresponding bublbiles

with Black Ball Point/Black Gel Pen.

o ot make any wdentification mark on the Answer Sheet or Cruestion Boaklet,

4 Please check that this Question Bookler contains 30 questions. In case of any discrepancy, mform he
Asgiztant Superimendent within 10 minwtes of the start of test.

5 Each question has four aliemative answer (A, B, C, D) of which only one is comrect: For each question,
darken only one bubble (A or B or O or DY, whichever vou think is the correct answer, on the Answer
Shieel with Black Ball Point/Black (el Pen, There shall be no nepative marking {or wrong gnswers.

6. If you do not want to snswer & guestion, beave all the Fubbles corresponding to that question blank in the

Answer Sheet, Mo marks will be deducted in such cases.

Parken the bubbles in the OMRE Answer Sheet according to the Serial Mo, of the guestions given in the

Coestion Booklet

8. ifvou want to change an already marked answer, erase the shade in the darkened bubble completely

9, For rough work only the blank sheet at the end of the Question Booklet be used.

14, The Answer Sheet s designed for computer evalustion. Therefore, if vou do not Tollow the instructions
given on the Answer Sheet, it may make evaluation by the compuoter difficult. Any resultant loss to the
candidate on the ahove account, i ot following the instructions completely, shall be of the
candidate only

11, After the test, hand over the Question Booklet and the Answer Shect (o the Assistanl Supenntendent on

ALy

fard

. In o case the Answer Sheel, the Question Bookiet, or its part or any materisl copied! noted from this
Hooklet i 10 be taken out of the examination hall. Any candidate found deing so would be expelled from
the: examination

11 A candidete who creates disturbance of any Kind or changes his'her seat or s found in possession of any

paper possibly of any assistance or found giving or receiving assistance or found using any other uniar
means  during  the  examination will be expelled from  the examination by the Centre
Superimtendent'Observer whose decision shall be final

|4, Telecommunication equipment such as pager, cellular phone, wireless, scanner, eic., is not permitied

inside the examination ball. Use of calealators is not allowed.

Fifiia M“-mﬂ-
L0




1074

I, How many shrufis are in a saptak

A) 20 B) 21 ) 22 [} 23

[

The number of Thaats described by Pt. Bhatkhande
A) 10 B 11 C) 12 [ 13

fad

Dhatus in prabandha
A) 2 B) 3 ) 4 by 5
4. Sadharani is

A) Swara B)  Tala ) Sthaya D) Giti

5. Presently MNishabadknya is called
A} Sam B) Tali C) Khali By Vibhag

f. P1. MY Patwardhan is

A) Vocalist B) Sitarist ) Flutist 1 Dancer

7. Madhya- Taar chalan is in raga
A) Marwa B Adana [ Bhopali B} Yaman

8. The time of raga shudh sarang
A) Morming 1§ Evening ) Might By Afternoon

9 The author of Raag Manjr

A) Sharangdeva B Pundrik Vitthal
C) Shrikanth (5] Bhatkhande

L. Who wrote sangeet makrand
A} MNarad B) Bharat (] Damodar 1) Shrimiwas

1 1. Which ghrana Pt Ravi Sharma belongs to
A) Senia (£} Vishnupur ) Maihar [} Madhubani

12. Vadi-samvadi of raga puriya
A) Ga-Ma B) Pa-Sa G ha-Sa )] Re-Pa

1 3. Matras in tala Deepchandi
A) 1 B} 12 C) 13 ) 14




19,

20,

()

. Matras in the first Vibhag of tala Dhamar

Al 4 ) )

- samvid in Shadaj Gram

A} Sa-Ma 3) Re-Pa

. The number of Shriatis from Ee o Pa

Ay 7 B) 8

. Shadav- Shadav Jati of raga

A) Punya Dhnashri
(" Bhairavi

. Angas in Prabhandha

A) 5 B) i

In Kamatak music raga Bilawal 15 called

A} Mavamalavgaul
("} Hankambhoji

I'he category of Bheri Vadya
A Tat 13 Avnadh

Whal 15 Atisvarys
A Swara Bi Tala

L)

C)

Bi
1)

C)

B
m

C)

C)

F'o which gharana Ajoy Chakarvati belongs (o

A) Kirana B) Agra

3. Sham C navrasi ghrana belongs 1o

A) Yocal E§ [nstrumental

Ga Ma Dha Ni Dha Ma Ga Re Sa swaras of raga

A} Rapeshri B Bageshri

5. All shudh Swaras 10 raga

A) Khamayj
'} Alhaiya- Bilawal

(89

L

L)

B}
(B}

6 17}
Sa-Pa )
g D)
Shudh Sarang
Marwa

4 B
Nat bhairavi
[Dhirshankrabharnam
Cihan 1)
Rags 1)
Patiala 13}
Dance Y

Bhimplas 13

Shyam Kalyan
Hansdhwani

Ma-Ni

i

[}

Sushir

Instrument

Jaipur

Drama

Kafi
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26, Two madhyams are used in raga

A) Deshkar By  Marubihag C)

27 Wha described 15 varieties of (amak
A} Bharat By Matang C}

28, How many Sthai- Bhavas described by Bharat
A) 5 B) 6 )

29, The author of Sangit Raj

A) Kumbha B Parshavdey )

3, What is Aatodya

A) Rasa (23] Alankar C)

31, The number of Dhruva ganns described in ancient period

A) 2 B) 3 L&)

32. What 15 Thaat of raga Multam
Al Poorvi B} Todi )

Todi [B) Bhairavy
Sharangdev D) Ahobal

7 D) 8

Dattit I Matang
Faga 13} Instrament
4 [} !

Bhairavi B Asawarl

33, Western notes of Indian Saptak Sa Re Ga Ma Ra Dha Ni

Ajcdefgab B}
C) bfcgdba 13

34, Anukramnika is also called

A} Synopsis B}  Index )

35, In which gayan shailey ditterent layakaris are used

fgabhecd

dbcafeg

Footnote Dy} Bibliography
Dhrupad ) Khyal

Darbari Kanada

A} Gazal B} Geet C)

6. ‘Dha Ni Sa Re Ga, Ma Re Sa’ is the main phrase of raga
A} Asawari B)
) Bageshri )

37, *Pa. Ma Re Ga. Ma Ga Re Sa” used in raga

A) Shyam Kalyan k)
C}) Puriya Kalyan )

Rageshn

Multani
Puriya [Yhnasari
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Al

41

42

43

34

45

4,

47.

48

49

.
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. Which 15 raga Ahir Bhairav

A) Ga- Ma Re Sa H)
) Ma Ga Re Sa, Re Ni Sa Ma ()]

In which reign of India sculpture are mostely found

A) North B) West )

ashpranas of tala are described in

A} Sangit Ratnakar B

) Geer Govind (B
How many Vibhags are in Ektala

Al B By 7 C)
In tala deepchandi khali 1s on matra

A) 1 B} 4 )
In tala what is Anudrut

A} Grah Bj Kriva £}
The instrument plaved by "Bhai Mardana™

A) Sarangi B Taus )
e number of tanas described in Natyashatra

A) 35 ) 49 )
Which instrument is played with “Gaz”

A) Sarangi B) Silar C)

Wi Sa Dha Ni Re, (GGa Ma Re Ga Re Sa
Ni Sa Dha Ni Re, Sa, Ga Ma Be Sa

Sauth D) Last

Rag Vibodh

Brihaddesh:

8 ) b

8 13 11
lati ) Anga

Pukhawaj 3] Rabab

28 D) Bd

Yieena I Sarod

Which ghrana Pt Vishnu Digambar Pluskar belongs to

A) Agra B) Patiala )
The time of Abhinav Gupt

A) O copuary . B) 10™ centuary  ©)
Sadarang Adarang are also known as

A) Heddu Hassu Khan 1)
) Kadir Baksh- Khutub Baksh D)

How many marg talas are in Natyashastra
A) 5 B) fi )
-x=X

Gwaliar L) Delhi

1™ centuary 1) 12" centuary

Nemat Khan- Feroe Khan
Alakh Dass- Maluk Dass

7 (8] 8
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Question Booklet Series - A  Question Booklet Sr. No.  [15]

Ph.D. Entrance Test - 2014
Subject : Indian Theatre
aper-1
Important: Please consult your Admit Card/Roll No. slip before filling your Rell
Number on the Test Booklet and Answer Sheet

Roll No. In Figire fn Words

O.M.R. Answer Sheet Serial No. [T ]

Signanire af the Candidare

Time: 60 minutes Number of Questions: 50 Maximum Marks : 50
INSTRUCTIONS

I, Write vour ol Mo, on the Ouesticn Booklet and also on the OWE Answer Sheet in the space provided
sl nowhore else

2 Emter the Code Mo, of Question Booklet on the OMBE answer Sheet. Darken the corresponding bihbles
with Blnck Hall Point/Black Gel Pen

3. Do not make any identification mark on the Answer Sheet or Question Booklet

|, Please check that this Question Booklel containg 500 questions. In case of any discrepancy, mform the
Assistant Superintendent within 10 minuwtes af the start of tesl.

5. Pach question has four altemative answer (A, B, C. 13) of which only one is correet. For each question,
darken only ome bubhle (A or B or € or D), whichever vou think s the correct answer, on the Answei
Sheet with Black Ball Point/Black Gel Pen. There shall be oo negative marking [or wrong answers.

i, I vou do ot want 1o answer & question, leave all the bubbles comesponding o that question blank n the
Answer Sheet, Mo marks will be deducied in such cases.

7. [darken the bubbles in the OMBE Answer Sheet according 1o the Serial Mo, of the questions given in the
Chaestion Booklet

B If you want Lo change an already marked answer, erase the shade in the darkened bubble completely

0. Tor rough work only the hlank sheet ot the end of the Question Booklet be used.

105 The Answer Sheet 15 LI..:_-..[__Qn.:d for compuler evalustion, Therefore, 1l yvou do nol folloy thie fsinetions
given on the Answer Sheet, it may make evaluation by the computer difficull. Any resultznt loss (o the
candidate on the abeve account, Le. not following the instructions completely, shall be of the
ciandidite only

L1 Afier the test, hand over the Question Booklet and the Answer Sheet to the Assistant Superimtendent on
tluby

12 In no case the Answer Sheet, the Questicn Booklet, or its part or any material copied! noted (rom this
Baoklet is 1o be taken out of the examination hall. Any candidate found doing so would be expetled trom
the cxumination,

13, A candidme who creates disturbance of any kind or changes hisfer seat of is found in possession o any
paper possibly of any assistance or found EIVINE OF feceiving assislance. or found useng any ather unlar
means  during  ihe  examination  will he  expelled from the cxsmination by the  Cenre
Superiniendent/Observer whose decision shall be final

14. Telecommunicntion cquipment such as pager, cellolar phone, wireless, scanner, efc., is nol prermibied
insile the examination hall, Use of calcalators is ool allowed.
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PH.D ENTRANCE : 2014, INDIAN THEATRE
QUESTIONS : 50. TIME : 60 MINUTES. MARKS : 50

Q1- One of the following Plays is not written by Luigi Pirandello

a) Rules Of The Game

b) Wild Duck

c) Tonight We Improvise

d) Right You Are (if you think so)

02- One of the following characters is not seen on stage in Adhe Adhure

a) lagmohan

b} Manoj

c) Singhania

d) Kaale Suit Wala Admi

Q3- One of the following Country/Playhouse relation is correctly matched

a) India/Globe

b) England/Teatro Olympico
c) Greece/Epidaurus

d) Italy/Avar Vikrishta

04- Habib Tanvir based his production of Agra Bazar on the poetry of one of
the following poets

a) Nazir Akbarabadi
b} Qamar Jalalabadi
c) lJigar Muradabadi
d) Akbar Allahabadi

05- Bengali theatre thespian Sombhu Mitra directed one of the mainstream
Hindi feature film

a) Bhuvan Shome with Utpal Dutt

b) Amanush with Uttam Kumar

c) Jagte Raho with Raj Kapoor

d) Mrigaya with Mithun Chakravarty
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Q6- One of the following Plays is not written by William Shakespeare

a) King lohn
b) King Lear

c) King Oedipus
d} Henry V

Q7- One of the following 3-D objects has six faces

a) Pyramid
b) Cylinder
c) Sphere
d) Cube

Q8- One of the following Plays that is centred on Sri Guru Nanak Dev is written
by the Punjabi playwright Gurdial Singh Phull

a) Jin Sach Palley Hoi
b) Gagan Mai Thaal
c) Boley So Nihaal

d) Taati Vao Na Lagal

(19- One of the following is not an Urdu writer

a) Rajinder Singh Bedi
b) Krishan Chander

c) Upendra Nath Ashqg
d) Figar Taunsavi

010- In one of the following, ‘Vivek' serves strong dramatic purpose

a) latra

b) Tamasha
c) Swang
d) Nautanki
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011- One of the following mainstream Hindi film produced by Shashi Kapoor is
based on Shudraka's famous Play ‘Mrichhkatikam’

a) Upkar
b} Utsav
c) Angulimaal
d) Siddharth

012-‘Aharya’ as discussed in ‘Natya Shastra’ deals with the art of

a) Stage Decoration
b} Acting

¢} Music

d) Meditation

Q13- One of the following Play/Character is not correctly matched

a) Ashadh Ka Ek Din/Nikshep
b) Tughlag/Sardar Ratansingh
c) Gagan Mai Thaal/Babar

d) Aathvan Sarg/Lalita Gauri

Q14- One of the Following is a famous Playwright

a) Raja Ravi Varma

b) Raja Mehndi Ali Khan

¢) Raja Mahendravikram Varman
d} Raja Maan Singh

015- How many Plays were written by Munshi Prem Chand

al One
b) Eight
c) Twelve

d) Twenty
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Q16- One of the following Jewellery-pieces does not match its ornamental
position on the body

a) ‘Mekhala’ (a stringed girdle) worn around the Waist
b) ‘Kundala’ (hanging rings) worn on the Ear-lobes

c) ‘Nupur’ ( stringed tinklets) worn around the Neck

d) “Valaya' [ Bangles/Wristbands) worn on the Wrists

Q17- Punjabi Play ‘Raja Lakhdata Singh’ is authored by one of the following
writers

a) Lala Kirpa Sagar
b) Bhai Vir Singh

¢) Dhani Ram Chatrik
d) 1. C. Nanda

Q18- The Greek term "deus-ex-machina’ has acquired one of the following
theatrical connotation

a) Entry of an unexpected character in the text to resolve a situation
b} Announcing the Play from the dais

c] Organizing the stage-machinery for different scenes

d} Using an effect-machine to show thunder/lightening on stage

Q19- Following lines appear in one of Shakespeare’s Plays given below
“We are such stuff’

As dreams are made on, and our life

Is rounded with a sleep”

a) Hamlet

b) The Tempest
c) As You Like It
d) Twelfth Night
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020- One of the following equations of additive lighting is correct

a) Red+ Green = Yellow
b) Red + Green = Blue

c) Red+ Green = Magenta
d) Red + Green = White

Q21-One of the following combinations of elements is most widely accepted as
essential for a theatrical performance

a) Actor, Audience, Space, Script

b) Actor, Director, Designer, Script

c) Actor, Director, Script, Audience

d) Actor, Script, Director, Music director

022- One of the following Plays deals with ‘women empowerment’

a) Andher Nagari Chaupat Raja
b) Kesro

c) Bhagvad Ajjuke

d) Hanush

Q23- ‘Moyian Saar Na Kai' and ‘Punjab Wich Ikko Mard, Rani Jinda’ are written
respectively by the following Playwrights

a) Sant Singh Sekhon and Dr Harcharan Singh
b) Sant Singh Sekhon and Balwant Gargi

¢) DrHarcharan Singh and Gursharan Singh
d) Balwant Gargi and Gursharan Singh

024- Who wrote ‘Bharat Durdasha” that was banned by the British rulers

a) Munshi Prem Chand

b) Saadat Hasan Manto

¢) Bharatendu Harishchandra
d) Jai Shankar Prasad
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Q25- Which one of the following Establishments has instituted All India Awards
evchasiiely for Yhe Badksiage Ratisis of Thealre

a) National School Of Drama, New Delhi
k) Mandikar , Kolkata

c) Modern Stage Service, New Delhi

d) Ranga Mandal , Bhopal

Q26- One of the following has not produced any Street Theatre Plays

a) Gursharan Singh
b) Safdar Hashmi

¢) Badal Sircar

d) Mohan Maharishi

Q127- Punjabi poet Shiv Kumar Batalavi has written a Play in verse ‘Loona’ re-
interpreting one of the popular folk-tales listed below

a) Dulla Bhatti
b) Puran Bhagat
c) Sassi Punnu
d) Sohni Mahiwal

(28-One of the following plays does not have Indo-Pak partition as backdrop

a) Awur Kitne Tukde

b) Jis Lahore Nahi Vekhya Oh Jammya Hi Nahi
¢) Charan Dass Chor

d) Karma Wali
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029- Panjab University’s Indian Theatre hosted UNESCO's International Folk
Theatre Workshop in1976. Thespian Zohra Sehgal and Kirron Kher participated
and acted in the Production alongwith other theatre-persons from France,
Iran, Nepal, Sri Lanka and Afghanistan.

Tick the correct Production from among the following

a) ‘Hayavadan' by Amal Allana and Nissar Allana

b) ‘Mirza Sahiban' by Balwant Gargi and Mahendra
c) ‘Kanak Di Balli’ by BV Karanth and Bansi Kaul

d) Roop Basant’ by Joy Michael and Mahendra

(30- One of the following statements is opposed to the concept of Epic
Theatre of Bertolt Brecht

a)] Compels audience to make decisions

b) Audience is confronted with arguments
c) Man is unchangeable

d) Man is changeable and can make changes

031- “ | can take any empty space and call it a bare stage. A man walks across
this empty space whilst someone else is watching him, and this is all that is
needed for an act of theatre to be engaged”

One of the following theatre-practitioner has said the above lines

a) lerzy Grotowsky

b) Peter Brook

¢) Vsevolod Meyerhold
d) Elia Kazan

032-The present Globe Theatre, rebuilt by a devotee of Shakespeare, was
ppened in 1997, Mark the correct year, when it was opened first

a) 1499
b) 1599
¢) 1699
d) 1799
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033- Eugene lonesco in his Play ‘Rhinoceros’ pictures the erasion of sensitivity
in society. Pick up another play of lanesco in the following list

a) Miss lulia

b} The Maids
c) The Lesson
d) Tartuffe

0134- Ibsen is “...a profound poetic dramatist—the best since Shakespearge”

One of the following Plays is not written by Henrik |bsen

a) The Master Builder {1892)

b) Little Eyolf (1894)

c) An ldeal Husband (1895)

d) When We Dead Awaken (1899)

035- Plot of a well-structured Play has eight ladder-like steps. Six of them are

listed here-—1) Exposition. 2) Inciting point. 3) Point of attack. 4)*——---—---
5) Discovery. 6) Crisis. 7)**-—-————— . 8) Denouement.
One of the following set of words should fill-in the blanks at 4)* and 7)**

a) *Complication  **Climax
b} *Simplification  **Climax

c) *Complication  ** Confusion
d) *Simplification **Confusion

Q36- One of the following Character/Play is not matched correctly

a) Krogstad/ A Doll's House

b) Polly Peachum/ Three Penny Opera
c) locasta/ Antigone

d) Creon/ Oedipus
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(137- “The result is freedom from the time lapse between the inner impulse
and outer reaction in such a way that the impulse is already an outer reaction.
Impulse and action are concurrent ; the body vanishes, burns and the
spectator sees a series of invisible impulses”

Above lines have been taken from one of the books listed below.

a) Towards a Poor Theatre
b) Theatre and its Double
¢} The Empty Space

d} An Actor Prepares

(38- One of the following Greek playwrights has written 123 plays like
‘Antigone’, ‘Ajax’, ‘Electra’ and others

a) Aeschylus (525-456 B.C.)

b) Sophocles (496-406 B.C.)

c) Euripides (480-406 B.C.)

d) Aristophanes (448-380 B.C.)

39- “The Novel is a lawful wife, but the Stage is a noisy, flashy and insolent
mistress.” The Stage is "....the gallows on which the dramatists are hanged.”
The above feelings are directly/indirectly expressed by one of the most
successful playwright. Who he is among the ones written below

a) George Bernard Shaw
b) Oscar Wilde

c} Anton Chekhov

d) Garcia Lorca

(40- Anti-war play-scripts are available to us since Aristophanes’ PEACE,
Bhasa's URUBHANGA, Brecht's MOTHER COURAGE to the ANDHA-YUG written
by Dharamvir Bharati.

Who among the following wrote BURY THE DEAD in 1936

a) Irwin Shaw

bl Aurther Miller
¢} Bernard Shaw
d) Eugene O'Neill
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Q41- Who among the following has written the Sanskrit play
‘Padmaprabhritaka’ —the Gift that is Lotus

a) Shudraka
b) Var Ruchi
c) Ishwar Dutt
d) Shyamilak

Q42- ......."You know what my beloved subjects call me? Mad Muhammad!
Mad Muhammad |! How can | become wise again ?"

ceneatYour Majesty, there was a time when you believed in love, in peace, in
God. Now you won't let your subjects pray. You hang them on suspicion. Why
this bloodshed? Please stop it.”

Above dialogue takes place between two persons in Tughlaq. Pick-up the
correct pair from the following

a) Tughlag and Ziauddin Barani
b} Tughiag and Shihabuddin

¢} Tughlag and Step Mother

d) Tughlag and Aziz

Q43- One of the following Plays is not written by Ajmer Singh Aulakh

a) Satt Bigane

b) Bigane Bohad Di Chhaan
c) Udaas Lok

d) Anney Nishanchi

(i44- Swadesh Deepak’s ‘Court Martial’ repeatedly staged for the last more
than twenty years was premiered in Delhi on 1% January, 1991, Who among
the following directed it

a)] Ram Gopal Bajaj
b} B. V. Karanth
c) Ranjit Kapoor

d) Satish Kaushik
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045- Characters Devi Dharini, Iravati, Bakulvalika, Kaumudika and Nipunika
figure in one of the following Plays

a) Malvikagnimitram

b) Mattavilasm

¢} Abhigyan Shakuntalam
d} Vikramorvashiam

(46- Veteran stage actor, director and filmstar Balraj Sahni many times
presented and acted in Gargi's ‘Kanak Di Balli’. He loved portraying one of the
following characters

a) Jhandu
b) Maghar
c) Naraina
d) Bachna

Q47- The 2™ chapter (Dwitya Adhyaya) of the world-famous authoritative
treatise on theatre arts ‘Natya Shastra’ deals with one of the following aspects

a) Art of Acting

b) Art of Theatre Architecture
c) Art of Playwriting

d) Art of Dancing

Q48- |dentify the Play from the list given below. The Play that has been made
into a film by Satyajit Ray. That has been directed and acted on stage many
times by Sombhu Mitra. Stanislavsky found playing the protagonist in this Play
most interesting & spellbinding.

a) An Enemy of the People

b) Cherry Orchard

c) Six Characters in search of an Author
d) The Importance of being Earnest
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Q49- One of the following Plays is not written by Agha Hashra Kashmiri
popularly known as Shakespeare of Urdu

a) Rustam Sohrab
b) Aankh Ka Nasha
c) Azar Ka Khwab
d) Seeta Banvaas

Q50- Sight Lines in a Theatre Auditorium are

a) Architectural considerations so as to ensure each spectator to have full
view of the stage from every seat of the auditorium

b) Rope-lines used to raise or lower the curtains in the auditorium

c) Lines from the script spoken by actors maintaining the eye-contact with
the audiences

d) Acoustic properties of a well-designed auditorium

= Bl
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Question Booklet Series : A Question Booklet Sr. No. 0520 46

Ph.D. Entrance Test - 2014

Subject : History of Arts/Fine Arts
Paper-1

Important: Please consult your Admit Card/Roll No. slip before filling vour Roll

Number on the Test Bookler and Answer Sheer.

Roll No. In Figure In Words

O.M.R. Answer Sheet Serial No. |

([T TTT] e

Signature of the Candidate

Time: 60 minutes Number of Questions: 50 Maximum Marks : 50
INSTRUCTIONS

I

.

Write your roll Ne. on the Question Booklet and also on the OMR Answer Sheet in the space provided
and nowhere else,

Enter the Code Mo, of Question Booklet on the OMR answer Sheel. Darken the corresponding bubhles
with Black Ball Point/Black Cel Pen,

Do ot make any identilication mark on the Answer Sheel or Question Booklet.

Mease check that this Question Booklet contains 50 questions, In case of any discrepancy, inform the
Assistant Superintendent within 10 minutes of the start of test.

Each guestion has four alternative answer (A, B, C, 1) of which anly one is comrect. For each question,
darken only one bubble (A or B or C or D), whichever you think is the correct answer, on the Answer
Sheet with Black Ball Poini/Black Gel Pen. There shall be no negative marking for wrong answers,

If you do not want to answer & question, leave all the bubbles comesponding to that question blank in the
Answer Sheet, Mo marks will be deducted in such cases,

Darken the bubbles in the OMR Answer Sheet according to the Serial No. of the questions given in the
uestion Booklet

If you want tn change an already marked answer, erase the shade in the darkened bubble compietely.

For rough work only the blank sheet at the end of the Question Hooklet be used.

e Answer Sheet s designed for computer evaluation. Therefore, if you do not follow the instructions
given on the Answer Sheet, it may make evaluntion by the computer difficult,. Any resultant loss to the
candidate on the shove account, i.e. not following the instructions completely, shall be of the
candidate only,

After the test, hand over the Question Booklet and the Answer Sheet 1o the Assistant Superintendent on
duty.

~In no case the Answer Sheet, the Question Booklet, or its part or any material copied/ noted from this

Booklet is to be taken out of the examination hall. Any candidate found doing so would be expelled from
the examination,

. A candidate who creates disturbance of any kind or changes higther seat or is found in possession of any

peper possibly of any assistance or found giving or receiving assistence or found wsing any other unfair
means during the examination will be expelled from the examination by the Centre
Superintendent’Observer whose decision shall be final

. Telecommunication equipment such as pager, cellular phone, wireless, scanner, elc., 8 not permitted

inside the examination hall. Use of caleulators is nof allowed.
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|. The Realistic Manifesto published in 1920 discusses

A Photo-Realism
B Orphisim

) Constructivism
[} Surrealism

2. The Parthenon is locsied in

A} Maples
By Athens
Cy Delphi
¥} Florence

3, The enst doors of the Florence Baptistry are by

A) Filippo Brunelleschi
Ry Antonio Rosselling
) Lorenzo Ghiberti
¥ Paolo Uccello

4. The first Impressionist exhibition was held in the year

A) 1863
By 1874
Cy 1882
) | BRY

5. Wastu Shastra s plext on

A Painting

B) Sculpture
C) Architecture
[} Music

&. Miharranjan Ray is the author of

A} The Transformation of Nature in Art
B) An Approach to Indian An

') The Hindu View of Ar

3} The Essence of Indian Art

7. The cortect match among the following 15

A} F.N. Souza — Between the Spider and the Lamp
ts) Satish Gujral - The Death of a Pope

'} Ramkinker Baij — Galaxy of Musicians

D Benode Bihari Mukherjee — Benaras Ghats

8. The art historian anmong the following 1s

A) B. N, Goswamy
B} Anish Kapoor
) Bharti Kher




s

[} Arpana Caur
&, The Planographic technique among the following is

A) Serigraphy
B Wood-cut
1 Aguatint

[y Dry Point

[k, The Armaory Show, 1913 was held in

Al Pariz

B) New York
C) Zunich

I3 London

I 1. The subject-matter of the paintings in the Sittannavasal Cave is

Al Buddhist
BR) Vaishnava
C) Shaiva
Dy Jain

12, The Sigiriya Caves are located in

A) Cambodia
By Java

)y SriLanka
[} Burma

13 A Viharais a

A} Temple

Bl Monastery
C) Scriptoria
) University

14. The rock-cut shrine among the following is the

A} Kaitasha temple, Ellora

BY Dasavtara temple, Deogarh

) Mahabodhi emple. Bodh Gaya
0} Brihadesvara wemple, Tanjore

15, Freseo Secen is a technique of

A) Mural painting
B) Stained glass
C) Printmaking
0 Sculpting

|6, The Renaissance began in the city-state of

MY Siena
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By Florence
LY Rame
3 Yenice

I'he sculpture entitled *The Ecstasy of St. Teresa” is by

A) Michelangelo
B} Verrocchio
) Donatello

21 Becnini

_The Pahari miniature painter among the following is

AY Marsur

B) Nihal Chand
) Manaku

[ Bishandas

, The term Manuscript means

A A hand written book

B) An album of paintings

C) A cloth scrofl of paintings
D) A painted sculpture

The author of the Ain-l Akbari is

A} Miskin

B) Abul Hasan
) Abu'l Fazl
1 Aga Riza

. The Kalpasutra sa

A Hinavana text
B} Jain text

) Mahayana text
D} Shakta text

The heroine who is angry with her navaka and remaonstrates is the

A) Vipralabhada nayika
B} Svadhinapatika nayika
() Khandita nayika

I3y Abhisanka nayika

23, The author of the Rasikapriya is

A) Mulla Daud
B Javadeva
¢y Kalidasa
[y Bhanudatta

24, The *Chaurapanchasika’ isa




A Recipe book

B} Treatise on werpons
7 Lowve pagm

D) Text on astronomy

25, Raja Sawant Singh was a patron of painting n

A) Bundi

By Kota

) Malwa

) Kishangarh

Fed
-

The Shore temple is located in

A} Mamallapuram
B} Thanjavur

)} Kanchipuraim
[} Chenna

37, The sculpture of the “Standing Buddha jrom Takhi-i- Bahi' is an example of an
from

A} Mathura
H) Amarsvati
) Samath
[} Gandhara

1% [rahmi, Kutila and Devanagari arc types af

A) Benpis

B) Fonts

) Pictagraphs
[¥) Hieroglyphs

16 Constantinople was the ancient name of

A} Istanbul
B} Venice

Cy Daphne
O Wlostiow

40, The correct match among the following 15

A} Manet — Oath of the Horatii

By Monet ~ The Death of Sardanapalus
(s Daumier - The Third Class Carriage
Dy Cezanne — Bedroom at Asles

11 The art movenent that derives from Cubism is

A} Neo-Impressienism
B Realism

() Expressionism

Dy Fulurism




32, The Louvre 1s located in

Al Paris

B Versailles
C) Calais
¥ Qrmans

33, In the 19" century a Government School of Am was established first at

A} Chennai
B) Mumbai
C) Kolkata
D) Lahore

34. The landscape painter among the following is

Al Jacgues Lonis David
H) Joseph William Turner
() Theodore Gericault

27 Francisco Goya

fd
L

. The stylus is-an instrument used in

A} Writing
B) Lithography
C) Embroidery
) Weaving

36, The complimentary colours are

A} Red and Green
B) Blue and Green
) Red and Purple
D} Yellow and Orange

17, The Colosseum is [oeated in

AT Padua
B) Milan
) Bome
) Naples

38, Technical treatises on painting are called

A) MNatva shasiras

#) Pratimalakshena shastras
C) Alamkara shastras

13y Shilpa shastras

19, The correct chronological order is

A Mannerism, Rococo, Barogue
B) Rococo, Barogue, Mannerism
) Mannerism, Baroque, Rococo




S
13} Barogue, Mannerism, Rococo

40, Sfumato is a term employed in

A) Painting
B) Sculpture
L) Printing
) Ponery

41, The Angkor Wat was originally dedicated 1o

A) Shiva

B) Vishnu

) Gautama Buddha
13} Maitreva Buddha

42. Phad painting is from

A Maharashira
B) Bibar

L’} Punjab

13} Ramsthan

43, Lalit Kala Akademi, New Delhi was established in the vear

A} 1947
By 1954
Cy 1960
Dy 1965

44. The print series entitled “Wounds” is by

A) Chinaprosad
Rl Anupam Sud
C) Somnath Hore
D) Krishna Reddy

45. Bharat Bhawan is located in

A} Bhopal
By Varanasi
) Painn

) New Dethi

46, The documentary film *Through the Eves of a Painter® is by

A} M. F. Husain
B Paritosh Sen
'} Arpita Singh
D) F. N, Souza

47. Visva-Bharati University is located in
A} Murshidabad




B Lucknow
C) Kolkata
[} Santiniketan

48, The sculpture entitled *Yaksha from Parkham' is i the collection of the
archacological museum in

| A Mew Delbi
R} Mathura
C) Patna

| D) Chennai

49. The technigque of Pointillism has been employed by

A) Ingres

B) Courbet
) Delacroix
¥ Seurat

50. The Progressive Group, Calcutta was formed in

A) 1943
B) 1948
C) 1957
D) 1961

— A
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Research that involves the manipulation of treatments to establish cause effect
relationship is:

Al Descriptive research C) Experimental research
B) ualitative rescarch B} Analytical research.
The anticipated outcome of a study or experiment is called:

A) Findings C) Hypothesis

B) Synthesis D) Limitation.

The guestionnaire, Interview, Normative Survey, Case Study, Developmental Studies
and Correlation Studies is:
A) Analytical research =) Experimental research.

B) Descriptive research B} CJualitative research

Source of data in which previous research is evaluated and summarized is called:
Al Secondary source C) Easy source

B) Primary source. m Literary source

A choice the researcher makes to effect & workable research problem is called:

A) Delimitations Ch Assumption

B) Limitation. D) Definition

An estimate of the variability of the scores of a group around the mean is:
A Standard deviation {64 Standard score

B) Standard error. (B Standard ool

A rejection of the null hypothesis when it is true is Known;

A) Type | error C) Type 1l error

B)  Alpha. D}  Beta

A statistical technigue to assess differences between three groups is:
A) Z-test C) ANOVA

B) 1-test ) ANCOVA.

Internal and external criticism technique is used in:
A) Experimental Research ) Historical Research
) Survey type of Research [y  Philosophical Research.

What is the median of the following set of scores?

18,6, 12,10, 14
A) 10 c R
B) 14 D) I8,
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Receives the critical part of the experiment (the independent variable)
A) Experimental group C) Experimenter hias

B) Control group. m Experiment

provides a baseline for comparison, does not receive critical treatment (independent
variable)

Al Generalize C) Control group

B) Experimental group 0y Correlation.

Design for research in which neither the experimenter nor the subjects know who is in
the experimental or contrel group,
Al Variables, ) Sampling error

By  Comelation b3} Double-biind design

A statistic (r) that sumnmarizes the strength and direction of a relationship between two
variables.

A) Comelation coefficient C) Correlational studies
13] Correlation. o Operational definition
Which of the following is NOT a method 10 assess body composition?
A)  hydrostatic weighing C}  carbohydrate dilution

B bivelecirical impedance analysis D) dual energy x-ray absorptiometry.

An observation technique in which one person is studied in depth in the hope of
revealing universal principles.

A) Comreintion. ) culture

i) theory D) case study

Gathers data in numerical form .

A} Quantitative research ) Participant covert
B) Cuestionnaine survey., ) Qualitative research

Variable the experimenter measures.
A Independent variable (IV). C©) Independent measures design

B)  Co-variables ) Dependent variable (DV)

Asking respondents’ 1o use a response scale to record their answer on a questionnaire
A) Likert scale C) Time sampling

B; Interview. (B Pilot study

A directional hypothesis in which the direction of results is predicted
A} Alternative hypothesis. C)  Null hypothesis
B) Hypothesis (] One-tailed hypothesis

Page 2 of 5
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Thinking that does not blindly accept arguments and conclusions. Rather, it examines

assumptions, discerns hidden values, evaluates evidence, and assesses conclusions.
A replication Q) critical thinking

B} correlation B} clinical psychology.

Technique that provides a statistical test as to the significance of the discrepancy

between observed and the expected results

A) Thi-suure C) Eece-square

B) Chai-square D} Yates-square

Responding. receiving, valuing, and organizing are all categories of the:
A)  Cognitive domain C)  Affective domain

B) Ethical domain 2 Physical domain,

Asspssment that occurs at the conclusion of the programme is called:
A)  Formative. C) Productive

B) (bjective (B} Summative

The occurrence of chronic disease is NOT due 1o which of the following health risk
factors:
A) Smoking ) Ohhesity.

B} High-protein diet [y  Stress

Which factor does NOT contribute to cardiovascular diseasc?

A)  Lack of physical activity ) High-carbohydrate diet
B) Poor nutrition 1)  Tobacco.

Body awareness, spatial awareness, gualities of movement, and relationships are all

categories of;
A} Motor developmenL C) Effective skills

B) Fundamental movement skills ) Movement concepts

Some of the sociological factors that have an impact on an individual's movement are
the following EXCEPT:

A) Self-confidence C) Socioeconomic background
B) Gender roles. D) Membership in a group
Bénding, wrming, and pushing are examples of:

A) Locomotor skills ) Body awareness,

i) Nonlocomotor skills Dy Manipulative skills

The question, "How did urbanization influence the development of sports in India™
would most likely be studied by a(n): , &
A} Spon philosopher C) Sport Historian

B) Sport Psychologist (8] Sports physiologist.

Page 3 of 3
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Physical education and sports were held in high esteem during this country's "Golden
Age”:
A) Rome. C) China

B) Swiden ) Greece

This approach to education stressed the development of the total person; "a sound min
in & sound body."

A} Essentialism. C) Pragmatism
B) Idealism (8] Humanism
Biomechanists usually work in the following arcas EXCEPT:
A) Specialize in a particular sport. C)  Direct eesearch to rehabilitation concerns
B) Posture analysis )  Mutrition analysis
All of the following are terms related to Kinetics EXCEPT:
A)  Stability ) Gravity
B) Force. [ Friction

Coronary heart disease, hypertension, osteoporosis, chronic back pain, and obesity are
examples of:
A)  Hypokinetic diseases ) Terminal diseases

B)  Acute discases. D) Genetic discases

Knox test is a skill test for

A} Hockey C}  Volleyball.

B) Baskethall ) Tennis

Which of the following is not one of the five components of health-related fitness?
A) speed €} muscular endurance

B) body composition. D) fexibility

Which of the following is not a symptom of anorexia nervosa:
A)  Dry skin C) reduced bone mass.
B) dental problems By brittle nails

Panny cup test is associated with

A} Volleyball C) Basketball

B) Football D) Hockey.

Balance is directly proportional to the
A)  Area of the base of support  C) Area of the acceleration application

B} Areaof the force application. D)} Area of the momentum

Page 4 of §
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Which is the validity, when the degree to which a given test compares or correlates with
another test that has an established validity:

A)  Concurrent. C) Curricular
B)  Criterion related D) Construct
Which is the Dyvnamic strength test:
A)  Leg lift test. C) Hand grip test
B)  Cable tensicmeter test D)  Leg press test
Which is not static strength endurance test:
A} Straight arm hang C)}  Bench Press test
B}  Chest Raise and Hold D) Sit and Hold.
Which test measures power:
A)  Rogers test. C) Cooper’s test
B)  Squat thrust test (8] Margaria Kalamam
Which is not agility test:
A} Standing long jump ) Side step
B} ShuttleRun. D) Right Boomerang
Endomorphy is very much pronounced in:
A)  Sprinters ) Distance runner.
B) Throwers ) Jumpers
TEE stands for:
A)  thermic energy effect. ) thermic effect of energy
B} total energy effect ) tolol energy expenditure
Pushing on an immovable object is an example of which type of training?
A)  Isotonic exercise C) Isokinetic exercise.
B) [Isometric cxercise D) Concentric exercise
What is the main storage site for storage fat:
A)  Around internal organs C) in the trunk.
B)  bencath the skin 1) in the bone marrow

A gymnast and a high jumper are most likely examples of:
A) a mesomorph and an endomorph C) a mesomorph and an ectomorph
B) an ectomorph and an endomaorph 1) an ectomorph and an ectomorph,

e D0

Page 5 of 5



Question Booklet Series : A Question Booklet Sr. No. 025336

Ph.D./M.Phil. Entrance Test - 2014
Subject : English

Paper-1

Important: Please consult vour Admit Card/Rell No. slip before filling your Roll

Number on the Test Booklet and Answer Sheet.

Raoll No. In Figure fn Werds

(LM.R. Answer S.h ect Serial No. |

A 0 0

Stgnature of the Candidare

Time: 60 minutes Number of Questions: 50 Maximum Marks : 50
INSTRUCTIONS

-

-
1,

14

Write your roll No. on the Question Booklet and alse on the OMR Answer Sheet in the space provided
and nowherc glse:

Emter the Code No, of Question Booklet on the OMR answer Sheet. Darken the comresponding bubhles
with Black Ball Point/Black Gel Men.

Do not make any identification mark on the Answer Sheet or Question Booklet

Please check that this Question Booklet contains 50 questions. In case of any discrepancy, inform the
Assistunt Superintendent within 10 minutes of the start of test

Each question has: four alicenative answer (A, B, C, DY of which only one is correct. For each question,
darken only one bubble (A or B or € or D), whichever you think is the correct answer, on the Answer.
Sheet with Black Ball Point/Black Gel Pen. There shall be wo negative marking for wrong answers,

Il you do ot want to answer & question, leave all the bubbles corresponding 1o thin question blank in the =
Answir Sheet. No mirks will be deducted in such cases.

Darken the bubbles in the OMR Answer Sheel according to the Serial No, of the questions given in the
Cruestion RBooklet,

It you want to change an already marked answer, erase the shade in the darkened bubble completely.

Far rough work only the blank sheet al the end of the Question Booklet be used,

I'he Answer Sheet is designed for computer evaluation. Therefore, If you do not follow the instructions
given on the Answer Sheet, it may make evaluation by the computer difficull. Any resultant loss to the
candidate on the above account, i.c. not following the instructions completely, shall be of the
canditdate only,

After the test, hand over the Cuestion Booklet and the Answer Sheet to the Assistant Superintendent on
duty.

In no case the Answer Sheet, the Question Booklet, or its part or any maierial copied’ noted from: this
Bookiet i wr be tnken out of the examination hall, Any candidate found doing so would be expelled from
the exmmination.

- A candidate whe creates disturbance of any kind or changes his‘her seat or is found in possession of any

paper possibly of any assistance or found giving or receiving assistance or found using any other unfiir
medns  during  the  examination will be expelled from the examination by the Centre
superintendentObserver whose decision shall be final.

Telecommunication equipment such as pager, cellular phone, wircless, scanner, ete., is not permitted
ingitle the cxamination hall, Use of calealators s ool allowed,



f,

100

1074
Michel Foucault is the author of
A) Introduction to Poetics B) Writing and Difference
) Mywthologies D The History of Sexuality
Francis Fukuvama’s The End of History and the Last Man argues that:
A) I'he media tends 1o serve and further the agendas of the dominant, elite groups in the
society
H) Capitalist democracies are replete with poverty, class dilference and racial tension
C) In the future, the pramary axis of conflict will be along cultural and religious lines
) Liberal Democracy is the ultimate form of government

Frantz Fanon belonged to:

A) France B) Algena

) Martinique D) Ghana

Who among the following is not a Postcolonial Critic?

Al Ajjaz Ahmad B) Robert J. C. Young

3 Helen Tiffin D John Meleod

Alain Badiou belongs to which nationality?

A) Slovenia By France

) Tunisia D) United States of America
What form of verse does Dante's Inferno utilize?

Al Sonnet B Alexandrine
) Heroie couplet D) Terza rima “

Wheo, out of the following, is associated with the Tel Quel group?

A) Ciayatri Spivak B) Betty Friedan

C) Julia Knsteva D) Elaine Showalter

Who wrote The Name of the Rose?

A) Umberto Eco B) Jalal ad-Din Muhammad Rumi
) Joanne Greenberg 8} Jane Yolen

The term “psycholinguistics’ was coined by?

A)  Noam Chomsky B)  Norman Fairclough

C) Jacob Robert Kantor D) Ferdinand de Saussaure

Who among the following does not belong to the Progressive Writers Association?

A) Prem Chand By Faiz Ahmad Faiz
&) Sadat Hasan Manto iy ] Mamdeo Dhasal

==
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How weuld you account for the academic contribution of Richard Hoggart?

A) He laments the loss of close-knit communities and their replacement by the emer
manufactured mass culture,

B) He elaborates on the rights of women in 20th century Britain.

) He has wniten extensively on the impact of imperialism on third world culture

[} He has invented the concept of cultural materialism

Coleridge’s Romanticism was deeply influence by:

A) koant B) Hegel
C) Plato ) Marx

Which of the following became the most popular Romantic poetic form, following on
Wordsworth's claim that poetic inspiration is contained within the inner feelings of the
individual poet as “the spontaneous overflow of powerful feelings™?

A)  The lyric poem written in the first person
B)  The sonnet
C) The political tract

D) The ode

Whao said famously: *To define is to kill. To suggest is to create,”;

A} Stephane Mallarme B) Charles Baudelaire
C) Edgar Allan Poe By Paul Verlaine
White Myvthologies is a book by

A) Aijaz Ahmad B) Frantz Fanon

) Robert I. C. Young D) Aime Cesaire

Whom did Eribon describe as a “tortured adolescent’, who, after 1960, became a *radiant man
relaxed and cheerful’, rather like some kind of dandy:

Al Jacques Derrida B) Roland Barthes
C} Michel Foucault [B)] Terry Eagleton
Nawal El Saadawi hails from

A) Libya B) Jordan

C) Lebanon D) Egypt

*A Lover from Palestine’ is written by:

Al Mahmoud Darwish

B) Edward Said

) Khaled Hosseini

1) A theory which belicves that man is the centre of the universe

‘Under Western Eyes’ 15 an essay written by
A)  Chandra Talpade Mohanty B) Helene Cixous
Cy Luce Tragaray D) Mary E. John
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According t Arnistotle, the worst plot 1s;

A Eplsodic B) Double

C) Complex (5] Crrganic

Who, among the following, has articulated the theory of the *social imaginary™:
A)  Lentricchia B) Lacan

) Appadurai B} Ambedkar

The Postmodern Condition 1s a book by

A) Roman Jacobson B) Jean-Francois Lvotard

C) Jean Baudrillard (B) Frederie Jameson

Who directed that his gravestone should be “any colour, so long as it's grey.":
Al Samuel Becken B) Bertolt Brecht

C)  Federico Garcia Lorca 13y John Osbome

The correct way of citing references in a research paper would be:

A) Berger, John. Into Their Labowrs (London: Granta, 1992).
B) John Berger, lnto Their Labours (London: Granta, 1992).
) John Berger's Into Their Labouwrs (Granta: London, 1992),
83} Into Their Labaurs, by John Berger, London: Granta, 1992,

Hamish Hamilton is the name of a‘an:

A) author B) book
C) bookshop I))  publisher

Research students in India ordinarily use the following as a reference guide while writing a
thesis:

A) MHRA style sheet B) PMLA style sheet )
B The Chicago Manual of Style ) APA style sheet

Three dots (. . .} in an academic paper are called:

A) Periods B) Full stops

C) Full points ) Ellipses

While comparing epic and tragedy, Aristotle believes:

A) Epic is superior to tragedy B}  Tragedy is superior to epic

C) Both tragedy and epic are equal D)  Epic and tragedy have nothing in common
Which German Jew killed himself consuming morphine because he was not allowed to escape 1o
the United States during Nazi occupation of France?

A) Arthur Koestler B Theodor Adomo
C) Walter Benjamin ) Max Horkheimer
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‘A thought to Donne was an experience; it modified his sensibility,” Who said this?

A) William Empson B) T. 5. Eliot

Cy  Sigmund Freud D)  Helen Gardner
Who called Shakespeare the Mona Lisa of literature?

A John Ruskin B) Oscar Wilde
) W. B. Yeats 3} T. 8. Eliot

Who, among the following, have founded the school of Cultural Studies?
A) I. 5. Eliotand F. R, Leavis

B} 1. A. Richards and William Empson

) Richard Hoggan and Raymond Williams

D Jacques Derrida and Michel Foucault

Who is the author of Empire?
A) (Chalmers Johnson B) Joseph Stglhitz
C)  Michael Hardt and Antonio Negri D) Eric Hobsbawm

Who has written Capitalism: A Ghost Story?

A) Arundhati Roy B} Medha Patkar
C) Sanjaya Baru D)  Samir Amin
Barthes’ ‘Death of the Author® was written in:

A) 1965 B) 1968

C) 1969 8} 1958

Wheo has eritiqued Saussure’s Course in General Linguistics?

A) Foucault B) Barthes

C) Paul de Man ) Derrida

Who, out of the following people, is not a member of the Bloomsbury Group:
Al John Maynard Keynes B) Lytton Strachey
C) D. H. Lawrence ) Mulk Raj Anand
i the Sublime is wnitien by:

A) Milton B) Longinus

C) Horace b)) Plato

Eugene O"Neill's first play was:
A) The Hairy Ape B)  The fceman Cometh
C)  Long Day's Journey into Night 1) The Emperor Jones

Who is the author of Open Veins of Latin America

Al Eduardo Galeano B) I-!ugu Chavez
Cy Simon Bolivar D) Fidel Castro
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Which character in Faulkner's The Sound and the Fury is a born idiot?

Al Jason B) Caddy
C)y  Quentin D)  Bemjy

Sylvia Plath is known as a Confessional poet. Who else among the following belongs to the
same category?

A) Robert Browning B) John Berryman
C) Robert Lowell (B} Kamla Das

A. K. Ramanujan’s “Three Hundred Ramayvanas ' begins with the story of

A)  Indra’s seduction of Ahalya

B) Rama’s ring falling off into the netherworld
) Rama’s conversation with Viswamitra

D) The disappearance of Lakshmana

How do we refer to Amitav Ghosh’s trilogy of which Sea of Poppies is the first part?

A)  The Deptford Trilogy B) The Ibis Trilogy

C) The Nova Trilogy D)  The Century Trilogy
Who is the author of Maddaddam?

A) Carrie Synder B) Alice Munro

C) Yann Martel ) Margaret Atwood
Which of the following can find its way into an absurd novel?

A)  Hope B)  Abstract ideas

) Concrete detail ) Philosophical doctnine
Which Muslim feminist wrote The Trouble with Isiam Today?

A) Irshad Manji B)  Ayaan Hirsi Ali

G Reza Aslan Dy Tarig Ramadan

Can you indicate which of the following books is the odd one out?

A) Reading Lolita in Tehran B) Lipstick Jikad

) The Reluctamt Fundamentalist ) The Enchantress af Florence

Which of the following books has not faced censorship in India?

A} The Hindus: An Alternative History by Wendy Doniger
B) Three Hundred Ramayeans by A. K. Ramanujan

C) Shalimar the Clown by Salman Rushdie

D) Such a Long Journey by Rohinton Mistry

Which of the following is an ardent supporter of the globalization movement:

A Naomi Klein B) Thomas Friedman
L) Vandana Shiva ) Arundhati Roy
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Objective Type Paper

WEF stands for:

A, World Economic Forum

B. World Education Forum

C. World Environment Forum

D. World Ecological Forum

The three quantifiable indicators of Human Development Index are:
A. Health Education & Employment

B. Health Education & Communication

C. Health Wealth &Education

. Health, Family &Education

For the employment in mass media to be inclusive, which of the following is not
required:

A. Affirmative action

B. Progressive Environment

C. Empowerment

D. Stereotype

Transactional Analysis (TA) was developed by;

A, John Dewey

B. B.S. Bloom

C. Enc Berne

D. Abraham Maslow

What is the motto of UGCY

A. Gyan-Vigyan-Dimukiaye

B. Dimuktaye-Vigyan-Gyan

C. Vigyan-Gyan-Dimuktaye

D. All of the above

What were the objectives of imparting education during the British period?
A. Teaching the Vedas

B. Teaching Science and Literature

C. Teaching Moral Science

D. Teaching the 3R's

The concept of Emotional Intelligence is given by:
A. reter Ducker

B. Daniel Coleman

C. Einstein

D. Roussean
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B. How is “We Feeling” defined, ns a characteristic of a group?
A. Self-centeredness
B. Anonymity
C. Dependability
D. Alienation
9, Who was the Chairperson of the Kothari Commission?
A. AS. Kothari
B. C.5. Kothan
C. B.5. Kothari
D. D.S. Kothari
10. The RTI Act extends to the whole of India except in the State of:
A, Assam
B. Jammu &Kashmir
C. Arunachal Pradesh
D. Uttaranchal
11. “Education doesn’t bring about social change rather the social change results into an
educational change”, a Sociologist.
A. McDougal
B. Durkhiem
C. Aristotle
D. Dewey
12, By Community we mean a Group of people with:
A. Same caste, class, religion or profession
B. People with similar aim
C. Similar aim and atleast one factor as common among caste, class, religion,
profession or belief
). None of the above
13, Teaching how to respect elders and talk to them is an example of:
A. Social Cohesion
B. Social Change
C. Socialization
D. Social Adjustment
14. Which of the following is not a factor for social change in India?
A, Caste
1». Regionalism
C. Language

D, Census
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15. Children of some minority communities are unable to fully participate in Indian
educational institutions because:
A. Minority communities have not been spending on education of their children
B. There is exclusion process in educational institutions
C. Minority communities lack faith in Indian Education System
D. Indian Educational institutions do not have required infrastructure
16. If a researcher conducts a research on finding out which administrative style contributes
mare 1o institutional effectiveness, this will be an example of:
A. Basic Research
B. Action Research
C. Applied Research
D. Fundamental Research
17. De limitation of a problem means:
A. What of research
B. Why of research
C. How of research
D. Drawing a boundary around it.
8. The Case Study is the study of a:
Single group
Single individual
Single community or family
Single unit done intensively to bring out the processes and dynamics underlying
its problems and functioning
19. Which is the technique of investigation involving face to face conversation?
A. Questionnaire
B. Interview
C. Observation
D. Sociometry
20. What are the types of data according to nature?
A. Qualitative
B. Quantitative
C. Both of the above
D. None of the above
21. Which of the following is desirable in a questionnaire?
.. Emotionally toned questions
B. Too broad questions
C. Too many ideas in one question
D. Questions which will elicit valid and reliable answers.

Sowe
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22. Why is research in education important for teachers?
A. It adds to their academic qualifications
B. It makes them wiser
C. It makes them better teachers
D. Itenables them to make best possible judgements about what should be taught a
how.
23. If a population on which a study is based is such that all its units can be reached, it is
termed as:
A. Target population
B. Accessible population
C, Homogenecous population
D. Heterogeneous population
24, The title of the Report of Education Commission (1964-66) is:
A, Learning without Burden
B. An Enlightened And Humane Society
C. Education and the people of India
D. Education ad National Development
25, Intelligence Quotient is computed by which formula:
A. MA xCA,
100
B. CA xMA.
100
C. MA x 100
C.A.
D.C.A x 100
M.A.
26, Beginning with the *Family” which of the following constitutes correctly sequenced
hierarchy of social groups:
A, Nation-race-class-tribe-family
B. Family-class-race-tribe-nation
C. Family-tribe-race-class-nation
D. Family-race-class-tribe-nation
27. Reading readiness test does not measure the following function;
A. Visual Discrimination
B. Verbal Comprehension
. Number Computation
D. Letter Recognition
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28. Which of the following activities strictly come under the management of teaching-
learning activity?
A. Recruitment of Teachers
B. Preparation of time-table
C. Equipping the classrooms
D. Appointing attending staff
29, A democratic teacher is one who:
A. Understands the socio-economic background of his students
B. Is affectionate even to poorly performing students
. Tolerates non-relevant questions from the students
D. Tolerates even mischievous and aggressive behavior in students.
30. Which of the following is not categorized as a probability sampling method:
A, Simple random sampling
B. Quota Sampling
C. Stratified sampling
D. Systematic sampling
31. There are two types of definition of society. These are:
A. Structural and Interactional
B. Functional and Structural
C. Evolutionary and Diffusive
D. Structural and Evolutionary
32, Trait is:
A. Social trend at present
B. Social trend of the past
C. The smallest unit of culture
D. The smallest unit of personality
33, A cluster of related traits is called :
A. Culture norms
B, Culture complex
C. Cultural collectivity
D. Cultural uniformity
34, Interaction between members or groups with different culture is known as:
A. Touch of culture
B. Cultural diffusion
C. Culture contact
D. Acculturation
15. A f~rm of social interaction where-in two or more persons work together to gain a
common end is called:
A. Association
B. Cooperation
C. Group formation
D. Competition




36. A stable society is a pre-requisite for:
A. Bureaucracy
B. Culture
C. An integrated personality
D. Family
37, Lack of relationship with other culture is called:
A. Isolation
B. Insularity
C. Separation
D. Polarity
38 “Man is a social animal”, Who said this?
A. Aristotle
B. Freud
C. Maclver
D. Rousseau
39. In matrilocal families the bridegroom resides with the family of the wife. This system is
not prevalent in which of the following tribes:
A. Khasi
B. Khasa
C. Jayantia
I3, Garo
40, The Naga tribes of Assam are divided into:
A, Khels
B. Intiperu
C. Kul
D. Gotra
41. Which of the following ego states is characterized by rationality, logic and un-emotional
thinking?
A. Child Ego
B. Parent Ego
C. Adult Ego
D. Male Ego
42, Children coming from disturbed homes suffer from:
A. Toxic stress
B. Benign stress
C. Malignant stress
D. Emotional stress
43, Name the tool used by library through which any researcher can make request for
research material?
A. Scopus
B. Inflibnet
C. J-gate
D. Pro-Quest




44. The main objective of assessment is:
A. Evaluation
B. Identification of learning gaps
C. Appraisal on qualitative aspects only
D. Appraisal on quantitative aspects only
43. One of the major objectives of school guidance counseling should be:
A. Encourage behaviour change among students
B. Teaching guidance and counselling programs in schools
C. Utilizing cultural diversities for the benefit of all in the school
D. Encourage embracing diversities in students
46. One of the programs of United Nations is:
A. Economic Social Development
B. Education for Sustainable Development
. Economic and Sustainable development
D. Education for Social Development
47, Which one is the most important factor of human instincts?
A. Hard Work
B. Destiny
C. Attitude
D. All of the above
48, Inclusive Education aims at promoting;
A. Segregation
B. Isolation
C. Behaviour Modification
D. Education for All
49. Sociometry of classroom management includes:
A. Teacher-Learner relations
B. Leamer-Leamer Relations
C. Teacher-Teacher Relations
D. All of the above
30. At the national level, the role of reviewing educational development, determining the
ni']n?ges required to improve the system, and monitoring implementation of the school complex
is of the:
A. NCERT.
B. C.B:S.E.
C. CABE,
D. LG.N.OU

— LR
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How Sarnath is related with theShakyamuni the Buddha®

A)  Ashis birth place 13) As his place of awakening
() [T1s place of meditation 1)) Place where he delivered [irst sermon

What the word “Bodhi™ mceans:
A)  Awakening ) ("apability
(Y  Powerlul D) Scholarship
What is the thematic content ol the Buddhist Avadan hiterature related with?
AY  Traveloguc ol the Shakyamuns. 13} Birth stories of Shakyamuni’s carlicr hives.
() Teachings on moral valuces. 1)) [Discourses on religious matlers.
I'he Buddha Shakyamun: was horn 1n;
A)  Kashi. 13) Bodhgaya,
() Kapilvastu. 1)} Sarnath.
In the [irst Sangiti who had compiled Suttapitaka through recitation:;
A)  Ananda [3) Kashvapa
'y Upab [3) Saripulra
IHow the best the Four Noble Truth can be explained?

A)  Hs the Fowr Sights that motivated Siddharth to renounce palace.

13)  Itis also called Caturmaharajas in Buddhism.

"y itis about the suffcring. its cause, 1ts cessation and path leading to cessation.
1}y All the above.

Where did the Shakyvamuni allained Mahaparinirvana?

A)  Bodhgaya 2y Sarnath

("}  Kushinagar i) E.umbini

The Buddha 1s also known as;

A)  the Tathagata. 13) the Sugata.

() The Bhaishjayaguru. 1)) All the above.

The Literary holding ol the Theravada Buddhist tradition 1s known as;
A)  Agam Sulra 13) Palr]ipitak

(') Prajnapamitasulras. 1)) None above.

The kingAshoka ruted his kingdom from his capital ety named.

AY  Vaishah. - 13} Rajpriha.
"y Patliputra. 1)) Sakedt.
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(2)

What is the Law of Dependent Origination tn the Buddhist teachings:

AY The law of Causahity 1Y) The theory of Nothingness

'y The Middle way 1)) All the above.

Who amongst the ollowing is Not a Mahavanist Buddhist master?

AY  AcharyvaNagrjuna - 13) AcharyaAsanga

'y AcharyaBasubandhu 13) AcharyalBuddhaghosh

In which mahayana Buddhist text Nagarjuna claborated the concept of Shunyata 7
A) Mulamadhvamakakarika ) [L.ankavatarasura

3y Vimshatikakartka [D) Samdhimimochnasutra.

| low do vou understand “personality™ i Boddhist tradibon?

A As Happiness and Sorrow 13) As Merit and Dement
BY  As Matier and Mind D) As Wholesome and unwholeseme action

The Buddhist look at the phenomenal objects or the samsara ¥

A)  As impermanenl 13) Non-subsiantial
(1) Assuflering 13) Al the above.

Who is Not aone of the Chinesce travellerswho camce to visited Buddhist India?

A)  ltsing ) [‘ashiang ()  Xuanlsang 1) .1 Peng

I'he Tundamental principle of Madhyamika tradition can be explained 1o terms of;

A) Shunyata 1) ("tttamatra
() Tathagatagarbh ) Dharamkava.
Tao lead a moderate lile the Shakyamuni Buddha has preached ;

A) | .ong and tedious path 13) ightiold path
() Middle path 1) Both by and ¢)

™

T'he contemplative form Buddhism which 1s populann China 1s the;
Ay Chran Buddhism 3 Zen Buddhism
'y Tantrik Buddhism 1)) Non above
Who amongst the following is Not a great Buddhist master of Vijnanavada Buddhism?
Ay Basubandhu 13) Hgnag
() Nagarjuna [)) All the above
Who was the religious king responsible tor introduction of Buddbism in Fibet?

A) ThiRalpacan 3) Thothori
() ThiSrongdetsan BY SronglsanGampo.



(3)
a Hhe pre-Buddhist religion swhich was prevalent in Tibet was known as:
A Bonchos 13 [ hachos
(Y Mulees pa () Natggurichos
RS Lhe meanimgol the word 1T hasa™ the capital city ol the Tibet is hnown as™?
Ay Lamd ol Tamas ) [and ol devils
Cro Land of gods 1) Land of deads.
o Who serote "Ny Land and My People”
AV Tenan Gvaisho Fy HuonetCnatshae
Cy o Dorgvand hianley 1)) Chogyum bunepa
RS The holy lakeMansarovar and Mount Kailash is Tocated in
AV Nepal P Stk
v adakh 1)} 1113t
e Trbetan Buddhist Lierature is knoswn as:
AV Swra and Tandra ¥ Vinavia and Abhadharma
Cy o Topniaka 1)) heagur and Tenjur.
Vi The hiest monastie institution established o T her was:
A Samye 13) Norbooiinki, () Tokhang 1} Depuny
TN Who s the author ol the book = Buaddha and his Dbamma™ 2
A BabasahebAmbedlar 13) The Dalar Hana
- Padmasambhov | ) ILahul Sankrtayayan:
o4 W ho wrote the text called the Bhawanakvama (sgony rimmy
AT Kamalsina 13) Asineen
0 Vasubandhu 13) Vimadakit
A0 W hat 15 the Titerary meaning of the erm “mandala’,
A Getmnto the mddle 13) Schematic patiern of ideas
(1 Syvmbolic palace I3 Nan above
il Who was acarvaShantarakshia?

AY  Indian Boaddhist master swhowent Tibet.
B3y The author of Tattivasamerti,

O An acarva Drom Nadanda

D)y Al the above.




(4)

32 Tawang Buddhist religions complex is situated in the stateot
A Arunachal Pradesh [3) [ Iimachal Pradesh
{) Andhra Pradesh [3) Elttara Pradesh

-
"

The rehigious tradinon that prevails in the Tibet s also known as 7

A) Guhvamantrayana 13) Vajrayana

() Tantrayana D) Aill above
54, Which 1s Not one of the tour major Buddhist traditions ot 'Tibet”?

A) Sakya 13) Kagyud () Gelug [)) Milug
33, JetsunMhilarepa 1s also known as the ;

) A great Tibeltan yogt [3) Natienal pocet of Tibet

C}y  Diasciple of Marpal .otsaba [J) All the above
6. In which year the Dalai Lama first came 1o India?

A) 1962 13) 1956 () [ Q) 1)) 199]
37 Who was the person responsible for ercating Tibetan writing system?

AY  Tsonkhapa ) ThonmiSambhota

Yy Devavidya [} Tat Situ
38, Who was the last ruler ot the Tibetan Kingdom:

A) SronglsanGampo 13) Ralpacan

() Langdarma 1) Sadnaleg
39, I law many Buddhist shninesRinchenZangpo constructed in the West Tibet.'?

A) 1O 13) 109 ) 208 D) 200
410, 1The Tibetan Buddhist canonical texts are largely translated trom the language:

A) Bhot [3) Sanskit () Pah 13} Praknrt
41. What was the name of the Chinese princess who marriedSrongtsanGampo?

A) Wenchen 13} Bhrikut (") Xixia ™ Suwin
42, What do you understand by the term " Frisharana™ 7

A) Anitya, anatama and dukh. [3) [*ast, present and future,

() Buddha, Dharam and Sangha 1) None above.
3. Which torm ot Tibetan swriting seript is used in Tibetan Kanjur and Tenjur

A) [l-med 1) F.antsa (') Vartu [} Ll-can
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47

44

FJ‘

(3)

1he guardean detty of the Sanive monasiery 15 known as:

A YarthaShampo 3] I*char
Y Tsan 1)} (icgpo

Who had translated Dhammapada i Tibetan tanguage?

AL CiedunChopel 1%) (1. Rocerich

() Atishalnpamikara 1}) alar [Lama

Name the monk who killed the last king Tangdarma.

) GichaRabsal i3 1 sondui

() L halung PalgiBDorge 1) Legpaisherab

The hirst ruler of Tibet was:

A) FThonmiSambhota F4) Thisrongdetsan

(") Sronglsanianpo 1)) Nvathn 'sanpo
TheBuddhust text the Atisha wrote at the request roval monk Tor Fibetans is:
A) Bhavanakarama 13) Bodhpathapradipa

) Tattavasamgaraha 1)) Vimalalekha

1he Dalar Fama 1s the personification of the presidmg deity of Tibet called:

A) Manjushr 13} Manjughosha
(") Vajrapan 1) Avalokiteshwara

The Tibetan government m exile s located ot

A | Yharamsala B2y Shimla () Stddhabad 1))

Solan,
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Enter the Code No. of Question Booklet on the OMR answer Sheet, Darken the corresponding bubbies
with Black Ball Point/Black Gel Pen

Do not make any identification mark on the Answer Sheet or Question Booklet,

Please check that this' Question Booklet contains 50 questions, In case of any discrepancy, inform the
Assistant Superintendent within 10 minutes of the starl of test.

Esch question his four alternative answer (A, B, C, D} of which only one is correet. For cach question,
darken only one bubble (A or B or C or [3), whichever you think is the correct answer, on the Answer
Sheet with Black Ball Point/Black Gel Pen. There shall be no nepative marking for wrong answers,

If you do not want to answer a question, leave all the bubbles cormesponding to that question blank in the
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given on the Answer Sheet, it may make evaluation by the computer difficull. Any resultant loss to the
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Afier the test, hand over the Question Booklet and the Answer Sheet to the Assistant Superintendent on
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A candidate who creates disturbance of any kind or changes his/her seat or is found in possession of any
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means during  the exammation will be expelled from the examination by the Comre
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" Ph.D. Entrance Test - 2014
' Subject : Hindi
Paper-1
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Number on the Test Booklet and Answer Sheet,

Roll No. J’lﬁ Figure In Words
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INSTRLUC
f Write your roll Moo on the Question Booklet and also on the OMR Answer Sheet in the space provided
and nowhere clse.
Enter the Code No. of Question Booklet on the OMR answer Sheet. Darken the corresponding bubbles
with Black Ball Point/Black Gel Pen,
1. D¢ not make any identification mark on the Answer Sheet or Question Booklet, %
4. Please check thm thas Question Booklet contains 50 guestions. In case of any discrepancy, inform the
Assistant Superintendent within 10 manutes of the start of test.
‘ll 5. Esch guestion has four alternative answer (A, B, C, [3) of which only one is correct. For each question.
| darken only one bubble (A or B or O or D, whichever vou think i3 the correct answer, on the Answer
Sheet with Black Ball Point/Black Gel Pen. There shall be no negative marking for wrong answers,
B 1F you do not want o answer a guestion, leave all the bubbles corresponding fo that question blank in the

Answer Sheet. No marks will be deducted in such cases.

i. Durken the bubbles in the OMR Answer Sheet according to the Serial No. of the questions given in the

Cruestion Booklel

. If you want to change an already marked answer, erase the shade in the darkened bubble completely.

8 Forrough work only the Blank sheet at the end of the Question Booklet be used.

I The Answer Sheet is designed Tor computer evaluation. Thesefore, if yvou do not follow the instrections
given on the Answer Sheet, it may make evaluation by the computer ditfficult. Any resultant loss (o the
candidate on the above account, ic. nol following the insiructions completely, shall be of the
candidate ouly,

L. Adter the test, hand over the Question Booklet and the Answer Sheet o the Assistant Superinfendent on
duty,

12, In no case the Answer Sheer, the Question Booklet, or its part or any material copied! noted from this
Bookbet i 1o be 1aken out of the examination hall. Any candidate found doing so would be expelled from
the examination,

13, A candidate who creates disiurbance of any kind or changes histher seat or is found in possession of any
naper possibly of any assistance or found giving or receiving assistance or found using any other unfair
means during the examination will be expelled from the examination by the Cenlre

\ Supetintendent'Observer whose decision shall be linal,
+ 14 Telecommunication equipment such as pager, cellular phone, wireless, scanner, elc., is not permitted
imside ihe examination hall. Use of calculators is not allowed,
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Ph.D. Entrance Test - 2014

Subject : French
Paper-1

Important: Please consult your Admit Card/Roll No. slip before filling vour Roll

Number on the Test Booklet and Answer Sheet.

Rell No. In Figure fn Words

().M.R. Answer Sheet Serial No, | | |

LI LT T

Senaiure of the Candidare

Time: 6) minutes Number of Questions: 50 Maximum Marks : 50
INSTRUCTIONS
I Wnte your rell Ne. on the Question Booklet and also on the OMR Answer Sheet in the space provided

i,

13,

14,

and nowvhere else,

Enter the Code No. of Question Booklet on the OME answer Sheet. Darken the corresponding bubhies
with Black Ball Point/Black Gel Pen.

[0 not miske any identification mark on the A newer Sheet or Question Booklet,

PMlease check that this Question Booklet containg 50 questions, In case of any discrepancy, inform the
Aczsistant Superntendent within 10 minutes of the stan of tesi.

Lzach question has four altemative answer (A, 1, C, D) of which only one is correct, For each question,
darken only one bisbble (A or B or C or 19, whichever vou think is the comrect answer, on the Answer
Sheet with Black Ball Peint/Black Gel Pen. There shall by no negative marking for wrong answers,

I yoa doo medl waant to answer a question, leave all the bubbles corresponding 1o that question blank in the
Answer Sheet. Mo marks will be deducted in such cases,

Darken the bubbles in the OMR Answer Sheel dccording 1o the Serial No. of the questions given in the
Craestion Booklet.

If you want to change an already marked answer, ersse the shade in the darkened bubble completely

For rough work only the biank sheet at the end of the Question BookEet be used,

The Answer Sheet is designed for computer evaluation. Theeefore, 1 vor doe not followy the instructions
given on the Answer Sheel, it may make evaluation by the computer diffioult. Any resultant loss to the
candidate on the above aceount, Le, not following the instructions completely, shall be of the
candidate only,

After the test, hand over the Question Booklet and the Answer Sheet to the Assistant Superintendent on
sty

In no case the Answer Sheel, the Question Booklet, or its part or any material copied! noted from this
Hooklet is to be taken out of the examination hall. Any candidate fourd doing 5o would be expelled from
the examination

A candidate who creates disturbance ol any kind or changes histher seat or is found in possession of any
puper possibly of any assistance or found giving or reeeiving assistance or found using any other unfair
means  during  the  examination  will be  expelled  from  the  examination by the Centre
Superinfendent/Observer whose decision shall be final

Teleeommunication equipanent such as pager, cellular phone, wireless, seanner, €ic., is not permitted
inside the examination hall. Use of ealeulators is oot allowed,
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1, De | 'amour, essai psychologique, est publié en 1822 par :

A. Sainte-Beuve B, George Sand
C. Benjamin Constant D. Stendhal
2. « On ne nait pas femme : on le devient ». C'est une formulation canonique de
A, Julia Kristeva B. Simone de Beauvoir
C. Gabrielle Roy D. Antonine Maillet
3. L' Académie frangaise est fondée en 1635 par
A. Le cardinal de Richelieu B. Mazarin
C. Valentin Conrart ). Anne d’Autriche
4, Le sonnet est composé successivement de :
A, deux quatrains et deux tercets B. deux tercets et deux guatrains
C. trois quatrains et un distique C. un distique et trois quatrains
5. Ecrit en 1760, La Religieuse est un roman de :
A, Robert Challe B. Choderlos de Laclos
C. L'abbé Prévost ). Diderot
6. L"histoire littéraire range sous le nom de « thétoriqueurs » un certain nombre de poétes du :
AL XTIV siécle B. XV*siécle
C. XVT siécle D, XVII® siécle
7. L'Unanimisme est une doctrine litléraire créée par :
AL Jules Romains B. Georges Duhamel
C. Teilhard de Chardin D). André Suarés
8. Amandine Lucic Aurore Dupin est le vrai nom de :
A. Frangoise Sagan B. Mme Juliette Récamier
C. Marguerite Duras D). George Sand

9. D edté de chez Swann est le premier volume :
A, de 'cuvre A la recherche du temps perdu B. de La Comédie humaine

C. ducycle des Rougon-Macguart . de la série des Thibault
i0. Le terme behaviorism apparait pour la premiére fois dans un texte de :

A. John Broadus Watson B, Charles Bally

C. Antoine Meillet D. Emile Benveniste

11. La prosodie, ¢'est I"étude
A. de I'accent et de la durée des phonémes
B. du langage considéré du point de vue du sens
C. de la vie des signes au sein de la vie sociale
1. de I"arbitraire du signe
12. La théorie de la double articulation du langage a &t¢ mise en avant par :
B. Georges Mounin B. Alberl Sechehaye
. Roman Jakobson 1. André Martinet



13, Qui a annonced le fameux principe : « dans la langue, il n'y a que des différences » 7

A. Maurice Grammont B. Maurice Leroy
C. Bertil Malmberg D, Ferdinand de Saussure
14, La notion de compétence linguistique comme une virtualité a ét¢ introduite par :
A, Francis Debyser B. Louis Porcher
C. Edward Sapir D. Noam Chomsky
15. Repartons s¢ compose de;
A. 2 monémes B. 3 monémes
C. 4 monémes ¥ 5 monémes
16. Un roman émstolier est ;
A. un roman feuvilleton B. Un roman portant sur des *

éléments religicux

C. Un roman composé de comespondances par lettres entre les personnages
I3, un roman inspiré d’une

biographie
17. Un alexandrin eat un vers de
A, 6 syllabes B. B syllabes
C. 10 syllabes [, 12 syllabes
18, Laguelle de ces piéces n’a pas été écrite par Jean Racine ?
A, Les Plaideurs B. Phédre
C. Andromague . Micoméde
19, Qui a créé le personnage de Panurge 7
A, Guillaume Budé B. Frangois Rabelais
C. Honoré d*Urfé [, Marguerite de Navarre
20. Les jardins du palais de Versailles sont le chef-d’ccuvre de :
A. André Le Nbtre B, Le Vau
C. Le Brun D). Hardowin-Mansart

21. L allitération est la répétition :
A. d'une ou de plusieurs consonnes dans une suite de mots rapprochés
B. d’une méme voyelle dans un groupe de mots
C. de termes superflus
D. d’une méme expression ou d'un méme mot
22« Je veux étre Chateaubriand ou rien », écrivait en 1816 :

A. Lamartine B. Hugo

C, Vigny D. Théophile Gautier
23. Le premier chef-d"euvre de Stendhal, ¢'est

A. Armance B. Lamiel

C. Le Rouge et le Noir D. Lucien Lenwen



24, Le Naturalisme est défini par ;

A. Daudet B. Paul Alexis
C. Henri Céard I, Zola
25, Qui est I'auteur de la célébre trilogie Marius-Fanny-César 7
| A, Paul Claudel B. Jean Cocteau
' C. Marcel Pagnol 1. Jean Giraudoux
ﬁ Symtactic Structures (1957), traduit en frangais sous le titre Structures syntaxiques, Scuil,
1969, est un ouvrage de :
A, N. Ruwet B. 1. Dubois
C. M. Gross 2. Noam Chomsky
27. Combien y a-t-il de consonnes sourdes en frangais 7
A3 B. 4
C.5 I 6
28, Dans combien de parties du discours peuvent se ranger les mots de frangais 7
A6 B.7
C. 8 D.9
29, & Car le mot, gu’on le sache, est un étre vivant », chantait en 1855 :
A. Emest Renan B. Sully Prudhomme
C. Hippolyte Taine D, Victor Hugo
30, Lit Princesse de Cléves est un roman de ;
A, Antoine Furetiére B. Madeleine de Scudéry
C. Mme de La Fayette . Paul Scarron
1. L'Art poétique (1674) nous présente le corps méme de la doctrine de :
A Saint-Amant B. Frangois de Malherbe
C. Théophile de Viau ). Nicolas Boileau
32, « Quand vous serez bien vieille, au soir, 4 la chandelle... », est I'incipit d un sonnet de ;
A. Du Bellay B. Pontus de Tyard
C, Etienne Jodelle 1. Pierre de Ronsard
33, Défense et Mustration de la langue frangaise (1549) est une ceuvre signde par ;
A. Joachim du Bellay B. Sebillet
C, Ronsard D. La Péruse
M, Le premier roman de Sartre, ¢'est :
A La Nausée B, Les Chemins de la liberté
 C.L'treetle Néant D. Le Mur
35, L'auteur du roman-dossier intitulé : Les Jeunes Filles, ¢’est :
A. Henry de Montherlant B. Frangois Mauriac
C, Jean Dutourd D. Michel Déon



36. Le Bateau ivre est un célébre poéme de :

A, Rimbaud B. Verlaine

C. Saint-John Perse D). Baudelaire
37. Le Discours de la Méthode, qui est la premiére grande ceuvre philosophigue et scientifique en
frangais, est publié par :

A. Descarles B. Pascal
C. Saint-Simon D. La Bruyére
38. « I'homme est né libre et partout il est dans les fers », a dit :
A, Malesherbes B. Roussesu
C. D' Alembert D. Sedaine
39. Le Soulier de satin ou Le pire n'est pas toujours sitr est 'ocuvre capitale de :
A, lonesco B. Claudel
C. Anlonin Artaud D. Armand Salacrou
40. Le chef d’une école, le Nouveau Roman, c’est :
A, Robbe-Grillet B. Marguerite Duras
C. Claude Ollier D). Nathalie Sarraute
41. Le Mont-Saint-Michel se trouve :
A, Au Pays de la Loire B. En Normandie
C. En lle-de-France [3. En Bretagne
42. Les paroles de la Marseillaise furent composées par :
A. Rouget de Lisle B. André Chénier
C. Jacques Delille D. Ecouchard-Lebrun
43, Qui a fondé I’ Académie Goncourt 7
A. Léon Daudet B. Edmond de Goneourl
C. Jules de Goncourt D. Octave Mirebeau
44. Le terme de francophonie apparut pour la premiére fois en :
A. 1880 3. 20040
C. 2005 D. 2010
45, Parmi ces quatre éerivains, lequel fut président de la république du Sénégal (1960-1980) 7
A. Léopold Sédar Senghor B. Tahar Ben Jelloun
C, Aimé Césaire 3. Milan Kundera
46, Combien y a-1-il de phonémes vocaliques en frangais 7
A5 B.6
C.16 D. 17
47, Le tombeau de Napoléon Bonaparte se trouve :
A, aux Invalides B. au Panthéon
C. an Louvre D. 4 la Conciergerie



48. Dans la phrase « La soupe se mange chaude », le verbe pronominal a I"aspect :

A. habituel B. inchoatif

C. terminatif D. ponctuel
49, « Ne rien mettre dans cette case » s¢ traduit ;

A. Don’t put anything in this case B. Put nothing in this box

C. You are not to put anything in this box [}, This space is for official use only.
50, Le Thédtre de 1'Opéra, sitge de " Académie nationale de musique et de danse, fut éleve par :

A. Charles Gamier B. Paul Baudry

B. Marc Chagall D. Alfred Aberdam
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Question Booklet Series : A  Question Booklet Sr. No. 030016

Ph.D. Entrance Test - 2014
Subject : Urdu
Paper-1

Important: Please consult vour Admit Card/ Roll No. slip before filling vour Roll
Number on the Test Bookler and Answer Sheet

Rall No In Figure fn Weords

O MR, Answer Sheet Serial No. L

Stgattnee of the Candidate

Time: 60 minutes Number of Questions: 500 Maximum Marks : 50

INSTRUCTIONS

I Write your moll Mo, on the Question Booklet and also on the OMR Answer Sheet in the space piovided
mnd mowhere else
Erter the Code Mo, of Question Bookler on the OME answer Sheet, Darken the corresponding bubkles
with Hlack Ball Point/Black el Pen,

I D not make miy identi Mieation mark on 1he Answer Shect or Ouestion Bookiel

| Please check thar this Question Booklel contains 50 guestions. In case of any discrepancy, inform the
Assistant Superintendent within 10 mimes of the start of west.

5. Each question has Tour altemsative answer (A, B, C, 19 of which only one is correet. For each question,
darken only one bubble (A or B or C or 1), whichever you think is the correct answer, on the Atnswer
Shevt with Blieck Ball PointBlack Gel Pen. There shigll be oo nepative marking Tor wrong answers,

i 1 o db ool wanl to answer o gquestion, feave all the bubbles corresponding 1o thay question blank in the
At Sleet Noomarks will be dedwcted in such cases
Darken the bubbles in the OMR Answer Sheet necording to the Serial No. ol the guestions given in the
Chestion Booklet

H I o wand 1o change an already marked answer, erase the shade in the darkened bubble completely

4 Formough work only the hlank sheet a1 the end of the Question Booklet be used

M1, The Arswer Sheet is designed for computer evaluation. Therefore, if you do not Tollow the instructions
given on the Answer Sheel, it may make evalustion by the computer difficull. Any resaltant loss 1o the
candidale on the above aeeount, e, pol Tellowing the stractions completely, shall be of the
candicdale only,

{1, After the test, hand over the Ouession Bookler and ihe Answer Sheet (o the Assistant Supenmiendent on

Aty

I ho cuse the Answer Sheet, the Ouestion Booklel, or by part or any material copied/ noled from this

Booklet i 10 be taken out of the exaninntion hall. Any candidate found domg so would be expelled from

the exmination,

11, A candidate who creates disturbance of uny kind or changes hisfher seat or is found in possession of any
paper possibly of any assistance or found giving or receiving assistance or found using any other I_JI1|i'-ir
meats  dering e examination  will be  expelled  from the  examination by the  Centre
Superintendent/Observer whose decision shall be Hmal

14 Telecommunication equipment such as pager, cellular phone, wircless, scannet, ele., i pol pernnitied
inside the examination hall. Use of caleulators is not alliwed.
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Question Booklet Series : A Question Booklet Sr. No. 032005

Ph.D. Entrance Test - 2014
Subject : Russian
Paper-1
Important: Please consalt vour Adinit Card/Roll No. slip hefore filling yvour Roll
Number on the Test Booklet and Answer Sheet,

Roll No. In Figure fir Weareds
EEEEN
().M.R. Answer Sheet Serial No. [TT] ]
Stemature of the Caondidare
Time: 60 minutes Number of Questions: 50 Maximum Marks : 50 1
INSTRUCTIONS

1. Write your roll Nea. on the Question Booklet and also on the OMR Answer Sheet in the space provided

amdd nowhere else

Friter the Code No. of Question Booklet on the OME answer Sheet. Darken the corresponding bubhbes

with Black Ball Poini/Milack Cel Pen

10 Dot make any ientification mark on the Answer Sheet or Question Book|al

[ PMlease check that this Question Booklet containg 50 guestions. [ case of any discrepancy. nform e
Assistant Superintendent within 10 minutes of the stort ol 1es)

% Fach guestion has four allermative answer (A, B, U, 1) of which only one is corecl. For each question,
darken anly one bubble (A or B or C or 13y, whichever you think is the eorrect answer. on the Answer
Sheet with Black Ball Poimt/Biack el e, There shall be no negative macking (or wrong answers.

i 1T your do nol want 1o answer a question, leave all the bubbles corresponding to thit question blank i the
Answer Sheet, Noomarks will be dedusted insuch cases
Darkens the bubbles in the OMR Answer Sheet seeordiing 1o the Serial No. of the questions given in the
Clopesliog Flooklel

% If yvou want to change an alrendy marked answer, erase the shude in the darkened bubble complesely

B, For rough work only the hlank sheet at the end of the Question Booklet be used

) The Answer Sheet is designed for computer evaluation. Therefore, i you do not follow the instruciions.
given on the Answer Sheet, it may make evaluation by the computer difficull. Any resuliant loss to the
candidate on the above aceount, ie. not following the instructions completely, shall be of the
cumilidaty only,

1. After the test, hand over (he Question Booklel and the Answer Sheet 1o the Assistant Superintendent on
duty.

12, In no case the Answer Sheel, the Question Booklet, or its part or any materfal copied! nted from s
Booklet is 1o be taken out of the examination hall, Any candidate found doing so would be expelied from
the examinstion

13 A candidate who creates disturbance of any kind or changes hisMher seat or is found in pessession of my
paper possitly of any assistance o found giving or receiving assistance of lipomndd wesitng any other uniair
means: during  the  examination  will be  expelled fiom  the  examination by the  Cenire
Superintendent!Observer whose decision shall be linal

41 Telecommunication equipment such as pager, ecllular phone, wireless, scanner, e, 15 nol permitied
inside the cxamination hall, Use of calenlators is not alliwed.
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. Ormerste, KAKYIO 03 CASIVIMIHE CTPYETYD Tinik wayvvaer donernka;
A\ cnoReoBpPIORATETLHYIO CTPYETYRY CHoB 3 crp':-prnrm' clinna

C\ cTpyRTYPY Npeanoxensg DV seyrosyio obonouky caosa

2. Yro taxoe cnor?

Al CoueTanne rimacHora ¢ Cormacimm B Coveranne raaciors ¢
TEPEILIOTOM

O Coseranne racion ¢ racibim I Coveranie raacnor ¢
sopihemod

3, Hero He OTHOCHTEH K HHToHatun?

Al navisl B\ nonsimenne oCHoBHOTD THHL
reea
L' NOHHKCHHE OCHOBHOMD TOHA TOI0Ca X cornachnie IAVKH

4. Onrmertere, Kakoil 13 CAEAYIOLENN OPUEHOR PEYH SIS TCH DR TR LIN G TIOn. T
nporaiomenun cornacamx [kl [r). |x):
Al Samng qacTh NILK B nepesiiee uéHo
Ch mvscnan ryba M pepxuas ryha

5. OrmernTe, B KAKOM W3 CIEIYIONNX CNOB BOE COMMACHKE TPONIHOCHTCR TREPD:
A\ BETE B rpsah
Chomnp D Gaaer

6. CnoBa, KOTOPLIE CORMAIAIOT MO VYA, HO IMEIT PATHLIE SHATCHIE 1 THIYTCH 10-

B aprosnmas,

T3 Her e Hix.




10,

12,

13

OsernTe, KaKodi Wi Cneivionny onpeseseiinil aHTOHnAMOR ABINETCE NPOARKABHEIME
Al 9T0 CHORI © HECKOIKKHME THAYEHHAMN

B 3o cliopd © NPOTHRGIOCADHHBIMH 1HA4CHIEMN

O 3710 CA0RE, HO-Painosy IEYHae, Ho OJITHAKOBME I OH2HL DuImsKHe 10 JHYeHHE

D “¥ro coia, OIHAKORO IRYONUE, V0 IHKIK 0 CRAlannke Meway coDoll no cMEiciy
CRONBKO IBYKOB B CAOBL HLAKL
AL 3 35

4 6

OTMETETE, KAKOE W3 CHSHYIMIHE CYIMCCTEHTCARHBIE He CRINHACTCH;

Al meTpo B\ mucemo

M oxuo 13 kpecnn

CEOHMAHHE — 3T0. ... ;

A\ npRcTasky B kopetn

CY M eaes ag ieTh Chos I penamensesan YacTh clion

Hecopepueranil il rumofnn Moke? oboaiasi.
Al HermTenLHLE  OIHORPATHLIE 1efcTRHY I3 pesvarraTnpiLe fefernis

O saxkondeHnbe deficTrBug I3 nosTopReMocTs AedcTens

IIpiuacTie HMeeT XapukTepHCTHEY
Al UMEN CYIUSCTRINTELMLIX B\ wsés nprnarareisibx.

Ch vapewnn I3 mecTonMenns

OrrsieThTe, K KAKOMY THIY OBCTONTENLETREH X Hapeunil oTHOCHTEN Hapedle wiar
A\ K HAPSHAM TTPHMETLI ; B k napeunaM MecTa

O & mapetHamM npeseit D Kk napevuss Lean



14, Cnoso abyiwnoeps spasercn
A\ cTapociaRIHRIMOM I3\ meToprIvom

' apxanamom ¥ HEn IO aMon

[5. TToanewaniee i crasyemoe:
AL FTO ITIRBHRE WIEHE! IPELIKReH B w10 sropocTeneniLe wienl
NMPCLHEHH R

Ch 270 YacTh pesn DV oo npernor

16, Chnosa, KOTOPLIE THILYTCH OANHAKOBO, HO SEYYAT HO-PDAIHOMY H HMEIOT paiiLie
THAVCHHA HAZBIBAIOTCH. ..o,
Al omorpadamm B osodhopasantin

O omodionami I crmommsasm,

17, OrMeTsTe, Ha OCHOBE KAKOTO DPHIHAKD BPOHCXONT NEPEHOC THANSNNA B CONSTANHN:

i CPLLT0 caMontar

Al exocTRa NPEIMETON 10 KAUCCTRY Bl exoicrea npeiMeron no
KAPARTEPY JABHECHHA
C\ cXONCTEA MPEAMETOR N0 LRCTY 2 exojicTaa npeAMeToR no opse

18. Kakoe 13 cieay ouims cyiiec B TelLi WY AnaaeTed cobnpareikim?
Al weiopedecTRo B3 xnehi

O\ mansung I kpacoTa

19. Hp:ﬂnml:emiﬂ, HMEIDICE B CHOEM COUTapg [JRe 1T HECKONLKS TPCIEEATHRIILN

SMHHLL, OOPAIVIOMNK CMEICADROE CTPYIRTYPHOE H HETOHAHOHHOE CANHCTH,

HIEIBAETCA. . ...
Al CHORHEIM B npocThiM
O\ BOCKNAIATETEHBIM EF sy COCTRRH WM




20.

21,

CoenHnnTe NPeAnoRenns 13 CroninKka A 1w nx Ttk w3 cronbnka b

A [
1. Foerie yumnm, M OCTiiich Biopes. n. BonpocutensHBCe
2. T MaKOHM CTATRECT b. loBecTooRaTE L BE
3. [Moiadmere K peke; TaMm XOpono. ¢. Bockamuarensunie
4. 0, ecnu Gil 8 MOTAR YEHY T, d. Mobyanre/ibRLE

AN T=c; 2-d, 3-a, 4-b

B\ 1-d, 2-r, 3-b, 4-0
O\ 1=h, 2-n, 3-d, d-¢
D6 1-d, 2-b, 3-a, 4-¢

Kokas sacts pesun MomeT 0503auaTs nprinag aeiicrans 7
AL HMA CYIMECTRHTEILHOE B i npHAsraTeaLHoe

C M MHCARTEILHDE I3\ napeune

. Hero we OTHOCHTCS K WHHHT CHLHOMY HAOCEY

A\ BHHHTENBHB naneH oboaniinet npasmol ohhekr
B srunTensaeil maaes oDosiEaeT spems
O gimrrensasiil nages ofoTHaaeT Ao, KoTopsil NponsseanT Aefcrane

[ pHHwTEnbHEE [HUeH ODOSHIBET PICCTORHRE

. Kaxan ety el MOHET OO0 AYATE TRILE N FT Y AciicTams 7

AL M CYIISCTRITTERHOE I3 mnist npraraTeEaBHOE

O sl THCTHTEN B HOE DY wapeune



24, Paaron ¢Murmhesy OTHOCHTES K BOABPATHOMY Tareny ¢ cobeTReHHO-BOTRPATHLIM
THAYSHHCM, MOTOMY 4TO!
Al YRAJRIBAET HA BHYTPCHHES COCTONMIE CYDBUKTL
B\ nasssact takoe ACACTENE, NPORIBOINTENLL KOTOPONO KRIECTCA OUHOEPCMEHTD 1

DOBRCKTOM NelCTOHA.

C pfoznavaet Takoe IEHETERE, KOTOPOE NOCTORNHG caollcrrento cyDLeKTY,

I yRassisaeT pa AeficTeie, KOTOPOE COBEPIIALTEN HEKOTOPRMA AcHCTBYIOnHMI

JILANH,
25, Yero He BXOANT B REKOIHHO- PYCCKYIO JCKCITRY
A\ npgoesponeiickie ciosai B3 obulechnpanesie caosa

Ch cofcTBento pyccKami DY 3RAMCTROBAHHGIE CHOR

26. llpocTopeune - 1o

A\ KOIHPOBAHHAR PEMb By nwreparypuniil 43s1K
O ocoDEHROCTH ATRIKA SOSIEH D' TeppHTOPHATLESG OIPaHHIEHIEIE
roROpIL

27. Cnona & B:l:':l‘[l’:l-phie TII'.IH LILSTEY B J!,:EHHI:IH AZLIE HY OPYTHERN A3RK0R HELIBICTCR. ..
Al HHOAIBIMHEIMK B unaoesponciicknmi

O coBeTnedio pyccKnMi Db verapenmnmp

28, OrrmerhTe B Kakodl rpynme SI6iKOB NPHHALIEHRIT PYCCRH LILE:

AL BOCTOYHOCIARHHCKEHE RABIKK B aananHocaapa e ki 1K

O B HOCTABEHCKNE HThIKI D yrpo-huncine

29, Ko samcan cruxorsopenne  lapye ™,
AL M. JlepmonTon Bl AL Thyuikun

' H. Hexpacos D\ H. Kapasann




0, O kaxoii sofine ropoprrca n posane Toacrore «Bolina o sups
Al O rpasaaHCKO BofHe i3\ ¢ leproii MmupoROll ROHHE

C\ o Boiine 1812 DY o Bropoi supoBoil Boline
31, Pasnne pacckatsl Nopeyoro OTHOCTICH K HaimpuRienin:
AL Peanissin B\ ConiHeriNeckoro PeainimMa

0 PosaiiTHIMA 2 CapramenTanyimi

12, Kaxoe 1 cXeIyIonuy THIEpTypHEY Hanpanneunil He oTHOCHTC K Havany 20-0r0

neKa
AL A EMEHIN 0 Blanss s
Ch Dryrypanas DY Peamuam

Vi, e Xomrenie 33 Tpu Mopse AL Hikrrnan omuocHten ¥ pycekoll nnteparype
AN 15000 Heka BT oro ek
O 1 Boro pexa I 19aro seka

34, Moyt “Pocens™ bnoka supasaet obpas
Al ABrnum B Mepaanini

L Pocenn ¥ hpanumn

wad
Lh

. 3a kaxoc nponssegenne MoA Hlonoxos viaocroen Mexnyaapoanoil pobencsof
npesun '’
Al Jlonckne paceKashbl 3% TlomuaTyio ueammny

L Cvanba uenoneKd [ Toxmdt Do

16, Kokoe ocofioe anreparypioe nanpapiesine GopMapoBaics B nepahe Jecarieria XIX
peka n Poccun?
Al Pomanmiam B\ CeHTHMeHTATHIM,

Y CHMEOI M [ Knaccuimzs




37, Craxornopense «CMepTs noatas G0 HAMRCANG KK OTIHE Ha TPArENHECKyi,

HPEARACRPEMERHYIO FIbeIk:
AL Ecespnmi B AL Bhowxa
CyALC, Tlyvmkuna ¥ AL e

38, O xom rosopaT cnepyoume caosa crapyxa Hacprme B pacerase oCrapyxa Hagpabs
M. TNopskore — «On pasopean cebe rpyins wBspran 13 Bed cood cepiine 0 BLICOKD
NOMHAN €10 HAL FOM0BON,, 07
Al o Jlappe B o Jlodko Jobape
Cho Jlanko o Havuno

39, Konnurt Moy AuyMs NOR0JISHIAMI HI00PaRIcTes B posane:
Al OGiomos By Ot 1 geti

O [pecTynnense 0 gakazanie % Anna Kpenitna

40, [TepssiM pyCccriM MHCATENEM NONYHHRIIHM ROBEICKYIOo npeaiio Gu;
ALM. onoxos By AL Comkenmamm
Ch M. Bynunn D\ B. Tlecrephax

41. Kro ociosan ropon «Canxr [TerepBypra?
Al Mlsan 1'poasii B B Jlenun
C\ [Né1p neponii ¥ M. B Nosonacon

42, IMoama «Cnoso o nogky Hropeses Duiia coaiasi;
Alp IBI12T Bin 10451
Cial92lr D 1186 T

43, Npowssenesne «Pesusopn H, l'orons - ro:

Al gomeaus B rparems

O noosa LY posni B CTHXAX




44, Knxomy pyceromy mucaresnsio Maxarsa Uanim macai nuckma 7
AL Anron Hexon B\ Maxcum lopeimil

4 Jles Tonetod D BB, Moasxosckuri

45, aldpMHTLHGd HENOGIHTCA B
A\ Muncke B\ [erepbypre

Oy Knene D Mockae

46, Koraa npomionmgs *Benssan Oxvabpueran Comimernueckan Pesomionm’ i
Pacewn ?
A\ 1916 By 1917
Chy 1918 D% 1819

47, PoccHs npuHAng XPACTHRIICTHO
Ave 11081 B\ni8sr
Cuon 888 ¢ w1018 ¢

48, Teérp Hepasit Gui
AN Knaned Bl TMosetgonm

O Kyniirom I Lapeh

49, Crrommieil ApeRHEpyoCKOrD rocyIapcTed DRIa
Al Mocksa B\ Knes

O\ Cankr Tlerepbypr D M

56, KoMy nocsmneno cruxorsopenne “K. Hyikwna 7

AVAILKepn B\ H. 0. lNanundany

O Apnia Popsonosne D\ H.H.INowuapose

= phoew




